INDIAN ECONOMY

1.

4.

5.

=¥ Nature of Indian Economy

The term ‘mixed economy’ denoted :

(a) existence of both rural and urban sectors

k) existence of both private and public sectors

(c) existence of both heavy and small industries

(d) existence of both developed and underdeveloped
sectors [5SC Tax Assit. 2008; S5C Tax Assit. 2009]

In an economy, the sectors are classified into public and

private on the basis of :

(a) employment condition

(b) nature of economic activities

ey~ ownership of enterprises

(d) use of raw materials

The ‘Dual Economy’ is a mixture of :
L)

[S5C DEO 2009, CDS 2014]

traditional agriculture sector and modern industrial
sector )
(b) industrial sector and manufacturing sector
(c) state ownership of the means of production in
corporation of foreign organisation
(d) industrial sector and trading of goods obtained
through imports
(e) none of these INABARD Bank Officer 2010]
Which sector of Indian Economy has shown remarkable
«expansion during the last decade ?
(a) Primary Sector (b) Secondary Sector
Aey Tertiary Sector (d) Mining Sector
[45th BFSC 2002]

When development in economy takes place, the share of
Lertiary sector in National Income :
(a) first falls and the rises (b) first rises and then falls

L&y keeps on increasing (d) remains constant
[47th BPSC 2005]

6. It will be true tg classify India as :

2

(a) A food-deficit economy

(c) A trade-surplus economy

(d) A capital-surplus economy  [48th-52nd BPSC 2008]

7. Mixed economy means :

(a) Where agriculture and industry are given equal
importance
by Where public sector exists alongwith the private
sector in national economy
(c¢) Where globalization is transferred with heavy dose
of Swadeshi in national economy
(d) Where the Centre and the States are equal partners
in economic planning and development
[UP PCS 2003; UP PCS (Main) 2007]
8. The Indian Economy is characterised by :

1. Pre-dominance of Agriculture

2. Pre-dominance of Industry

3. Low Per Capita Income

_4. Massive Unemployment
Select your answer from the code given below :
Codes :
(a) 1and 2 only
(c) 2,3 and 4 only

(b) 1,2 and 3 only
Ad) 1,3 and 4 only
[UP PCS Special (Pre) 2004]

9. In India, planned economy is based on :
(a) Gandhian System
-(b)" Socialist System
(c) Capitalist System
(d) Mixed Economy System [UP PCS (Pre) 2007]
10. Economic liberalisation in India started with :
-(a) substantial changes in industrial licensing policy
(b) the convertibility of Indian rupee
(c) doing away with procedural formalities for foreign
direct investment

(d) significant reduction in tax rates [UP5C 2000]

by A labour-surplus economy

e

e

—2Z: National Income in India

-

8. InIndia, agriculture income is calculated by :
Aa) Output method

(b) Input method

(c) Expenditure method

(d) Commodity flow method

A firm sells new shares worth T 1000 direct to individuals.
This transaction will cause :
(a) Gross National Product to rise by T 1000
(b) Gross Domestic Product to rise by T 1000
(c) National Income to rise by T 1000
_d) No impact on Gross National Product
[55C Grad. 2004]
Which is not included in the private income arising in a
ettt p i g e T
(a) Factor income from net domestic product
(b) Net factor income from abroad
(¢) Current transfers from Government
[d) Current Payments on foreign loans [S5C Grad. 2005]

[55C Grad. 2005]

(b) KiritS. Parikh
«c) Raj Krishna
(d) Montek Singh Ahluwalia
[SSC Sec. O (Aud.) 2007]
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5.

Objective General Knowledge

GDP at factor cost is :

6.

&) GDP minus indirect taxes plus subsidies
(b) GNP minus depreciation allowances
(c) NNP plus depreciation allowances
(d) GDP minus subsidies plus indirect taxes
[55C Tax Assit. 2008]

Jer Capita Income is obtained by dividing National

—Income by

~a) Total population of the country
(b) Total working population(c) Area of the country
(d) Volume of the capital used [S5C Sec. OfF. (Aud.) 2008]

Which one of the following is a development expenditure ?
(b) Civil administration
(d) Grant-in-Aid

[55C CPO SI 2008]
Gross Domestic Product (GDP) is defined as the value of all :
(a) goods produced in an economy in a year
(b) goods and services in an economy in a year
(c) final goods produced in an economy in a year
{d) final goods and services produced in an economy in
[S5C Tax Assit. 2009]

F&) Gross National Product—Net National Product

(b) Net National Product—Gross National Product

(c) Gross National Product—Personal Income

(d) Personal Income—Personal Taxes  [S5C DEO 2009]

Which one of the following is NOT a_method of

(b) Income Method

() Investment Method
[55C CPO SI 2009

Net National Product (NNP) of a country is :

(a) GDP minus ‘depreciation allowances

(b) GDP plus net income from abroad

(c) GNP minus net income from abroad

4d) GNP minus depreciation allowances

[SCRA 2003, 55C CPO 51 2009]

by production of goods and services
(¢c) net profit earned and expenditure made by the State
(d) the sum of all factions of income
[RRB Mahendru, (Patna) TC 2006]
Which of the following is definitely a major indication of
the State of the economy of a country ?
(b) Rate of inflation

(d) Stock of foodgrains in a country
[Bank of India Clerk 2008]
Which of the following can be called as a part of the

L) Banking
(e) None of these

(¢c) Coal Mines
[SBT Clerk 2008]

GDP What is the full form of the same ?
.(a‘) “Gross Domestic Profuct (b) Global Domestic Ratio

[SBI Clerk 2008]

Z.
{a) Irrigation expenditure
(c) Debt services
8.
a year
9. ' Depreciation is equal to :
10.
measurement of National Income ?
(a) Value Added Method
(c) Expenstu:e Method
11.
12. National Income is based on the :
{(a) total revenue of the State
13.
£a) Rate of GDP growth
() Number of Banks in a country
(e) None of these
14.
Service Sector ?
(@) Textite Mills
(d) Agnr:ulture
15.
(¢) Gross Depository Revenue
(d) Global Depository Receipts
(e) None of these
16.

Interms of econornics the total valueoft the out put _(_goode

_a domestic residents of a COIIn_th‘Og—E'_E]E‘ iscalled :
(a) Net National Product 4y Gross National Product
(c) Gross National Income (d) National Income

(e) None of these [Bank of Maharashtra Agri. Off. 2009]

17. Which of the following is the _correct definitjon of the

18.

19.

20.

21

25;

~term National Income ?
(a) National Income means the total amount of money

Governmentearnsonly through directtax collections

every year

It is the total value of all sorts of stocks held by a

country at a particular point of time

Thisis the measure of the volume of commoditiesand

services turned out during a given period counted

without duplication.

(d) All‘a’, ‘b and ‘¢’

(e) None of these

(b)
4e)

[RBI Grade B Officer 2009]
(a) Gross D;;ﬁestlc Product at market t prlce :
(b) Net Domestic Product at factor cost
(c) Net National Product at market price
(d) Net National Product at factor cost

Assertion (A) :

Dz 4

[CDS 2003]
Per Capita Income of India does not
give a complete picture of the economic
growth of the country.

Reason (R) : Per Capita Income of a country is not
independent of the size of its population.
Codes :
(a) Both A and R are true and Ris the correct explanation
of A
4b) Both Aand RaretruebutRisnotacorrectexplanation
of A

(¢) Ais true but R is false

(d) Ais false but R is true [CDS 2007}
Which sector of Indian Economy contributes largest to
the Gross National Product ?

(@) Primary Sector
ey Tertiary Sector

(b) Secondary Sector

(d) Public Sector
[44th BPSC 2001; MP PSC (Pre) 20085]
National Income estimates in India are prepared by.:
(a] Planning Commission (b) Reserve Bank of India
(c) Central Statistical Organisation
(d) Indian Statistical Institute

[45 BPSC 2002; UP PCS 2006; 47 BPSC 2007; UP PCS 2008]

(a) Natmnal Income [b) Populahon
Ley National Income and Population both
(d) None of these H"?th BPSC 2002]

(b) Agrimlmre

(d) Trade Sector
[47th BPSC 2007; WB PSC(Pre) 2008]

,,(a’}' ‘Service Sector
(c¢) Industrial Sector

. The base year for computation of National Income in
India is :
(a): 1990 — 91 ) 1993 — 94
(c) 1999 — 2000 (d) 2000 - 01

[UP PCS(Main) 2004; SSC Tax Assit. 2009]
In India, Hindu Rate of Growth is associated with whu:h
of the following i3

(a) Birth Rate —
(c) Per Capita Income

(b) Population
[d) National Income
JUP PCS (Main) 2004]
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26. Which one of the following is NOT an example of _

economic overheads ?

{a) Schools
(¢) Roads and Railways

(b) Sanitary Facilities
(ely Coal Mines
[UP PCS (Main) 2004]
27. In India, service sector includes :
I. Mining and Quarrying
. Transport and Communication
A Hotels IV. Forestry and Fishing
Select your correct answer from the codes givenbelow :
Codes :
(a) OnlyIand 11
(c) Only 1l and IV

() Only 11 and III
(d) OnlyIand IV
JUP PCS (Main) 2004]
28. In India, Tertiary Sector includes :
~f— Trade and Transport ~—1I. Finance and Real Estate

ITI. Forestry and Fishing

Choose the correct answer from the codes givenbelow :

Codes:

(a) ILonly 45) [ and Il only

(c) II and III only (d) Ml only [UPFCS2004]

29. Hindu Rate of Growth refers to the rate of growth of :
{a) GDP’ “ ="{b) Population
(¢) Foodgrains (d) Per Capita Income
[UP PCS (Main) 2006]
30. Who had estimated National Income in India first ?
) (@ Dadabhai Naoroji (b) R. C. Dutt
(c) V.K.R.V.Rao (d) D.R. Gadgil
[UP PCS (Pre) 2007; 55C Mat. 2008]
31. Who wrote a book describing the_theory of economic
drain of India during British rule ?
(a) Late Lajpat Rai (b) Mahatma Gandhi

(c) Jawahar Lal Nehru 4éy Dadabhai Naoroji
: [UP PCS (Main) 2007]

32. As the economy deve]ops,, the share of 1 the terhary sector
Jothe CDP: - ¢ F oot et ein T 2
(a) “Decreases (b) Decveases then increases
(d) Remains constant

(&) Increases
. [UP PCS (Main) 2008]
33. The National Income of a country.is:
(@) The annual revenue of the Government
) Sum total of factor incomes
(c) Surplus of Public Sector Undertakings
(d) Export minus Import [WB FSC (Pre) 2008]
34. In an open economy, the National Income (Y) of the
economy is :
(C = Consumption, I = Investment, G = Government
expenditure, X = Total exports, M = Total import)
(a) Y=C+I+G+X b)) Y=I+G-X+M
() Y=C+I-G+(X-M) (d) Y=C+I-G+X-M
JUIPSC 2000]
The new GDP series released by the C50 in February,
J&Q&;sm_ referencetobase price of 7
(a) 1991—92 (b) 199293 (¢} 1993 — 94 (d) 1994 — 95
[UPSC 2000]
The Per Capita Income in India was ¥ 20 in 1867 - 68 was
ascertained for the first time eby:
@ ‘Dadabhai Naoroji (b) R.C.Dutta
(c) M. G. Ranade (d) W. Hunter [UPSC 2000]

37. The growth rate of Per Capita Income at current prices is

higher than that of Per Capita Income at constant prices,
because the latter takes into account the rate of :

35.

36.

137

(a) growth of population {b) increase in price level
(c) growth in money supply (d) increase in the wage rate
[UPSC 2000]
38. The most a]g_propnate measture of a country’s economic
growth is its : 3
“(a) Gross Domestic Product (b) Net Domestic Product
(c) Net National Product (¥ Per Capita Real Income
[UPSC 2001}
39. The term National ] Income represents :
(a) Gross National Product at market price minus
depreciation
(b) Gross National Product at market price minus
depreciation plus net factor income from abroad
~fc) Gross National Product at market price minus
depreciations and indirect taxes plus subsidies

(d) Gross National Product at market prices minus net
factor income from abroad [UFPSC 2001]
40. Consider the following States :
1. Maharashtra 2. Gujarat
3. Karnataka 4. . Tamil Nadu

The descending order of these States with reference to
their level of Per Capita Net State Domestic Product is :
(a) 1,2,3,4 () 2,1,3,4 (c) 43,21 (d) 3,421
[UPSC 2001]
. Which one among the following countries has the lowest
'GDP per capita ? BN e
(a) China (b7 India (c) Indonesia (d) Sri Lanka
JUFSC 20017
42. Which one of the following is the correct sequence in the
decreasing order of contribution of different sources to
the Gross Domestic Product of India ?
Aa) Service — Industry — Agriculture
(b) Service — Agriculture — Industry
(c) Industry —Service — Agriculture
(d) Industry — Agriculture — Service [UPSC 2007]
With reference to Indian economy, consider the following
statements :
1. The Gross Domestic Product (GDP) has increased by
four times in the last 10 vears
2. The percentage share of Public sector in GDP has
declined in the last 10 years
Which of the statements given above is/are correct ?
(a) 1only (b) 2 only
(c) Both1and?2 (d) Neither 1 nor 2
[UPSC 2010]
Under which of the following circumstances may ’'capital
gains’ arise 7
1. When there is an increase in the sales of a product
2. When there is a natural increase in the value of the
property owned
3. When you purchase a painting and there is a growth
in its value due to increase in its popularity
Select the correct answer using the codes given below :
(a) 1only (b) 2 and 3 only
(c) 2only (d) 1,2and 3 [UFPSC2012]
InIndia, in the overall Index of Industrial Production, the*
Indices of Eight Core Industries have a combined weight
of 37.90%. Which of the following are among those Fight
Core Industries ?
1. Cement 2. Fertilizers3. Natural gas
4. Refinery products 5. Textiles
Select the correct answer using the codes given below :
(a) 1and 5 only (b) 2,3 and 4 only
(c) 1,2,3and 4 only (d) 1,2,3,4and 5
[UPSC 2012]

44.

45,
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1. Under which plan did the Government introduce
an_agricultural_strategy which gave rise to Green
Revolution ?

(a) Second Five Year Plan () Third Five Year Plan
(c) Fourth Five Year Plan (d) Sixth Five Year Plan
- [65C Grad. 2000f
2. The Second Five Year Plan was based on :
@) Mahalanobis Model
(b) Vakil and Brahmananda’'s Wage — Goods Model
(¢) Harrod — Domar Growth Model
(d) Solow Growth Model
. .The Planning Commission of India is :_
(a) A constitutional body
(b) An independent and autonomous body
(c) A Statutory body ) A non-statutory body
[S5C Sec. Off. (Aud.) 2006; RRB Supervisor/IESM{Mumbai) 2006]

4. Mahalanobis Model has been assoaated with whu:h Five
Year Plan?
(a) First Five Year Plan {b) Second Five Year Plan
(c) Third Five Year Plan (d) Fourth Five Year Plan

[SSC Mat. 2008]

5. Which Plan gave emphasis on removal of poverty for the
_ first time 2
(a) Fourth  (bY Fifth

[85C Grad. 2000}

(¢) Sixth (d) Seventh
[S5C Tax Assit. 2008]
6. The period of the Eleventh Five Year Plan is :
(a) 2005 to 2010 (b) 2006 to 2011
{e) 2007 to 2012 (d) 2008 to 2013
[SSC Tax Assit. 2008]
7. The Planrung Commission of India was constituted in

'Ehe e year :

“(@ 1942 (b) 1947 (c) 1950 (d) 1955

[Bihar SSC LDC 2005; S5C Sec. Off. (Aud.) 2008; 55C DEC 2005;
NDA 2008]

8. Which one of the following is NOT correct ?
(a) First Five Year Plan : 1951 - 56
{(b) Second Five Year Plan : 1956 — 61
(c¢) Third Five Year Plan : 1961 — 66
«d) Fourth Five Year Plan : 1966 —71 [S5C CPO ST 2008]

9. Inthe ost—md endence “permd economicreforms were
first mtroduce‘cgm India tunder :
(a) Tanata Party Government (1 977]
(b) Indira Gandhi Government (1980)
(¢) Rajiv Gandhi Government (1985)
d) P.V. Narasimha Rao Government (1990)
[QSC CPO SI "00'?]
of the Planning Comrrussmn Heis tﬁé
“(a) Minister for Planning and Developmerﬂ
(b) Home Minister
(e) Prime Minister (d) Finange Minister
[Bihar SSC LDC 2005; NDA 2008; 55C Tax Assit. 2009;
85C CPO SI 2009]

Tfffanm Com:mssnon (b) Finance Commission
ng
(c¢) Election Commission

(d) Union Public Service Commission
)‘ 55C Tax Assit. 2009]
(a) ‘does not chz change its targets every year
(b) changes its allocations every year
ey changes its allocations and targets every year
(d) changes only its targets every year
[SSC Tax Assit. 2009]
13. Which one of the following Five Year Plans of India had
growth with social justice and equality for achieving its
goal as the main focus ?
(a) VI (b) VII d) IX
[SCRA 2000

14. Which one of the following pairs is NOT correctly
matched ?
(a) First Five Year Plan : 1951 — 56
(b) Third Five Year Plan : 1961 — 66
(c) Fifth Five Year Plan : 1974 - 79
_(é) Ninth Five Year Plan : 1996 — 2001 [SCRA 2000]

15. Which of the following is/are mcluded in ‘Deficit

Fmanang in_India. ‘The term is used frequently in

economic planning :
1.- Borrowing from the Reserve Bank of India
~2- Issue of new currency notes
~3." withdrawal of past balances/surpluses etc
(a) only 1 (b) only 2
(c) only3 () Alll,2and3
(e) None of these [Union Bank of India PO 2008]
16. Which one of the following is NOT within the duties of
the Planning Commission ?
(a) To define the stage of growth and suggest allocation
of resources
(b) To make an assessment of the material, capital and
human resources of the country
(e} To determine the nature of machinery required for
implementation of plan proposals
(d) To prepire the annual central budget

(c) VII

{’VD4 7003}

(a) First .(d‘j Fourth

[NDA 2007; SCRA 2007}
18. Mﬁ_ch is the highest body that approves Five Year Plans
_in the country ?
“(a) Planning Commission
(c) Parliament
Ad) National Development Council
[CDS 2003; 55C Sec. Off. (Aud.) 2006; Bank of India Clerk 2008;
58C Tax Assit. 2009; NDA 2009]

(b) Union Cabinet
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19. In India, the concept of ‘minimum needs’ and "directed
anti- -poverty programmes’ were the innovation of :
(@) Fourth Five Year Plan 45) Fifth Five Year Plan
(c) Sixth Five Year Plan (d) Seventh Five Year Plan
[CDS5 2004; CDS 2006]
20. 9th Plan in India covers the period of :
‘(a) 19901995 (b) 1992 —1997

<) 1997 — 2002 (d) None of these
[45th BPSC 2002]

21. What is the Tenth Plan period ?
(a) Year 1999 t0 2003 “(b) Year 2000 to 2005

—(€] Year 2002 to 2007 (d) None of these
[46th BPSC 2004]

et i -—(‘b) 15th March 1950

(d) 16th March, 1951
[47th BPSC 2005]

(¢) 20th March, 1950

23. Economic Planning is in :
“(2) Union list
_{ey" Concurrent list

(b) State list
(d) not any specified list
[47th BPSC 2005]
24. The outline of Second Five Year Plan was made by :
(@ B.N.Gadgil ~ (b) V.K.R.V.Rao
[c) P.C. Mahalanobis (d) C.N. Vakil
R [47th BP5C 2005]
25. NABARD was established in the :
“(a) Tourth Five Year Plan _ (b) Fifth Five Year Plan
«(c) Sixth Five Year Plan (d) Eighth Five Year Plan
[47¢h BPSC 2005]
- The Eleventh Plan’s objectiye is :
h—) Removal of P Poverl‘y =(b) Inclusive growth
(c¢) Growth with social justice
(d) Development of minors [48th — 52nd BPSC 2008]

27._The period of Plan Holiday in India was :_

(a) 196265 Ab) 196669
(c) 1969 72 (d) 1972-75
{-—'Igth 52nd BPS5C 2008]

a) Indira Gandh1 Government
(b) The National Front Government
) The Janata Party Government
(d) Rajiv Gandhi Government [48th-52nd BPSC 2008]
29. In which Five Year Plan, the main @ectlve was the
eradlcatlon of ,Poverty ?
“(a) Fourth Five Year Plan b) Fifth Five Year Plan
(c) Sixth Five Year Plan (d) Seventh Five Year Plan
[UP PCS (Pre) 2004]
30. Which of the following is NOT a constitutional organ ?
@ Election Commission (b) Finance Commission
(c) Inter—State Council {d) Planning Commission
JUP PCS¢Main) 2004}

31. The Rolling Plan for backward countries was suggested

vk
fa) Gunnar Myrdal (b) W. A. Lewis
(c) R.Nurkse (d) A.Samuelson

[UP PCS (Main) 2004]

32. Which one of the following statements is NOT true ?
(a) Prime Minister is the Chairman of the Planning
Commission of India

(b) The National Development Council is presided over
by the Prime Minister of India
(c) Secretary of the Planning Commission is also the
Secretary of the National Development Council
d) Planning Commissionisthehighestdecision-making
body for plannjng in India [UP PCS (Mafn ) 2004]
f()r the coun’cry vests in :
(a) The Planning Commission
~t5) The National Development Council
(c¢) The Union Cabinet

(d) The Parliament ,f Ur rcs (Main) 2004]

-—&"‘ discusses progress of the National Plan
—2— suggests the way to achieve goals of the National
Plan
~37 gives guidelines to formulate the National Plan
4. suggests plan allocation
Consider the above statement, select the correct answer
from the codes given below :

Codes :
) 1,2and 3 (b) 2,3 and 4
(¢) 1,2and 4 (d) All of the above

[UP PCS (Main) 2005]
35. The sloga_n ‘Garibi Unmuian (Poverty eradication) was

cond plan
.{-e) Fifth plan

r{b) Fourth plan
(d) Sixth plan
[UP PCS (Pre) 2007; WB PSC (Pre) 2008]
36. In which Five Year Plan, Economic Development Rate
Was maximum ?
“(a) First Five Year Plan (b) Fourth Five Year Plan
(c) Sixth Five Year Plan (&) Tenth Five Year Plan
[UP PCS (Main) 2007: UP PCS (Main) 2009]
37. In which one of year 'Rolling Plan’ was in operation in_

Tndia ?
"(a) 1968 - 69 {4} 1978 -79
(c) 1988 —89 (d) 1990 -91

[L7P PCS (Main) 20077
38. Inclusive growth would necessiate :
(a) Development of infrastructural facilities
(b) Revival of Agriculture
(¢) Increase availability of social service such as
education and health
(B All the above [UP PCS (Main) 2008]
39. The theme of the approach paper of the Eleventh Five
Year Plan has been : )
{(a) Indicative Planning
(b) Growth with Social Justice
-} Towards faster and more inclusive growth
(d) Planning for prosperity [UP PCS (Main) 2008]
40. National Development Council was constituted on :
(a) August 16, 1950 (b) April 1, 1951
e}y August 6, 1952 (d) August 16, 1952
[UP PCS Special (Pre) 2008]
41. Planning was considered a prerequisite :
1. For balanced socio-economic development
2. Forextending the benefits of developmentinaneven
manner :
3. For focussing on removal of regional disparities
4. For maximizing the utilization of available resources
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53._The iron and steel plants of Rourkela and Durgapur were

Select the correct answer from the codes given below :
Codes :

(a) 1and 2
(c) 2,3and 4

(b) 1,2and 3
4y All the four

[UP PCS (Pre) 2009]
National Horticulture Mission was launched in which of
the following F "‘e Year Plans " :
(a) Ninth Five Year Plan " (by Tenth Five Year Plan
(c) Eleventh Five Year Plan (d) None of these
[UP PCS (Main) 2009]

syt ey v e

flrst lau;nched in l:he Year :
@ 1969 by 1975 (c) 1977 (d) 1980
[UP PCS (Main). 2009]
Who of the following is Chairman of the Planning
Commission of India ?
(a) Pro A. M. Khusro

() M.S. Ahluwalia

(b) N.K.P. Salve
LY None of these

JULL PSC (Pre) 2005]
Which of the following is an extra-constitutional body ?
(a) Union Public Service Commission
(b) Finance Commission  (c) Election Commission
4d) Planning Commission [Trtt. PSC (Pre) 2005}
Who was the First C’.ha].rman of P]amung Commission of
India? LI T .
(a) M. Viswesvarya
(c) P.C. Mahalanobis

BT Pt. Jawahar Lal Nehru
(d) John Mathai
Ut P5C (Pre) 20006]

. Who presides over the National Development Council
of India?.
(a) Deputy Chairman of Planning Commission of

India
() Prime Minister of India
(c) Finance Minister of India

(d) Vice President of India U PSC f.”re) 7{?06}

Plans ?
"(a) Union Council of Mmlsters
(p) Planning Commission (¢) Prime Minister

L) None of these /"’@ ” [MP P5C (Pre) 2008]

Planningin India, mrea.lsense,beganwmhthe‘%econd Five

Year Plan. Who was the architect of Indian Planning?

(a) Jawahar Lal Nehru (b) Mordm Desai

(c) C.D. Deshmukh ) P.C. Mahalanobis
[CPSC (Pre) 2008]

Which of the following experienced the fastest expansion

during the plan in India ?

(a) Agriculture

ey Services

(b) Industry
(d) None of these
[WB FSC (Pre) 2007]
Whose name is associated with formulation of Planning
Strafegy in Second Flvc Y("zar 1Plan 7
(a) Mahatma Gandhi _ (b) Jawahar Lal Nehru
(e} Prasanta Chandra (P.C.) Mahalanobis
(d) B.R. Shenoy [WB PSC (Pre) 2008]

52 Mu ring Second Plan was laid on the
<development-of

(a). Rural Areas
(c) Foreign trade

by Basic and Key industries
(d) Consumer industries
[WE PSC (Pre) 2008]

54,

55.

60.

61.

62.

63.

ey 9th Plan

,.(ﬂ‘) Agriculture

conceived underthe:
“(a) First Five Year Plan

(c) Third Five Year Plan

b)Y Second Five Year Plan
(d) Fourth Five Year Plan

[ WB PSC (Pre) 2008]
National Development Council (NDC) deals with :
Lay (@ The approval of Five Year plans
(b) Preparation of Development plans
(¢) Rural Development Programme
(d) Poverty Alleviation Programme [IWEB PSC (Pre) 2008]
The real al introduction of Decentralized Planning in India
_was made for the first time during the :
(a) 7th Plan ' (b) 8th Plan
(d) 10th Plan

[WB PSC (Fre) 2008]

. _The major emphasis in the First Five Year Plan was on :
(b} Employment generation
(d) Export promotion

[TN PSC (Pre) _""'Jﬂd]

(c) Industry

(a) USSR
() USA

«-(15) West Germany
(d) UK j7N PSC (Pre) 2009]

. Planning Commission was established in1950 through :

(a) A constitutional amendment
(b) A Supreme Court order
A An executive order

(d) A decision by the Parliament [TN PSC (Pre) 2009]

. DuringwhichFive Year Plan wasthe Emergency clamped,

new w ele ctions

(b) Fourth ) Fifth

took _place and the Janata Party was

he]ected 7

(a) Thi rd (d) Sixth
[UPSC 2009]
Consider the following statements regarding Indian
Planning :

1. The Second Five Year Plan emphasized on the
establishment of heavy industries.

2. The Third Five Year Plan introduced the
concept of import substitution as a strategy for
industrialization.

Which of the statement(s) given above is/are correct ?

(a) 1only (b) 2only

fe) Both1and?2 (d) Neither 1 nor 2
[UPSC 2009]

Inclusive growth as enunciated in the Eleventh Five Year

Plan does NOT include one of the following :

(a) Reduction of Poverty

(b) Extension of Employment opportunities

(2)” Reduction of Gender inequality

(d) Strengthening of Capital market [UPSC 2010]

In the context of India’s Five Year Plans, a shift in the

pattern of industrialization, with lower emphasis of

heavy industries and move on infrastructure begins in :

(a) Fourth Plan 4b) Sixth Plan

(c) Eighth Plan (d) Tenth Plan/U/PsC 2010]

Which of the following can aid in furthering the

Govennment’s objective of inclusive growth ?

1. Promoting Self Help Groups

2. Promoting Micro, Small and Medium Enterprises

3. Implementing the Rights to Education Act

Select the correct answer using the codes given below :

(a) 1only (b) 1and 2 only

(c) 2and 3 only @y 1,2and 3 [UPSC 2010]
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10.

«~(c) Nagaland

«fa) Haryana

A< Population of India

Which amongst the following States/UTs ‘has NOT.
identified tribal community ?
“(a) Chhattisgarh «(b) Haryana
(c) Maharashtra (d) Karnataka

[S5C Grad. 2003]
Which amongst the following_ States/UTs has NOT
identified tribal community ?
(a) Uttar Pradesh  * ‘(b) Orissa
(c) Andhra Pradesh A4d) Delhi [SSC Grad. 2003]

Accordmgvto Census 2001, what tis the percentage of male
|1teracy L
(b) 70 (d) 60

Ja) 75. 85
[S5C Grad. 2005]

Which State of India has recorded the highest rate of
populahon growth in the last Census 2001 ?
“(a) Gujarat (b) Manipur

(d) Haryana
[55C Grad. 2008; Utt. PSC (Pre) 2006]
What is the correct order of towns on the basis of
populahon-sme (census 2001) ?

(c) 65

"wa) Greater Mumbai, Delhi, Kolkata, Chennai, Bangaluru

(b) Greater Mumbai, Delhi, Kolkata, Bangaluru, Chennai
(c) Kolkata, Greater Mumbai, Delhi, Chennai,
Hyderabad
(d) Delhi, GreaterMumbai, Kolkata, Chennai, Hyderabad
[5SC Grad, 2006]
ntify the Indian State Wh_lch has thelowestsexratio :
“(b) Punjab
(d) Arunachal Pradesh

[85C Grad. 2006]

In Indla, popu]atlon den51ty is defined as the numbe-r of

persons 7

“(a) Per square mile

(c) Per lakh square mile

(d) Per lakh square kilometre [S5C Sec. Off. (Aud.) 2006]

A high growth rate of population is characterised by :
(a) High birth and high death rate

denti

(c) Uttar Pradesh

A{b) Per square kilometre

AbY High birth and low death rate ol
“(c) Low birth and low death rate

(d) Low birth and high death rate
[SSC Sec. OFf. (Aud.) 2006]
The most literate Union Territory in India is :
(a) Delhi b)Y Lakshadweep
(c) Chandigarh (d) Pondicherry
[85C Sec. Off. (Aud.) 2007]

Which State of India has the 1 argest area ?

(a) Uttar Pradesh (b) Madhya Pradesh

(¢c) Maharashtra 4é) Rajasthan
[85C Mat. 2008

-

'D:B,c.A "

11. In the history of Indian population, which duration
_period is referred to as‘a great leap forward, ?
(a) 1921—1931 “=""1b) 1941 1951
e} 1951 - 1961 (d) 1971 -1981
[55C Mat. 2008]
12. During which decade did the population of India record,
a negative growth_rate ?
Tkay 1911217
(c) 1931-41

(b) 1921 - 31
(d) 1941 -51
[SSC Grad. 2008]
13. The 2011 Census could be the :
(a) 13th Census " (B) 14th Census
ey 15th Census (d) 16th Census
[55C lax Assit. 2008]
14. Which one of the following is NOT a characteristic of the.
po}iuﬁ'ﬁon of a developed couptrl ?
@) Low birth rate and low death rate
) High birth rate and high death rate
(c) High proportion of urban population
(d) Low growth rate of population [SSC Tax Assit. 2008]
15. Which one of the following ¢ States of I.nd]a records the
Lgﬁest sex- ratlo "
“Kerala ok
(c) Meghalaya

(b) Karnataka
(d) Tamil Nadu
[55C Sec. Off. (Aud.) 2008]
16. Which is the largest State of India, population-wise,
accordmg to 2001 Census__?
(a) Maharashtra
Aey” Uttar Pradesh

(b) Bihar
(d) West Bengal

[S5C Tax Assit. 2009]
17. Census of population in India is done after :

(a) 2year5 (b) 5years (c) 7years ,(d'j 10 years
[Bank of India Clerk 2008; S5C Sec. Off. 2010; Corporation Bank
FO 2010]

18. What is the fotal population of Indna in crores according

o 20(11 Census ?

(@) 6 (b) 84 (c) 94 L7 102.70
[Bihar SSC LDC 2005; TN PSC(Pre) 2009]

19. Which one among the following States has the highest

denSIty of yopulahon ?
'''' “Bihar (b) Kerala
(c) Punjab (d) Uttar Pradesh

[SCRA 2005; S5C Grad. 2006]
20. As apﬂ* Census 2001, among the following hill States of

JIndia, which one has the highest literacy rate ?
(b} Himachal Pradesh
(d) Uttarakhand
JSCRA 2007]

What is the percentage of India's population to the world

opulation ? .
(@) 6% by 16% (c) 26% (d) 36%
[RRB Supervisor /IESM (Mumbai) 2006]

(a) Arunachal Pradesh
(c) Sikkim

21.
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22. The least populated State in India is :
(a) Goa _,ij Sikkim
(c) Manipur (d) None of these

[RRE Bangaluru Technical Trade 2008]
23, Many a times we Iead about Fertility Rate in economic
“iterature. What is Fertilify Rate ?
(ﬂr}' aJ The number of children born to an average woman
during her reproductive years.
(b) The total number of children born in a country in a
given year divided by number of children died.
(¢) The number of births in a country divided by total
population in a given year
(d) The number of women in the age group of 15-45
yearsin a country divided by total number of women
died during child birth./NABARD Bank Officers 2010]
24. Which one of the following pairs is correctly matched ?
(aY" West Bengal — Highest density of population
(b) Himachal Pradesh — Highest sex ratio :
(c) Uttar Pradesh — Highest percentage of Scheduled
Castes population
(d) Nagaland — Highest percentage of Scheduled Tribes
population INDA 20007
25. The decadal growth in the population of India during
19912001 is close to :

(a) 13% (b) 17%

(d) 25%
[CDS 2004]
26. Which one of the following is the correct sequence of

() 21%
&

Union Territories of Indla in the mcreasmg order of their _

<area?
sk Lakshadweep—Chandigarh—Puducherry—Andman
and Nicobar Island
(b) Lakshadweep— Chandigarh—Andman and Nicobar
Islands — Puducherry
(c) Puducherry—Lakshadweep—Chandigarh—Andman
and Nicobar Islands
(d) Puducherry — Chandigarh — Andman and Nicobar
Islands — Lakshadweep [CDS 2007]

27. Which one of the followmg States/UTs of the country
has more th.a,n 50% tribal population of the total
...popu_latmn ?
(a) Andman and Nicobar Islands
Ab) Dadra and Nagar Haveli
(c) Himachal Pradesh
(d) Puducherry [CDS 2607]
28. The percentage of urban population to total popu lation,
_L__Ihdla 157
(a) 20. 28

) 2252 () 2572  d) 27.80

[44th BPSC 2001]

29. When did India’s population touch 100 crore mark ?
fa) May, 2000 (b) May, 2001
(c) May, 2002 (d) May, 2003
[46th BPSC 2004]
30. What is the gex ratio in India as per. Cer\qus 20017

(51) 933 females per 1000 males 1000
(b) 945 females per 1000 males %?@ (000
[46:‘}1 BPSC 2004]

(c) 964 females per 1000 males
(d) 985 females per 1000 males
31. What is the rank of Biharin view of populationin India ?
(a) 3rd (b) 4th (c) 5th (d) 1lth
[46th BPSC 2004: RRE Mahendru (Fatna) TC 2006

32. Which is the_‘Great Division Year’ in the history of
population growth in 1921 ? 2
&) 1921 (b) 1951 (c) 1991 (d) 2001
[47th BFSC 2005]
33. Which State has the lowest hteracy rate according to 2001
Census report 2
(a) Arunachal Pradesh

[te) Bihar

(b) Madhya Pradesh
(d) Haryana

[47th BPSC 2005]
34. According to the Census 2001, the density of population

.in India (per square km) is :
(c) 344 (d) 364

(a) 304 _,Qaa 324
[48th — 52nd BPSC 2008]

rJ £ ) il
35, What is the t total popu!atlon of India according to 2001
Census_ ?
_l;a) 1,02,8'7,37,436
(c) 10,12,52,751

'.|.: III" V7 a4 _.‘__:_.,-

.‘_r e

(b) 1,02,71,01,012
(d) None of these
[48th - 52nd BPSC 2008]

36. Theincreaseinliteracy rateinIndjaduring 1991- 2001 is :
(a 10.8% ) 12.6% (c) 14.3% (d) 15.5%
[48th-52nd BPSC 2008]
37. The three largest States of India in grder of area are :
(a) Rajasthan, Madhya Pradesh, Maharashtra
(b) Madhya Pradesh, Rajasthan, Maharashtra
(c) Maharashtra, Rajasthan, Madhya Pradesh
(d) Madhya Pradesh, Maharashtra, Rajasthan
[48th-52nd BPSC 2008]
38.,_The State havmg the highest density of p __Pulahon i
(a Kerala (b) Tamil Nadu
(c) Uttar Pradesh Ad) West Bengal
[UP PCS 2002; UP PCS 2003]
39. Which of the following ismosturbanised State of India Indla ?
(a) Maharashtra (b) Mizoram
L&) Goa (d) Tamil Nadu
[UP PCS 2002; UP PCS Special (Pre) 2004: 47th BESC  2005]
40. As per 2001 census, the least densjty populated state of
ndiaiss
a) Arunachal Pradesh
(¢) Mizoram

(b) Jammu and Kashmir
(d) Sikkim
[UP PCS 2003; CDS 2005; SSC Grad. 2006]
41. Consider the following statements and select correct
answer from the code given below :

Assertion (A) : China’s growth of population has
dramatically slowed down.
Reason (R) Its fertility rate has declined due to one

child per family norm.
In the context of above, which one of following is correct ?
Codes:
‘La} Both A and R are true and R is the correct explanation
of A
(b) BothAandRaretruebutRisnotacorrectexplanation
of A
(c) Adis true but R is false
(d) Ais false but R is true [UP PCS 2003]
42. According to Census 2001, the second most populous
_ State of the Country is :
(a) Bihar

(b) West Bengal
(¢) Maharashtra

(d) Rajasthan
[UFP PCS 2003]
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43. In which State of India, the sex ratio is more than 1000 :
(a) Andhra Pradesh (b) Karnataka
¥ Kera]a‘ Vo™ (d) Tamil Nadu
2o\ — o ) [UFP PCS 2003]
44, Accnrdmg_ to the 2001 Census, Maharashtra has the
larEes t urban ‘gopula tion and it is followed by
~fa) Uttar Pradesh and Tamil Nadu ™
(b) Delhi and Punjab (¢) Haryana and Gujarat
(d) West Bengal and Delhi [UP PCS (Pre) 2004]
45. The State which has the highest percentage of literate
unemployeaﬂm Indiais:
(a) Andhra Pradesh
P‘CE‘] Kerala

(b) Manipur
(d) Gujarat
JUP PCS (Pre) 2004]

46. Who amongst the following are the most literate in India_

_as per 2001 Census ? i
(a) Buddhists (b) Chﬂbflaﬂb (€) Jains (d) Siklchs
JUPPCS (Pie) 2004]
47. I_hgj.tshﬁmu& in India during the British period was
Jheld during.the tenuge 6f :
(a) Lord Dufferin (b) Lord Lytton
<tey Lord Mayo (d) Lord Ripon
[UP PCS Special (Pre) 2004; Utt. PSC (Main) 2006]
48. Accordingtoincreasingpopulation,arrangethefollowing

s e

States and find out correct answer from the code -

1. Uttar Pradesh 2. West Bengal
3. Madhya Pradesh 4. Maharashtra
Codes :

@ 1234 (b) 1,423 (c) 23, L4 4) 3.2,41
JUP PCS (Main) 2004]
49. By 2001 literacy average in India touched : )
Ja) 65.38 % of the population - TS =3¢, oM N
(b) 75.85 % of the population - 2
(c) 54.16% of the population
(d) 57.36% of the population
[LIP PCS (Main) 2004: S5C Grad. 2006]
50. Which of the following States has shown highest decadal
growth of population during 1991-2001 ?
={@) Manipur (b) Meghalaya
(¢) Nagaland (d) Sikkim
[UP PCS (Main) 2004]
51. The correct Sequence of meh‘opou tancities an the basis of
population-size, in the descending order, as per.Census
_of 2001, is.:~
(a) Greater Mumbai, Delhi, Kolkata, Chennai
(b) Kolkata, Greater Mumbai, Delhi, Chennai
<€) Delhi, Greater Mumbai, Kolkata, Chennat
(d) Chennai, Greater Mumbai, Kolkata, Delhi
[UP PCS (Main) 2004]
52. As per the Census of 2001, the least urbanised State of
]}‘rdi’z'l_fs llllll
_(E») “Arunachal Pradesh
(c) Himachal Pradesh

(b) Assam
(d) Uttaranchal
| [UPPCS (Main) 2004]
53. Which one of the following statement is true ?
(a) As per 2001 Census the population density of India
is 354 person/km? '
(b) Bihar is the most densely populated State of India
J4e) Uttar Pradesh has more than twice the population
density of India
(d) Sikkim is the least densely popu_lated State of the
country [UP PCS (Main) 2005]

54. As per 2001 Census which one of the following is NOT
a megacity of Indla ?
“(a) Ahmedabad
(c) Bangaluru

(b) Chennai
o) Ranchi
[UP PCS (Main) 2005]
55. As per 2001 Census t_he largest number of Million Cities
_are in the State of :
(a) Maharashtra—-
{c) West Bengal

(b) Tamil Nadu
~(d) Uttar Pradesh
[UP PCS (Main) 2005]
56. The four most populous States of India are :
) Uttar Pradesh, Maharashtra, Bihar, West Bengal
(b) Uttar Pradesh, Maharashtra, Rajasthan, Gujarat
(c) Uttar Pradesh, Bihar, Andhra Pradesh, Tamil Nadu
(d) Maharashtra, Karnataka, Madhya Pradesh, Tamil
Nadu JUP PC5(Main) 2005]
57. InIndia, the highest decline in sex ratio during 1991-2001
has been observed in :
@) THaryana
(c) Dadra and Nagar Haveli
{d) Daman and Diu [UP PCS (Main) 2005]
58. In India the highest concentration of slum population is
dn the State of :
(a) Andhra Pradesh by~ Maharashtra
(¢) Uttar Pradesh {d) West Bengal
[UP PCS (Main) 2005; UP PCS (Main) 2007]
59. As per 2001 Census the fernale hteracy rate was the
] h.lghest in the State s
(a) Goa
(c) Mizoram

{b) Himachal Pradesh

(b) Himachal Pradesh
) Kerala
[UFP PCS (Main) 2005]
60. Which one of the following is the correct ascending order
of the States in terms of urban population as  per 2001
Census ?
4&) West Bengal, Tamil Nadu, U.P. and Maharashtra
(b) Andhra Pradesh, Tamil Nadu, U.P. and Maharashtra
(¢) Tamil Nadu, Maharashtra, U.P. and West Bengal
(d) Maharashtra, Gujarat, U.P. and West Bengal
[UP PCS (Main) 2005]
61, Consider the following statements and select the correct
answer from the code given below :
1. India’s population is characterised by a high growth
rate.
2.  With the current growth rate it is likely to overtake
China in the near future.
3. Out of every six persons of the World one is Indian.
4. About 40% of the India‘’s population is below the
poverty line level.
Codes: .
ta)” 1,2 and 3 are correct
(c) 1,3 and 4 are correct

(b) 2,3 and 4 are correct
(d) 1,2 and 4 are correct
[UPPC'S (Pre) 70{'}6}'

hteracy 2
(a) Andhra Pradesh (b) West Bengal
_fe) Mizoram (d) Punjab

[UP PCS (Main) 2006]
63. Wl’}lch one of the following Union Territories of India has
more females t than males ?

(a) Chandigarh
(¢) Lakshadweep

(b) Delhi
()" Puducherry
[P PCS (Main) 2006; UP PCS (Pre) 2009]
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64. The highest average annual exponential growth rate in
lncha s populatmn has been necord d during | the decade
S

“{a) 1951-61 () 1961 - 71
(c) 1971-81 (d) 1981-91
[UP PCS (Main) 2006]

65. The highest percentage increase in India’s literacy has
_been observed during :
“(a) 1961 -71

(c) 1981-91

(b) 197181
}d’) 1991 — 2001
[UP PCS (Main) 2006]
66. The share of million cities to the total urban population
“of India (2001) is about : l
'3 percent
(c) 34 percent

(b) 28 percent
(d) 38 percent
[UP PCS (Main) 2006]
67. AccordingtoCensus2001,{] ;bepercentageofﬂleSCheduled
Tribes population in India is :
“(a) 7.20 (b) 7.50

(e) 8.20 (d) 8.50

[UP PCS (Main) 2005] .

68. Which one of the following States is most urbanised as
per 2001 Census report ?
"{a) Gujarat
(e) Tamil Nadu

(b) Karnataka
(d) West Bengal
[UP PCS (Main) 2006]
69. Which one of the following States of India has a million
gity as per 2001 Census report ?
(a) Assam AbY J'harkhand
(c) Chhattisgarh (d) Orissa
[UP PCS (Main) 2006]
70. More thanone-third of India’s population is concentrated
_in the stateg g,f
(&) Uttar Pradesh, Maharashtra, Bihar
(b) Uttar Pradesh, Bihar, Andhra Pradesh
(c) Uttar Pradesh, Tamil Nadu, West Bengal
(d) Uttar Pradesh, Maharashtra, Madhya Pradesh
JUP PCS (Main) 2006]
71. According t0,2001 Census, three states having maximum
urban popu]atlon of the country are :
.{a) Tamil Nadu, Gujarat, Ka rnataka
(b) Maharashtra, Andhra Pradesh, Tamil Nadu
(c) Uttar Pradesh, Tamil Nadu, West Bengal
(d) Maharashtra, Uttar Pradesh, Tamil Nadu
JUP PCS (Main) 2005}

optlation isin:
‘Fa) Uttar Pradesh {‘b’) Punjab
(d) Andhra Pradesh

(c) Maharashtra
[UP PCS (Main) 2006]
73. [About 30.% of India’s area lies in the three states of :
(a) Rajasthan, Uttar Pradesh and Andhra Pradesh
(b) Madhya Pradesh, Andhra Pradesh and Gujarat
€) Rajasthan, Madhya Pradesh and Maharashtra
(d) Maharashtra, Andhra Pradesh and Uttar Pradesh
[UP PCS (Main) 2006; UP PCS (Pre) 2009]
74. About one-third of India’s cattle population is found in
three states are :
a) Madhya Pradesh, West Bengal and Uttar Pradesh
(b) Bihar, Maharashtra and Uttar Pradesh
(¢) Punjab, Orissa and Rajasthan i
(d) Andhra Pradesh, Karnataka and Rajasthan
[UP PCS (Main) 2006]

75. In Indian States the tribal population is largest in :
Ta) Assam and Trlpura
(b) Kerala and Tamil Nadu
+4¢) Madhya Pradesh and Chhattisgarh
(d) Uttar Pradesh and Uttarakhand [UP PCS (Fre) 2007]
76. Arrange the following Indian States in descending order
‘f-rom urbanisation point of view :
1. West Bengal 2. Tamil Nadu
3. Maharashtra 4. Gujarat
Select the correct answer using the codes given below :
Codes :
(@ 1,2,3,4 0) 2,3,41 (c) 3,421 (d) 4321
[UF PCS (Fre) 2007]
77._The decadal growth ofurban population (in percent) was
_highest in India du_rmg
(a) 196171 () 1971-81 (c) 1981-91 (d) 1991-2001
JUP PCS (Pre) 2007 UP PCS (Main) 2009]
78. The smallest million city of India is :
(a) Amritsar (b) Allahabad
#ey Rajkot (d) Vijaywada
[UP PCS (Main) 2007]
79. Which one of the following classes of towns are included
in the category of small towns by the Census of India ?
(a) Class VI {(b) Class V and VI
(c) ClassIV, Vand VI Ad) Class IIT, IV, V and VI
[UP PCS (Main) 2007]
80. According to the 2001 Census report, female male ratio
in India is : _

(a) 926:1000 (b) 930 : 1000
() 933 1000 ) (d) 934 : 1000
G 40 & ool oen [UP PCS (Main) 2007]

81. Which State of J.nd,1a has the largest Muslim population
according to the 2001 census ?
(a) Assam (b) Bihar
_(e) Uttar Pradesh (d) West Bengal
[UP PCS (Main) 2007]
82. According the following States which one has the h1ghest
sex ratio, according to 2001 census ?
(@) Andhra Pradesh _{b) "Chhattisgarh
(c¢) Himachal Pradesh (d) Jharkhand
[UP PCS (Main) 7007_,’
erowth rate durmg 1991- 2001 is :
(a) “Andhra Pradesh #) Kerala
(¢) Tamil Nadu (d) West Bengal
[UP PCS (Main) 2007]
84. In which year was the first regularCensusheld inIndia ?
ey 1881 (b) 1911 (©) 1921 (d) 1931
€ 2ewd Maje) [UP PCS (Main) 2007]
85. thch one of the following years is known as the “Year of
the Great Divide’ with regard to population, after which
“there has been a continuous and rapid growth in India’s
“population ?
“{a) 1911 Ab) 1921

(¢) 1941 (d) 1951
[UP PCS (Pre) 2009}
86. As per 2001 Census arrange the following States/Union

Territories in descending order of population :

(a) Chandigarh — Puducherry — Sikkim — Mizoram

(b) Chandigarh — Puducherry — Mizoram — Sikkim

A¢) Puducherry — Chandigarh — Mizoram — Sikkim

(d) Puducherry — Chandigarh — Siklkim — Mizoram

[UP PCS (Pre) 2009
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87. The percentage of urban population.in.India according
_ to Census 2001, is :
(a) 208 (b) 25.7 (©) 273 (d) 27.8

[UF PCS (Pre) 2009]

~88 Match List-I (Feature) with List-I (State) and select the

correct answer by using the codes given below the lists:

List-1 List-II

A. Most urbanised State 1. Delhi

B. State having largest urban 2. Arunachal Pradesh
population

C. Most densely populated State 3. Maharashtra

D. Least densely populated 4. Tamil Nadu

State
Code: A B C D
(a) 1 2, 3 4
(b) 4 3 2 1
(c) 3 2 1 4
ALd) 4 3 1 2 [UP PCS (Pre) 2009]

89. Arrange the following States of India in descending order
of their Eopulauon density (200]) Use the codes given
below to select the correct answer :

1. Bihar 2. Kerala
3. Uttar Pradesh 4. ~West Bengal
Codes :

(@ 1,324 (b) 41,32 4) 41,23 () 2,41,3
[UP PCS (Main) 2009]

11teracy rate as per Cem;ug 20012

4a) Chhatisgarh ~ ~ (b) Madhya Pradesh

(c) Rajasthan (d) Orissa [Ur PSC 2005]
91. As per the Census 2001 the most urbanised State of India

18 :

(a) Gujarat

(c) Maharashtra

(b) Punjab
¢d) Tamil Nadu
[Utt. PSC (Pre) 2005]
92. The highest and low opulation
achieved during 1991-2001 was in :
—a) Nagaland and Kerala (b) Mizoram and Kerala
(c) Uttar Pradesh and Kerala (d) Bihar and Delhi
[Utt. PSC {Pre) 2005]
93. What s the correct sequence of the most populous States
of India according to Census data of 2001 ?
“(a) Maharashtra, Madhya Pradesh, Uttar Pradesh
(b) Bihar, Uttar Pradesh, West Bengal
(c) Uttar Pradesh, West Bengal, Bihar
(d) Uttar Pradesh, maharashtra, Bihar Uzt PSC (Pre) 2005]
94. Which of the following is NOT an effect of population
growth in India ?
‘(@) Increase in food

(b) Increase in population

(¢) Reduction in cultivable land
f.(d) Increase in wild life

[Utt. PSC (Pre) 2005, 2006]

95. Which of the following States in India is the smallest in
wterms mﬂpuiqtlon 2
a) Karnataka (b) Madhya Pradesh
(¢) Tamil Nadu &) Orissa [Utt PSC(Pre) 2006]

96. States with the highest and lowest density of population
.in India are respectwely
(a) Uttar Pradesh and Arunachal Pradesh
Ab)” West Bengal and Arunachal Pradesh
(¢) Uttar Pradesh and Sikkim

) West Bengal and Sikkim [MPF PSC (Pre) 2008]
97, ich of the followmg States has the hleracv rate lower

"(a) Karnataka
A¢e)” Andhra Pradesh

West Bengal
(d) Maharashtra
[MP PSC (Pre) 2009]
98. In which State is the female literacy lowest 2
) Bihar "~ (b) Jammu and Kashmir
(c) Rajasthan (d) Orissa [RAS/RTS 2003]
99. The population growth rate in India is :
(a) Increasmg (b) Remaining constant
ey Declining (d) Zero [WEB PSC (Fre)2005]
100,The State with the second largest populationinIndiais :
(a) Madhya Pradesh ) Maharashtra
(c) Uttar Pradesh (d) West Bengal
[WB PSC (Pre) 2008]
101L.Highest density of populatmn (2001 Census) found i in:
(a) Kerala {b) West Bengal
(c¢) Maharashtra (d) Uttar Pradesh
f‘WB P-?C(Pn ) 2008]

(a) Arunachal Pradesh |
_fc) Sikkim

(b) Tnpura
(d) Manipur
[WE F5C (Pre) 7:‘)%“)8}
103.India is regarded as a country with ‘Demographic
Divide’. This is due to :
(a) Its high population in the age group below 15 years
£b) Its high population in the age group of 15-64 years.
(¢) Its high population in the age group above 65 years.
(d) Its high total population. [UPSC 2011]
104,Consider the following specific stages of demographic
_transition associated with economic development :
1. Low birthrate with low death rate
2. High birthrate with high death rate
3. High birthrate with lclw death rate

(@ 1,2,3
&) 2,31

().2,1.3 -

(d) 3,2,1 [UPSC 2012]




146 Objective General Knowledge

;’: Natural Resources of India
(Land, Forest, Minerals etc.)

1. Which State in India is estimated to have the largest coal
reserves in India ?
(a) Bihar
(c¢) Madhya Pradesh

&Y Jharkhand

(d) Orissa
[8SC Grad. 2001; SSC Tax Assit. 2008]
2. Where is the Forest Reserve Institute of India located ?

fay Dehradun (b) Bhopal
(¢) Lucknow (d) Delhi

[SSC Grad. 2003; WB PSC (Pre) 2007; MP P5C (Pre) 2009]
3. Singhbhum is famous for :
(a) Coal
(c) Copper

) Tron
(d) Aluminium
[S5C Grad. 2003]
4. _Sundarbans of Eastern India is an example of :
(a) Forest Ecosystem Aoy Mangrove Ecosystem
(¢) Grassland Ecosystem  (d) Marine Ecosystem
[55C Grad. 2004]
5. Which one among the following is a_‘Hot Spot! for
_biological diversity in India ?
(a) Western Ghat MY Sundarban |
(c) Chilka Lagoon (d) Eastern Ghat
[5SC Grad. 2004]
6. The largest river of Penisular India is :

"(a) Narmada (B Godavari
(c) Mahanadi (d) Cauvery

[55C Grad. Z004]
% Match the Dams and the States in which they are situated:
List-I (Dam) List-1I (State)

A. Tungabhadra 1. Kerala

B. Lower Bhawani 2. Andhra Pradesh

C. Idukki 3. Tamil Nadu

D. Nagarjuna Sagar 4. Karnataka

Code: A B C D

(a) 3 2 4 1

(b) 2 4 3 1

& 4 3 1 )

(d) 1 4 2 3 [S5C Grad. 2004]

8. Which one of the following is the highest gravity dam :
(a) Beas Dam (bj Nangal Dam
{e¥ Bhakra Dam (d) Hirakud Dam
[55C Grad. 2005]
9. What is the longest jrrigation canal India called ?
(a) Yamuna canal (b) S]_rhmd canal
{e} Indira Gandhi Canal
(d) Upper Bari Doab Canal [S5C Grad. 2005]
10. Nuclear energy is a mineral-based energy source. It is_
_derived from:
(a) a) Uranium
(c) Plutonium

(b) Thorium
A4y All of these

[55C Tax Assit. 2008]
11. When was the first National Forest Policy issued by the

_Government of India ?
(a) 1940 (b) 1942 ’(zﬁ' 1952 (d) 1999
[SSC Sec. Off. (Aud.) 2008]
12. Ma]or coalfields of Indiaarelocated.intheriver xalley of :
“Damodar (b) Godavari

(¢) Mahanadi (d) Wardha [scrA 2001]

13. Assertion (A) : Chhotanagpur region has the largest

reserve of coal in India.

Reason (R) : Chhotanagpur is a plateau region.
Codes : .
(a) BothAandR aretrue and Ris the correct explanation
of A
A5) BothAandRare truebutRisnota correctexplanation
of A

(¢) Ais true but R is false
(d) A is false but R is true [SCRA 2003]
14. In India, the State known for its sandalwood is :
4) Karnataka  (b) Assam
(c) Kerala (d) West Bengal
[RRB Bangaluru Technical Trade 2008]
15. The world’s largest Railway Platform is at :
(a) a) Talchar (b) New York
ey Kharagpur (d) None of these
[RRB Bangaluru Technical Trade 2008]
16. Where is the Rail-wheel Factory situated ?
(a) Srirangpattam (b) Gulbarga
(¢) Hampi {d) Yelahanka
[RRB Bangaluru Technical Trade 2008]
17. Which among the following is an international river ?
(a) Brahmaputra (b) Cauvery
(c) Krishna (d) Narmada
(e) Mahanadi [SBI Clerk 2008]
18. The Government of India has decided to declare which
of the following rivers a “National River’ ?
La) Ganga = ) Yamuna
(c) Brahmaputra (d) Kaveri
(e) None of these ) [Canara Bank PO 2009]
19. Gold Mines in India are lucated ma_mly at:

(»er) Kolar

(b) Raniganj
(c) Jadugoda (d) Veeranam
(Q‘) None of these [Canara Bank PO 7009]
20, The Buckingham Canal, which has been declared a
National Waterway 'of India recently, is a canal running
from :
(a) Punjab to Haryana (b) Mumbai to Goa
£y Vijayawada to villupuram
(d) Cochin to Kozhikode
(e) Kanyakumari to Rameshwaram
[Indian Overseas Bank PO 2009]
21. Among the f_ollowmg rivers which one is the la_rgest ?
4a)’ Godavari (b) Krishna
(c) Narmada (d) Yamuna [CDS 2003]
22. Which one of the following is_the central theme of the
Chipko Movement, started by Sunderlal Bahuguna in
19737
(a) Conservation of river water
(b) Protection of birds
(c) Protection of cheetals
{d) Conservation of forests
23. The Korba coalfield is located in :
(a) Orissa @) Chhattisgarh
(c) West Bengal (d) Assam
[44th BPSC 2001]

[CDS 2010]
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24, Thenational forest policy aims at -maintaining howm uch
of the total geographical area under forests :
(a) Half ~4B) One-third
(c) One-fourth (d) One-fifth
[UP PCS 2002]
25. Theminimum forestcoverto maintain ecological balance
in the plains is :
(a) 250/0
(©) 40%

@) 33%
(d) 50%
[MP PSC (Pre) 2009]

26. The ‘Red Data Books’ published by the International
Union for Conservation of Nature and Natural Resources
(IUCN) contains lists of :

1. Beconomic plant and animal species present in the
biodiversity hotspots

+2. Threatened plant and animal species

3. Protectedsitesforconservationof Nature and natural
resources in various countries ’

Select the correct answer using the codes given below :

(a) Tand3 _(b) 2only (c) 2and3 (d) 3 only

[UFSC 2011]

=6. Infrastructure
(Energy, Transportantion, Communication etc.)

1. When was the first train steamed off in India ?
(@) 1848 ~ 4b) 1853  (c) 1875 (d) 1880
[55C Grad 9;')0-7;
'fb') Dal]eelmg
(d) Chennai
[8SC Grad. 2002]

3. Which is fastesgmnnmg trainonlndian railways ?
(a) Mumbai— Goa Superfast Express

(b) New Delhi — Lucknow Shatabdi Express
#4c) New Delhi — Mumbai Rajdhani Express
(d) New Delhi — Chandigarh Shatabdi Express
[85C Grad. 2003]

(a) Kolkata
(c) Mumbai

of t gll_ggqntryJ
@) Ajmer (b) Ahmedabad

Ae) Jabalpur (d) Gaya [55C Grad. 2003]
Which of the following towns is NOT on the Golden
Q_«udnlateral bemg created for the roads- __,U;lfrastmcl:ure
of the count

(a) “(a) Chennai

(c) Visakhapatmam

w

{b) Hyderabad
(d) Bhubneshwar
[SSC Grad. 2003]

6. Which of the following is correctly matched with regard

to thermal_Eower projects ?

"(a) Korba — Uttar Pradesh

(b) Ramagundam — Tamil Nadu

(¢) Talchar — Andhra Pradesh

Ad) Kawas — Gujarat [85C Grad. 2004f
;“‘/Match the dams and States in which they are situated :

Dam State
A. Hirakud 1. Chhattisgarh
B. Mettur 2. Orissa
C. Mahanadi 3. Karnataka
D. Almatti 4. Tamil Nadu
Code: A B 0 D
(a) 3 2 4 1
b) 2 4 1 3
() 1 3 2 4
(d) 4 1 3 2 [55C Grad. 2004]

8. The Tehri Hydro Power Complex is located in the State
of:
«a) Uttarakhand (b) Uttar Pradesh
(c) Himachal Pradesh (d) Sikkim [SSC Grad. 2006]
9, Which of the following produces maximum crude
petroleum in India at present ?
(a) Assam (b) Gujarat
) Off—shore Bombay High (d) Coastal Tamil Nadu
[S5C Sec. Off. (Aud.) 2007]
10. Wl-uch or{/ of the following is ah abiotic and renewable
resource ?
(a) iron ore

(b) livestock (&) water (d) forests
[S5C Grad. 2008}
11. Which kind of power accounts for the largest share of

power generation in India ?

(a) hydro-electricity "TAb) thermal

(c¢) nuclear (d) solar

[58C Grad. 2008; UP PCS (Main)} 2008]

12. The train service Thar Express between India and

Pakistan, originates in India_ from :

(@) Jaisalmer (b) ]odhpur (c) Bikaner £&d) Barmer
[SSC Tax Assit, 2009]

13, Which one of the following National Highways is the
]cmgest ?
LT NH-7 (d) NH-15
[SCRA 2005]

(a) NH-2
14. The money which Government of India spend% on the

_development mfrastrucl'ure in_country comes from
which of the fo]_lowmg sources ? [Pick up the correct
staterment(s).]

~17' Loan from World Bank/ADB etc

AT’ Taxes collected from the people

HT. Loan from RBI
(a) OnlyI

(c) NH-8

(b) Only I
(c) Only III (d) BothTand I
4e) AL ITand I [SBI Associated Bank Clerk 2008]
15. Which of the following sectors is NOT considered
‘Infrastructure Sector’ 7
Aa) Software
(¢) Petroleum
{d) Power generation

(b) Cement
(d) Steel
[SBI Clerk 2008]
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20.

5

23.

Objective General Knowledge

6. Which of the following programme is launched to
develop ‘basic infrastructure in the c country ? /2

(@ Bharat Nirman Programme

(b) Technical Mission

(c) Special Economic Zones

(d) National Rural Employment Guarantee Act

(e) None of these [Bank of India Clerk 2008]

. Many times we read in financial newspaper about the

performance of the Core Sectors in Economy. Which of
the following is NOT included in the core sector of the
same 7
(a) Coal
(c) Steel
(d) Oil and petroleum sector

{8y Auto sector [SBI Clerk 2009]
Which of the following programmes was launched in

2005 - 06 6 for r creating infrastructure and basic amenities
“In rura Earts of our country ?
(@) Janani Suraksha YO]&I'I;Y (b) Sarva Siksha Abhiyan
(c) National Rural Employment Guarantee Scheme
(d) Swarnjayanti Shahari Rozagar Youjana
fey Bharat Nirman Programme [SBI Clerk 2009]
The Government of India recently decided to create a
it pLL]_flC Fmancmg Wmdow forits ‘Mega Bharat Nirman
Lrogramme’. This specificfinancingwindow will operate,
Jthrough :
(a) SIDBI
(c) SBI
(d) A group of selected Co-operative Banks
(e) None of these
[Bank of Maharashtra Specialist Officer 2(0006]
Which of the following is a programme under wluch
electrlcg_omechon}i giventope N‘Rlebel'g_wpovertylme ?
(a) MPLADS £b)y Kutir Jyoti
(c) Ganga Kalyan Yojana (d) Sangam Yojana
(e) None of these
f(,'nrpm‘arfnn Bank PO 2006; LIC ADO 2007]

(b) Cement

(k) NABARD

(a) Irr1gat10n (b) ‘Rural electr].ﬁcatlon
(c) Drinking water supply (d) Rural housing
_{e) Computer education in schools
[Andhra Bank PO 2006]
_TRAIL the name which we read _very often in the
of the fo]_lowmg sectors 3 "
(a) Transport
(c) Technical Education
(e) None of these
[Andhra Bank IT Officer 2007; Bank of India Clerk 2008]
The Finance Minister of India recently made a mention,

(b) Travel and Tourism
() Telecom

E-M Tnfrast tructure Devclopment inIndia shou]d be d(me
on PPP mnde only. What is the fu.ll form of PPP ? '
@) Public Private Partnership

(b) Purchasing Power Parity

(c; Purchase Produce Provide

(d) People’s Programme and Priority

(e) None of thSL. ,Mndh ra Bank PO ?Ur?'/,f

two qtatl_ons 2.

25,

26

o)
3

- () None of these
28. As per the newspaper reports, the Govemment of India

29,

«a) New Delhi — Lahore
(c) Amritsar — Wagah (d) Amritsar — Lahore

(e) New Delhi — Islamabad [Andhra Bank PO 2007]
Bharat Nirman Programme does not cover which of the
Eilowmg areas ?

(a) Rural housmg

(c) Irrigation facilities

(b) New Delhi — Wagah

(b) Rural water supply

4y Rural Employment
[Indian Overseas Bank PO '*‘f?(.FG/

the same in India. V\Fhat is the full forrn of ¢ G’ in 3G ?
(a) Global = {b) Generation

(c) Growth (d) Gravity

(e) None of these [United Bank of India PO 2009]

. The facility which allows mobile subscribers to switch

from one service providet.to.another without changing
their mobile number is known as Mobile Number ......
(a) Promatability (b) Protectability

(¢) Portability (d) Permeability

[Andhra Bank PO 2009]

made an auction of the third Generation (3(}) Spectrum

Tecently. Which of the following ministries was actively

_mvolved in the process ?

(a) Ministry of Heavy Industries

(b) Ministry of Science and Technology

(c) Ministry of Commerce

(d) Ministry of Foreign Affairs

() Ministry of Communication and Information
Tchnology [SBI PO 2010]

Which of the following is/ are considered a Renewable

Source of energy ? o

= Wind Energy
(2’ Solar Energy
Nuclear Energy
(a) Only 1 (b) Only 2
(c) Only3 4d) Only 1 and 2
(e) All1l,2and 3 [Central Bank of India PO 2010]
30. ThelIndian Railwaysisin the process of purchasing Bullet

1.

32

Train Technology from which of the following nations ?
(a] France (b) China (c) Japan
(d) Russia (e) Spain [Corparation Bank PO 2010]

Which one of the following was I_:hﬂe Chairman_of the

.,.E.J:Qducts_ =
(a) Raja]. Chelliah
(c) Y.V.Reddy

k) C.Rangrajan
(d) Abid Hussain

[CDS 2007]
Which one of the following is the olc;est oil nefmerx__.n

JAndia ?,
{a) Digboi (b) Koyali
(¢) Haldia (d) Mathura [jCDS z008]

. Which one of the  following Committees / Commissions

was formed to study and_ suggest pricing for oil and
_ natural gas sectors in India ?

(a)y B.K. Chaturvedi Committee

(b) Sachar Committee

(¢) B.N. Srikrishna Commission

(d) M. Veerapa Moily Commission

[CDS 2009]
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34. The concept of sustainable development relates to :
[a) Consumption levels (b) Exhaustible resources
~ke) Intergenerational equity (d) Social Equity [CDS 2010]
35. Which is NOT the Economic Infrastructure ?
(a) Roads (b) Railways
{c)- Education and Health (d) Power [46th BPSC 2004]
;ﬁﬁ The first electric train (Deccan Queen) of India.was run
-bebyeens
«@) Kalyan and Pune (b) Mumbai and Surat
() Howrah and Delhi (d) Delhi and Chennai
37. dhe Rural Infrastructure Fund set up in _1995-96, is
~maintained by the :
(a) Reserve Bank of India (b) State Bank of India
_{e)y National Bank for Agriculture and Rural Development
(d) Regional Rural Bank JUP PCS (Main) 2004]
38. Bharat Nirman Scheme of the UPA Government does
DNOT include :
(a) Rural Water Supply Project
(b) Irrigation Benefit Programme
(¢) Rural Electrification
+d) Sarva Siksha Abhiyan
39. Consider the following statements :
1. Prime Minister Dr. Manmohan Singh launched the
Jawahar Lal Nehru Urban Renewable Mission in

[UP PCS (Pre) 2006]

. December 2005.
2. The Mission will have a initial corpus of ¥ one lakh
carore,
3. Initially only 28 State capitals will benefit from the
Mission.

4. The Mission aims to provide food for work to the
urban poor.
Which of the above statement (s) is/ are correct ?
(a) 1and 3 only «b) 1and 2 only
(¢) 1,2 and 3 only (d) All the four
[UP PCS (Pre) 2006]
40. Bharat Nirman Programme envisages the creation of :
(a) 10 million additional job during 2008-09
k) 10 million hectares of additional irrigation during
2005-09
(c) 1 lakh kilometres of rural roads during 11th Plan-
(d) LT. Park in all districts of the country during 11th
Plan [UP PCS (Main) 2006]
41. Which of the following is NOT a component of Bharat
Nirman Programme ?
—a) Agro-based industries
(c) Rural housing

(b) Rural electrification
(d) Rural telephony
[UP PCS (Main) 2008]
42. Which of the following is NOT covered under ‘Bharat
Nirman ”* ?
(a) Rural Housing
(c) Rural Water Supply

by Rural Hospitals
() Rural Electrification
[UP PCS (Main) 2008]
43. Which of the following items of works are included in
Bharat Nirman ? Find your answer with the help of given
codes.
1. Accelerated irrigation benefits programme
2. Inter-linking of River Projects
3. Scheme for repair, renovation and restoration of
water bodies :
4. Rhabiliation of displaced persons due to irrigation
projects

44,

45.

46.

47.

49,

50.

51.

52.

53.

149

149

Codes :
(a) 1and 2 only

(b) 1,2 and 4 only
4c) 1,2 and 3 only

(d) All of these
[UP PCS (Pre) 2009]

The nodal agency for implementating the ‘Rural
Infrastructure. elopme nd Pro s’ is:

(ay» NABARD (b) State Bank of India

(c) State Co-operative Bank (d) Reserve Bank of India
[UP PCS (Main) 2009]

Bharat Nirman Yojana is related to :

Ja) Infrastructure development

(b) Foodgrain production self sufficiency

(¢) Family Welfare programme

(d) None of these

[Utt. PCS (Pre) 2006]

Bharat Nirman includes :

1. Bringanadditional onecarorehectaresunderassured
irrigation

2. To provide road connectivity to all villages that have
a population of 2000

3. To give telephone Connectwlty to the remammg
villages

Select the correct answer from the codes given below :
Codes :

(a) 1and 2 are correct
(¢) 2and 3 are correct

) 1 and 3 are correct
(d) None of these
[MP FSC (Pre) 2008]
Bharat Nirman Plan is associated with developmentof :
(a) Urban infrastructure {b) Rural infrastructure
(c) Information Technology (d) Bridges arld Roads
[RAS/RTS 20077
.. is NOT a Nuclear Power Centre
(a) Narora ) Kakrapara
(o) Chamera (d) Kota [WB PSC(Pre)2007]
Hydel power potential is the highest in case of ......
(a) Brahmaputra basin (b) Ganga basin
(c) East flowing rivers of South India
4d) West flowing rivers of South India [WEB PSC(Pre) 2007]

The Oil and Natural Gas Commission (ONGC) was-set
upin: ’
L(a) 1956 (b) 1957 (c) 1959 (d) 1961

[TN PSC (Pre) 2009]
With which one of the following has the B.K. Chaturvedi
Committee dealt ?

(a) Review of Centre-State relations

(b) Review of Delimitation Act

(c) Tax reforms and measures to increase reventies

{e) Price reforms in the oil sector [UFPSC 2009]

Which one of the following brings out the publication
called ’Eneggv Stahshcs from time-to-time ?

(b) Planning Commission
(¢) Power Finance Corporation Ltd

(d) Central Statistical Organisation WPSC 2{309,?

conshtuted ?

(a) To study the current socio-economic conditions of
certain minority communities

{b) To suggest measures for financing the development
of infrastructure

(c) To frame a policy on the production of genetically
modified organisms

(d) Tosuggest measures to reduce the fiscal deficit in the
Union Budget [UPSC 2009]
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54. In the context of India’s Five Year Plans, a shift in the
pattern of industrialisation, with Tower emphasis on
heavy industries and more on infrastructure begins in :

~.(b) Sixth Plan

(a) Fourth Plan
(c) Eighth Plan (d) Tenth Plan [UPSC 2010]

55. Despite having large reserves of coal, why does India
import millions of tonnes of coal ?

1. Ttis the policy of India to save its own coal reserves

for future, and import it from other countries for the

Education Keeda

present use.

2. Most of the power plants in India are coal-based and
they arenotable to get sufficient supplies of coal from
withing the country.

3. Steel companies need large quantity of coking coal
which has to be impaorted.

Which of the statements given abvoe is/are correct ?

(a) 1only ~b) 2and 3 only

(c) 1and 3 only (d) 1,2and 3 [UPSC 2012]

—7. Social Sectors
(Poverty, Unemployment, Development & Employment Programmes,
Population Growth, Human Development etc)

1. Structyral unemployment arises due to :
(a) Deflationary conditions (&) Heavy industry bias
(c¢) Shortage of raw materials

(d) Inadequate productive capacity [8SC Grad. 2000]

2. The standard of living in a_country. is.represented by
ne s

(a) Poverty Ratio
(c) National Income

() Per Capita Income
(d) Unemployment Rate
[S5C Grad. 2001}
3. Which plan gave emphasis on removal of poverty for the
first time ?
(@) Fourth _(by Fifth

(c) Sixth (d) Seventh
[85C Tax Assit. 2008]
4. NREGP is-the abbreviated form of :
(2} National Rural Employment Guarantee Programme
(b) National Rural Educational Guarantee Programme
(c) National Rapid Educational Guarantee Programme
(d) National Rapid Employment Generation Programme
[85C Tax Assit. 2008]
5. When was the Jawahar Rojgar Yojana launched ?
(@) 1985 (b) 1987  4c) 1989 {@y 1991
[55C Sec. Of. (Aud.) 2008]
6. Which is NOT the objective of I Public Procurement and
Distribution System followed by Indian Government ?
(a) Maintain price stability through creation of buffer
stocks
(b) Protect the interests of both consumers and poor
farmers ;
4e) Control the production of food grains
(d) Reduce personal and regional inequality in the
distribution [85C Sec. Off. (Aud.) 2008]
7. Asituation where we have people whose level of income
is not sufficient to meet the minimum consumption
—expenditure is considered as : '
&) Absolute Poverty (b) Relative Poverty
(c) Urban Poverty (d) Rural Poverty
[55C Tax Assit. 2009]
8. _Nature of unemployment in agriculture in India is :
Ad) seasonal Ab) disguised
fe) ‘both'a' and 'b' (d) None of these
[8SC Tax Assit. 2009]

9. Which one of the following types of unemployment is
common in Indian agriculture ?
+a) Seasonal = o) Disguised
(¢) Frictional (d) Structral
[55C Tax Assit. 2009]
10. The implementation of Jawahar Rojgar Yojana rests with :
Aa) Gram Panchayat (b) District Collector
(c) State Government (d) Union Government
[SSC DEO 2009]
11. The Government has renamed NREGA-scheme and the
name associated with the scheme is that of :

@) Rajeev Gandhi (b) Indira Gandhi
(d) Jawahar Lal Nehru

@) Mahatma Gandhi
[S5C Sec. off. 2010]

12. InIndia, the Community Development Programme was
_started on :

&) October 2, 1952
(c) October 2, 1959

(b) October 2, 1957
(d) October 2, 1961
[Bihar 55C LDC 2005]
13. Community Development Programme was_initiated
primarily to : R
(a) to bring development among people by raising the
literacy level
Ab) bring about overall development of the village
through self-help
(c) increasing the control of the masses over the locally
available resources
(d) increase agricultural
mechanised farming
14._Consider the following indicators :
A Life expectancy at birth #. Adult literacy rate
II. Infant mortality rate

Which of these are taken into account while preparing

evelopment Index in India ?
(ay Tand IT : (b) Iand III

(c) IIand III (d) I Il and I/SCRA 2000]

15. The principle objective of the-Sarva Shiksha Abhiyan
of the Ministry of Human Resource Development is fo~
provide :

production  through

[SCRA 20007

(b) elementary education to all the girls
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(c) elementary education to all the minority groups
(d) elementary education to all in the North-Eastern
States of the country JSCRA 2003]

16. _Mid-Day Meal is a scheme to Frowde nutrious food to :

“(a) those faking freatment in I

b))
(©)
(d)
(e)

school going children
daily wage employees/labours
labours engaged in jobs in unorganised sectors
girls who are residing in girls/ youth hostels
[Bank of India Clerk 2008]

17. Sarva Siksha Abhiyanisaimed at the education of which

of the following 7_
(a) Engineering and techmcai education
(b) Education of girls upto graduation level
(c) College education (d) Adult education
<y Education of children between 6 - 14 years
[Bank of India Clerk 2008]

18. Which of the following is true about the National Rural

Employment Guarantee Act (NREGA) ?

1. TItis applicable in 100 rural district.

2. It gives a guaranteed employment of 100 days at
all those who are eligible for the same and are also
willing to take it.

3. This act is applicable only, for men between the of
21-65. Women do not get the benefit of the same.

(a) only1 b)) only2 (c) only3

(d) All1,2and 3 (e) None of these/SBI Clerk, BOI PO 2008]

19. Whichof thefollowingschemes waslaunched to Eromote

asic education in India and attract children in school
gong age to at atterld the classes 2
“{a) Pulse Polio Abhiyan (b) Operation Flood
~c) Mid-Day Meal Scheme (d) Operation Black Board
(e) N one of these [ SBI Clerk 2008; Bank of India PO 2008]

scheme 1 aunched by the Govelnmcnt cf Inl:ha 7
(@) Indira Awas Yojana (b) Kutir Jyoti

() Operation Black Board (d) Mid-Day Meal Scheme

£e) Look East Policy [SBI Clerk 2009]

21. Which of the following schemes was launched to provide

cooked food to school going children in Indiaso that they
are motivated to come to school regularly ?
{a) Right To Education “(b) Food for Work Scheme
~fc) Mid-Day Meal Scheme (d) Annapurna Scheme

(e) None of these [United Bank of India Clerk 2010]

22. Whichofthefollowing programmesisbeingimplemented

by the National Bank for Agricultural and Rural
Developrnent (NABARD) ?

(a) Prime Minister's Rojgar Yojana (PMRY)

(b) Swarnjayanti Gram Swarojgar Yojana (SG5Y)

(c) District Rural Industrial Project (DRIP)

{d) Rural Employment Generation Programme (REGF)
(e) None of these fCentral Bank of India PO 2006]

23. The Mid-Day Meal Scheme has been launched by the

Umon er of :
(a) Home Affairs (b) Social Welfare
{e) Human Resource Development

(d) Rural Development (e) None of these
{10B PO 2006]

24. STEP is the abbreviated name of the welfare programme

Tohelp:

() Women
(d) Senior Citizens (e) Ex-Servicemen

(c} Farmers
JIOB PO 2006]

25.

26.

29,

30.

1

33.

151

Which of the following represents T in t the abbreviation

_IRDP? =T

L) Integrated (b) Indian (c) Insurance

(d) Important  (e) Internal [LICADO 2007]

Which of the following is_the scheme for which entire

Erem_lum of the assured person is pald b}_f the Central_
overnment ?

(a) Swarnjayvanti Gram Swarojgar Yojana

(b) Jawahar Bima Yojana (g Shiksha Sahyog Yojana

(d) Krishi Shramik Samajik Suraksha Yojana

(e) None of these [UC ADO 2007]

m India ?
(a) DRDO
4d) NWDPRA

(b) CARE
(e) None of these

() AVARD

{('JB(' PO 2008]
hfe expectancy level of 1 I%eraw, edug@_ﬁon and standard
of living of peggl_gm  country ? =
Tay Inflation (D) Sensex (c¢) SLR
£d) Human Development Index (HDI)
(e) None of these [Vijaya Bank PO 2008]

Which ofthe following schemesis designed and launched
to improve the living standards of urban poor ?

1. Accredited Social Health Activist (ASHA)

2. Janani Suraksha Yojana (JSY)

3. Valmiki Ambedkar Malin Basti Awas Yojana (VAMBAY)
(a) Only 1 (b) Only 2 (c) Only3

(d) All1,2and 3 (e) None of these [UBI PO 2008/
Which of the following is NOT a social sector programme
of the Government of India ? s T

(@) Mid-Day Meal Scheme (b) Sarva Siksha Abhiyan
(c) National Rural Health Mission

(d) Integrated Child Development Services
4e) Look East Policy [Union Bank of India PO 2008]
As per the recent reports published in ‘newspapers / /

magzines, India ranks at a lower leve] in Hunger I:ndex

indicators ?
1= No. of people who are calories-deficient
27 Child malnutrition

37 Rate of child mortality
(a) only1and 2
Ac) only 1,2 and 3

(e) None of these

4. Rate of literacy

(b) only 3 and 4

(d) All1,2,3and 4
[Canara Bank PO 2009]

L

. Which of the following schemes launched by the

Government of India provides a guaranteed 100 days
employment to rural employment-seekers in India ?

(a) Bharat Nirman

(b) Swarnajayanti Grameen Rojgar Yojana

£e) National Rural Employment Guarantee Act

(d) National Food for Work Programme

(e) None of these [Canara Bank PO 2009]

Which of the following two programmes are the parts

of the National Social Assistance Programme of the

Government of India ?

1. Indira Awas Yojana & Pradhan Mantri Gram Sadak
Yojana

2. National Food for work & Mid-Day Meal Scheme

.37 National Old Age Pension Scheme & National Family

Benefit Scheme

(a) Only 1 (b) Only2 4e) Only 3

(d) Bothland2 (e) Alll,2and3 [Canara Bank PO Z2009]
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tackle special problems faced by those areas which are
_affected by drought conditions frequently ? i
17" Desert Development Programme
—2 Drought Prone Areas Programme
=3 Watershed Development Programme
(a) Only 1 (b) Only 2 (c) Only3
(d) Bothland 2 ey’ All1, 2 and 3 [Canara Bank PO 2009]
35. Many times we see in newspapers that some projects are
launched by the government authorities on PPP' basis.
VWEAT 15 The fiall o PP g o it
(@) Preferential Payment Plan (b) Public Private Partnership
(c) Partial Payment Project (d) Popular Private Project
(e) Public Private Plan . fIndian Overseas Bank PO 2009]
{é;f Which of the following schemes is NOT a part of National
“  Social Assistance Programme ?
1. National old Age Pension Scheme
2. National Family Benefit Scheme
~87 Services for the Poor Programme
(a) Only 1 (b) Only 2 ~Ac) Both1and2
(d) Both2and 3 (e) None of these .
[Andhra Bank Marketing Associate 2009]
37. Which of the following is NOT a social __Er_qg;_"gg_\_éz
launched by the Government of India ?
(a) Sarva Shiksha Abhiyan (b) NREGA
(c) Mid-Day Meal Scheme
(d) National Rural Health Mission
(&) Overseas Indian Citizenship Scheme
! [Andhra Bank Marketing Associate 2009]

38. Which of the following is the name of the organisation,

created to provide full emiployment and self- refiance to
the women folkin India 2~ T =

(@) OECD by Rosca (c) SVP
{d) USO 4e) SEWA [RBI Crade B Officer 2009]

39. Which of the following organisations/agencies is
specifically set up to boost overall rural development in
India? '
&) RBI (b) SIDBI {cy NABARD
(d) SEBI (e) None of these [NABARD Bank 2010}
40. Whichofthefollowingministrieshaslaunched Integrated
Wastelands Development Programme (IWDP) ?
(a) Ministry of Rural Development
(b) Ministry of Agriculture
~€) Ministry of Chemical and Fertilizers
(d) Ministry of Health and Family Welfare
(e) None of these [Syndicate Bank PO 2010]
41. Food for Work Programme’ was introduced during
which one of the following Five Year Plans ?
(@1 (b) I 40) V (d) 1X
[NDA 2000]
42. Annapurna Scheme launched by the Government of
India from April, 2000 was meant to provide food security
tothe:—
"(a) Rural poor living below the poverty line
(b) Urban slum-dwellers living below the poverty line
(¢) Senior citizens not covered under National Old Age
Pension Scheme
A&) Victims of natural calamities who are forced to
migrate to other areas [CDS 2002]
43. Consider the following :
1. Per Capita Income 2
3. Adult Literacy Rate
4. Gross enrolment ratio for schools

Life expectancy at birth

Which of the above is/ are the parameters for the measurement

of Human Development Index (HDI) by UNDP ?

(a) 1only (b) 2and 3

(c) 1,2and 3 k) 1,2, 3 and 4/CDs 2005]

44. Consider the following statements ;

1. Indira Awas Yojana seeks to provide shelter to rural
household living below the poverty line.

2. Allotment of house under Indira Awas Yojana is
made only in the name of female member of the

household.
Which of the statements given above is/are correct ?
4a) 1 only (b) 2only
(c) Both1land?2 (d) None [CDS 2005]

45. What is Vande Mataram Scheme ?
(a) Ascheme to encourage youth to join defence forces
b) Aninitiative in public-private partnership to reduce
maternal mortality
() A new strategy included in the revised family
planning programme to put emphasis on saving
pregnant wonien from HIV / ATDS
(d) A scheme sponsored by the Union Government to
provide old age homes to the destitute and poor old
women [CDS 2006]
46. Consider the following :
1. Indira Awas Yojana
2. Swarnjayanti Gram Sadak Yojana
3. Pradhan Mantri Gram Sadak Yojana
4. Sampoorna Grameen Rojgar Yojana
Which one of the following is the correct chronological
order of the above Yojana ?
@ 1,234 () 2,1,3,4 (¢) ,L,2,4,3 (d) 21,43
[CDS 20077
47. The major thrust of Jawahar Rojgar Yojana (JRY) is on :
(a) providing training to rural youth for self-employment
4b) creating additional wage employment opportunities
in rural areas
(c) creating employment opportunities in urban areas
(d) removal of poverty among the Scheduled Castes in
rural areas [CDS 2010]
48. Main objective of IRDP is :
(a) Export Promotion (b) Banking Reforms
¢) Rural Development and Poverty Alleviation
(d) Sound Fiscal Management [45th BPSC 2002]
49. Relative Poverty refers to :
(a) bankruptcy (b) trade cycle
() minimum needs of life {d) economic inequalities
[45th BPSC 2002}
50. Which one is NOT a component to construct Human
Development Index in India under UNDP (United
Nation Development Programme) ?
(a) Real GDP per capita in US Dollar
(b) Literacy Rate (c) Life Expectancy at Birth
fd) Infant Mortality Rate [46th BPSC '2004]
51. Which one is NOT the component of the Pradhan Mantri
‘Gramodaya Yojana 7 )
(a) Elementary Education (b) Primary Health
(¢) Rural Road Ad) Nultrition /45 BPSC 2004]
52. Which is NOT included in Social Infrastructure ?
(a) Education (bY Telecommunication
(c) Housing (d) Health /46th BPSC 2004]"
53. Swarnfayanti Gram Swarojgar Yojana came into being in :
(a) April, 1995 “(b) April, 1997
{2y April, 1999 (d) July, 2001 [LIP PCS 2002]
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54. Intake ofless than undernoted average daily calories per
person “has bee been defmed as the Poverty L:Lne in urban
areas by the T Plannmg Commission of India:

) 2100 ""(by 2400 " (&) 2700

(d) 3000
[UP PCS 2003]
&5’; Match List-1 withList-11 and select your answer from the

code given below :

List-T List-1I
A. Swajal Dhara Yojana 1. Rural water supply
B. Hariyali Yojana 2. Watershed management
C. Swarnjayanti Gram 3. Rural self-
Swarojgar Yojana employment
D. Pradhan Mantri Gram 4. Rural connectivity
Sadak Yojana
Code: A B & D
Ja) 1 2 3 4
(b) 2 1 3 4
(c) o 1 4 3
(d) 1 2 4 3 [UP PCS (Pre) 2004]
56. In which Five Year Plan, the main objective was the

_eradication of poverty ?
“{a) Tourth Five Year Plan
(c) Sixth Five Year Plan
(d) Seventh Five Year Plan [UP PCS (Pre) 2004]
57. The Prime Minister Gramodaya Yojana does NOT include :
(a) “Basic education
(b) Nutritious food, drinking water and health
(c) Rural roads and housing
_Ad) Small scale industries [UP PC5(Pre) 2004)
5. District Primary Education Programme was initiated in
the year: / DPE P
(@ 1991 ¢ _(b) 1994

59. Disguised employment refers to:
(a) persons with no job
(b) unemployment among housewives
(c) unemployment among people above 60 years of age
Ad) employment of more persons in a job which lesser
number of persons can accomplish
[UP PCS (Main) 2004]
60. In terms of Human Development Index the most

(b) Fifth Five Year Plan

(©) 1996 (d) 1999
[UP PCS (Main) 2004

‘developed State of India s ;..
_{a) Kerala (b) Punjab

(¢) Tamil Nadu (d) Uttar Pradesh
[UP PCS (Main) 2005]
61. .The Chairman of the National Knowledge Commission
S
(a) ‘Rahul Gandhi

(¢) M.S.Swaminathan

(b) Rahul Bajaj
(d) Sam Pitroda

[UP PCS (Main) 2005]
62. Under the National Rural Employment Guarantee
number of days for w rich employment

(a) 90 days {b) 100 days (c) 120 days (d) 180 days
[UP PCS (Main) 2005]
63. Which one of the following pairs is NOT correctly matched ?

Scheme Commencement Year
(a), TRYSEME - - cenesi August, 1979
(b) NREP  ...... October, 1980
A EY 1001w April, 1995
(d) SGSY ... April, 1999 [LIP PCS (Main) 2005]

64. Consider the following statements and select the correct
answer using the code given below :

Assertion (A) ; Educated unemployment increases
with high rate of economic growth.
Its happens only when there is lack of

professional education.

Reason (R)

Codes:
_(a) Both Aand R aretrueand Ris the correct explanation
of A
(b) BothAandRaretruebutRisnotacorrectexplanation
of A
(c) Adis true but R is false
(d) Ais false but R is true [UP PCS (Pre) 2006]
65. Select the one which is NOT the responsibility of Gram
Sabha under the ‘Rural Employment Guarantee Act,
2005 :
(a) To recommend projects to the Gram Panchayat and
prepare list of possible works
~b) To receive applications for work and issue a rated
receipt
(¢) To monitor the execution of works within the Gram
Panchayat
(d) To conduct regular social audits of all the projects
taken up within the Gram Panchayat
[UP !’C’“ ( Pre) 2006]

J.a) Agncultural sector
(c) Service sector

(b) Industrial sector
(d) Trade sector
JUP PCS (Main) 2006]

67. Who among the following developed the concept of

Human Developmenﬁndex Z

“(a) Amartya Sen (b) A.S.Kadir
(c) Alva Myrdal (d) Mehboob-ul-Haq
[LIP PCS (Main) 2006]

68. The National Rural Employment Scheme was launched

throughout the country from :
@) 1-4-2007 (b) 2-10-2007
(c) 14-11-2007 (d) 142008

[UP PCS (Main) 2006]
69. Mid-Day Meal Scheme was launched in 1995 to promote :
(a Adult I1teracy R Secomlary ‘education
Universalization of primary education
(d) None of these [UP PCS (Main) ";‘,'?Rj

.

_(,5-} Promote inclusive growth
(b) Guarantee 100 days employment in a year to every
adult member of a rural household
(c) Enhances livelihood security to rural households
(d) Guarantee wage employment [I/P PCS (Main) 2005]
71. _&vﬂar_&aﬁymn Gram Swaro] gar Y0]a11a was started in the
year:.

“a) 1999 (b) 2000 (c) 2001 (d) 2004
[LIP PCS (Main)} 2008]
72. National Rural Employment Guarantee Scheme was
Taunched in 1
“(a) 100 Districts

(c) 330 Districts

4b) 200 Districts
(d) All the Districts
[UP PCS (Main) 2008]
73._Mid-Day Meal Scheme was started in the year :
_{a) 1995 (b) 1996 (¢) 1997 (d) 1998
[UP PCS (Main) 2008]

74. National Rural Health Mission (NRHM). was launched

_intheyear:
(e 2005 (d) 2006

(a) 2003 (b) 2004
[UP PCS (Main) 2008]
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75. While calculating HDI, the maximum value for Life
‘Expectancy at birth (years) are taken as :
“(a) 100 and 25 (b) 90 and 30
_te) 85and 25 (d) -80 and 20 [UF PCS 2005]
76. Poverty level in India is established on the basis of :
(@) Per capita income in different States
(b) House-hold average income
_{e) House-hold consumer expenditure
(d) Slum population in the country [UP PCS (Main) 2009]
77. Which one of the following is NOT a constituent of
Human Development Index (HDI) ? o
“{a) Per Capita Income " (b) Life Expectancy at Birth
(c¢) Gross Enrolment Rate ) Health and Nutrition
[UP PCS (Main) 2009}
76, Mid-Day Meal Scheme is financed and managed by :
TETT"&;% and Civil Supply Department of State
Governments
(b) Department of Consumer Affairs and Welfare
() Ministry of Programme Implementation
ALé) Ministry of Human Resource Development
[UP PCS (Pre) 2010]
79. Which of the following is NOT included in Human
Development Index (HDI),? 7
“(a) Life Expectancy (b) Real Per Capita Income
40) Social Inequality (d) Adult Literacy
[MFP PSC (Pre) 2005]

0. Scheme of Mid-Day Meal is NOT connected with :
(a) Educational advancement (b) Social equity
_{e) Right to food (d) Child nutrition
[MP PSC (Pre) 2009]
81, The programme announced by the Prime Minister for
_the minorities in India is called :
(a) Antyodaya Programme '(b) 20 Point Programme
~(c) 15 Point Programme
(d) Prime Minister Rojgar Yojana [CPSC (Pre) 2008]
2. National Rural Employment Guarantee Programme is

different from other employment programme, because :

(a) Itisalso applicable in urban areas

(b) There is guarantee of 200 days employment in a
tinancial year

(c) Employmenttobegivenwithin30daysofapplication

tor work
«£d) It is not a plan for employment but legal guarantee
to work [RAS/RTS 2007]

v
5]

33. 'When was the concept of the Human Development Index
(HDI) introduced by the United Nations Development
Programme ? '

(d) 1995

) 1990
» [WB PSC (Pre) 2007]

94. Interms of Human DevelopmentIndex, India fallsunder
_the following category :
(a) High (b) Medium (c¢) Very

() 1991 (© 1993

Low (&) Low
[WB P5C (Pre) 2007]
85. For reducing birth rate in India Amartya Sen has
emphasised... ;

fa) The need for improving female literacy

(b) The need for reducing mortality

() The need for increasing per capita income

(d) The need for increasing the growth rate of Gross

Domestic Product [WB PSC (Pre) 2008]

- Which of the following statements is cotrect regarding

Indira Awas Ygjana ?

(a) Soil and water conservation works

[+
o

(b) Construction of rural roads
fe) Providing houses at free of cost to the members of
SC/ST and free bonded labourers
(d) Land development and wasteland development
[TIN PSC (Fre) 2009}
87. One which of the following bases has the planning commission
defined ‘Poverty Line’ in rural areas in India ?
(a) 1800 k cal b)Y 2400 k cal
(c) 2500k cal (d) 2600k cal [TN PSC 2009]
88. Indian Development Report does NOT give for each
sample village :
(a) Infrastructure and Amenitities Index
(b) Education Related Index (¢) Health Related Index
~d) Unemployment Related Index [UPSC 2000]

89. The Swarnjayanti Shahari Rojgar Yojana which came
into operation from 1.12.1997 aims to provide gainful
employment to the urban unemployed or under-
employed poor but does NOT include :

(a) Nehru Rojgar Yojana

(b) Urban Basic Service Programme

(¢) Prime Minister’s Integrated Urban Poverty
Eradication Programme

kd) Prime Minister’s Rojgar Yojana [UPSC 20001

90. Consider the following schemes launched by the Union
Government :

1. Antyodaya Anna 2
3. Sarvapriya

4. Jawahar Gram Samridhi Yojana

Which of these announced in the year 2000 ?
“a) 1and?2 (b) 2and 4

(¢) 3and4 (d) 1,2and 3 [UPSC 2001]

91. The prices atwhich the government purchases foodgrains
for maintaining the Public Distribution System (PDS)
and for building up buffer-stock is known as :

(a) minimum support prices b) procurement prices
(c) issue prices (d) ceiling prices /[UFSC2001]

2. National Agricultural Insurance Scheme replacing

Compreﬁens%vc Crop Insurance Scheme was m%dh?e'i '

Gram Sadak Yojana

(a) 1997 (b) 1998 ) 1999 (d) 2000

[UPSC 2001]

‘and skills_to women in traditional and non-traditional
_traders ?
(a) Kishori Shakt Yojana  (b) Rashtriya Mahila Kosh
(c) Swayamsiddha L) Swawlamban/UP5C 2008]
94. Among the following, who are eligible to benefit from
MahatmaGandhiNationalRural EmploymentGuarantee
- ?

Act (MGNRECGA) ?

(a) Adult members of only the Scheduled Caste and
Scheduled Tribe households

(b) Adult members of Below Poverty Line (BPL)
households

(¢) Adult members of households of all Backward
Communities

~Ad) Adult members of any households [UPSC 2011]

95. With reference to National Rural Health Mission,
which of the following are the jobs of ASHA’, a trained
community health worker ?

1. Accompanying women to the health facility for
antenatal care checkup .

2. Using pregnancy test kits for early detection of
pregnancy
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3. Providing information on nutrition and immunization
4. Conducting the delivery of bady
Select the correct answer using the codes given below :
(a) 1, 2and 3 only {(b) 2 and 4 only
(c) 1and 3 only L&y 1,2,3and 4 JUPSC 2012]
How does the National Rural Livelihood Mission seek
to improve livelhood options of rural poor ?
1. By setting up a large number of new manufacturing
industries and agribusiness centres in rural areas
2. By strengthening ‘self-help groups’ and providing
skill development
3. By supplying seeds, fertilizers, diesel pump-sets adn
microirrigation equipment free of cost to farmers
Select the correct answer using the codes given below :
+4a) 1and 2 only (b) 2 only
(c) 1and 3 only (d) 1,2and 3 [UPSC2012)

- The Multi-dimensional Poverty Index developed by

Oxford Poverty and Human Development Initiative with

UNDP support covers which of the following ?

1. Deprivation of education, health, assets and services
at household level

2. Purchasing power parity at national level

3. Extent of budget deficit and GDP growth rate at
national level

Select the correct answer using the codes given below :

<a) 1only (b) 2and 3 only

(¢) 1and 3 only (d) 1,2and 3 [UPSC 2012]

- The endeavour of ‘Janani Suraksha Yojana’ Programme is

1. to promote institutional deliveries
2. toprovide monetary assistance to the mother to meet
the cost of delivery

“{c) 3only
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3. to provide for wage loss due to pregnancy and
confirement

Which of the statements given above is/are correct ?

(a) 1and 2 only (b) 2 only '

(d) 1,2and 3 [UPSC 2012]

99. Consider the following :

1. Hotels and resturants
2. Motor transport undertakings

3. Newspaper establishments

4. Private medical institutions

The employees of which of the above can have the ‘Social
Security’ coverage under Employees’ State Insurance
Scheme ?

(a)y 1,2 and 3 only
(c) 1,3 and 4 only

(b) 4 only
(d) 1,2, 3and 4 [UPSC 2012}

100.How do District Rural Development Agencies (DRDAs)

help in the reduction of rural poverty in India ?

1. DRDAs act as Panchyati Raj Institutions in certain
specified backward regions of the country

2. DRDAs undertake area-specific scientific study of
the causes of poverty and mautrition and prepare
detailed remedial measrures

3. DRDAssecure inter-sectoral and inter-departmental
coordination and cooperation for effective
implementation of anti-poverty programmes

4. DRDAs watch over and ensure effective utilization
of the funds intended for anti-poverty programmes

Which of the statements given above is/are correct ?

(a) 1,2 and 3 only (b) 3 and 4 only

(c) 4only (d) 1,2,3and 4

T

g' ; 8‘- 2 s
-8 Agriculture
Which is the agency the Government has engaged to 5, The fertile ivers.is.called :
grade and standardise various agricultural products ? (a) Watershed (b) Water divide
gg Food Corpor?ﬁn lc:ﬂn ia = ey Doab (d) Terai  [SSC Mat. 2008]
Directorate of Marketing and Inspection s y " : g
; . Which wing methods of soi mservation
&) Banduof I:}d{an Standal_'ds ; is most effective in arid areas ?
(d) Central Statistical Organisation [55C Grad. 2003] @] Muldin 35 Shidber bt
Which of the following has.ast-been a component of (©) Gully ph.%ggin g (d) Terracin
_the agricylture strategy that brought about the Green ' [Ssg(? CPO SI 2008]
Revolution ? -

(a) Greater intensity of cropping
tb) Guaranteed maximum prices
() New agricultural technology
(d) Package of inputs

«a) Fish Production (b) Food grain Production
(c) Oilseed Production (d) Milk Production

[85C Grad. 2006]

Indian agriculture is typically charac_t__exigpd as:

(a) land surplus, labour scare economy =
(b) land surplus, labour surplus economy

) land scare, labour surplus economy

(d) land scare, labour scare economg )
[SSC Sec. Off. (Aud.) 2007]

[55C Grad. 2005]

The commission in India dealing with minimum
support price, procurement price etc., in connection with
-agricultural goods is the
(a) Planning Commission
(b) Agricultural Costs and Price Commission
4e}y Agricultural Price Commission
(d) National Marketing Commission

[88C CPO sI 2008]
The term Green Revolution has been used to indicate

higher production through:

(a) creation of grasslands ~ (b) planting more trees

(c) creation of gardens in urban areas

dy enhanced agricultural productivity per hectare
{55C Tax Assit. 2009]
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SI*. Dr. “ng"ﬁy_amulagghan has d;stlngg__sjled_himsgmm

,{h) Agriculture
(d) Medicine
[5SC Tax Assit. 2009]
10. The Green Revolution in InQLaﬂas_the,nm.mme of the

(a) Nuclear Physics
(¢) Astrophysics

; ~ ) C Rangra;an
(c) K. V Kamath (d) Rakesh Mohan
(e) None of these [Oriental Bank of Commerce PO 2008]

11. TheNationalBankforAgricultureandRuzalDevelopment

Swaminathan

(NABARD) was established in the year :
(a) 1970 (b) 1975 (c) 1977 (d) 1980
fe) 1982 [NABARD Bank Officer 2009]

12. The hea the National Bank for Agriculture and
&1‘131 Development (NABARD) is located in :
(a) Lucknow " (b) Hyderabad
(c) New Delhi ~Ad) Mumbai
(e} None of these [NABARD Bank Officer mr?‘?}

apex in co- qperatwe _;ﬁgtor and deals in procurement,

distribution, _export and unport tof se]ected agnallt-ura]

commodlhes ?

fa) NAFED

(c) SIDBI

(e) None of these
14. As we all know, a lot of people from underdeveloped

StatesmigratetovariousprogressiveStatesasagricultural

labour. What are the major problems of agriculture in

India owing to which people have to leave their ownland

and work as labourer on somebody else’s farm/land ?

1. Lack of irrigation facilities, low productivity of land

and uncertain monsoon
2. Non-availability of fertilizers etc on subsidized

(b) NABARD
(d) EXIM Bank

rates
3. Single crop cultivation
(a) Only 1 (b) Only 2
(¢) Only3 L&) All the three

(e) None of these ,r'/indh ra Bank PO 2009]

(a) Bangaluru (b) Kanpu:r

(c) Coimbatore () Cuttack [CDs 2008]
16. Which is NOT a source of Agriculture finance in India ?

(a) Co-operative Societies (b) Commercial Banks

(c) Regional Rural Banks _d) None of these

[ddth BPSC 2001}

fad w&rﬁ@ﬂalobmiwe e following

percentages of labour force in India :

(a) 20% (b) 30% o) 40% ey 65%
[45th BPSC 2002
18. NABARD was establi 1in the:

(a) Fourth Five Year Plan
(&) Sixth Five Year Plan

(b) Fifth Five Year Plan
(d) Eighth Five Year Plan
[47th BPSC 2005f
19. The apex institution in the sphere of Agriculture credit
is:
“(a) State Bank of India
(c) Regional Rural Bank

(b) Reserve Bank of India
) NABARD
[UP PCS Special (Pre) 2004]

[NABARD Bank Officer 2009]

20. The meal:t of Green Re\rolutlon was felt most in the

“production of : S R N
.{ﬂ‘) Wheat (b) Rice
(c) Pulses (d) Oil Seeds

[UPPCS (Main) 2004]
21. Under which Five Year Plan agnculture reg15ter a

negative growth ?
_(a) Third (b) Fifth (¢) Seventh (d) Ninth
[UP PCS (Main) 2004]

22. Who is known as Father of White Revolution in India ?
(a) M.S.Swaminathan b)) V Kurien
(¢) K.N.Bahal (d) B. P. Pal
JUP PCS (Pre) 2006]
25. The importance of agriculture in Indian economy
is_indicated by its contnbuhon to which of the
following ? ?
) National income and employment
() Industrial development and international trade
_tey Supply of food-grains
£d) All the above {UP PCS (Pre) 2006]
24. Theapexor: g_amsatlon for Marketing Co-operatives atth the
nationallevelis:
(a) FCI 4b) NAFED
(c¢) National Co-operative Union
(d) National Agriculture Marketing Board
[UF PCS (Main) 2007]
25. Indian Pulse Research Institute is located in :
(a) Allahabad SSj & ) Kanpur
(c) Faizabad (d) Lucknow
[UP PCS (Main) 2008]
26. ‘Everything.else.can.wait, but not agriculture’.
- The above statement is attributed to :
(a) Jagjivan Ram () Jawahar Lal Nehru
(c¢) Mahatma Gandhi (d) Sardar Patel
[UP PCS (Main) 2009]
27. Which of the following provides the largest credit to
.agriculture and allied sectors ?
(a) Co-operative Banks (b) Regional Rural Banks
+4t) Commercial Banks
(d) Co-operative and Regional Rural Banks
[UP PCS (Pre) 2010]
28. The percentage of agriculture land is very high in all the
Jfollowing States except : s
(a) Punjab
(c) Uttar Pradesh

(b) Haryana
4d) Sikkim
[Utt. PSC(Pre) 2006]
259. Where first Agriculture University of India was
.established ?
(a) Kumarganj, Faizabad «(b) Pantnagar
(c) Kanpur (d) Naini, Allahabad
[Utt. PSC(Main) 2006]
30. Where. is the Indian _Sugarcane. _Research Institute
a‘u;;mted?
(a) New Delhi
(c) Kanpur

(b) Varanasi
(d} Lucknow
[MP PSC (Fre) 2004]
31. Where s the Central Foqd_ Technological Research
(a) “'Bangalum
4] Mysore

(b) Karnal

(d) Lucknow
[MP PSC (Pre) 2004]



Indian Economy 157

32. Indian Green Reyolution started from :
Ad) Pantnagar (b) Bangaluru
(c) Kanpur (d) Delhi [MPPSC (Pre) 2004]
33. The Green Revolution in India has contributed to :
~a) Inter-regional inequality(b) Inter-crop inequality
ey Inter-class inequality _(d) All of these
[WEB PSC(Pre) 2007]
34, TheBonded LabourSystem (Abolition)Act waslegislated

1155
“(a) 1974 A7 1976

(c) 1977 (d) 1978
[WB PSC(Pre) 2007]

s was the Food Corporation

35. Inwhichof the following years
of India (FCI) set up ?
“(a) 1955 () 1960 Le)y 1965 (d) 1970
[WB PSC(Pre) 2007]

36. The Green Revolution has led to marked increase in :
T Productivity of wheat -2- Productivity of pulses
~37 Region inequalities A Inter-person inequalities

of the statements :
(a) 1and 2 are correct (b) 3 and 4 are correct

(¢) 1,3 and 4 are correct  4d) All are correct
[TN PSC (Pre) 2009)

37. National Agricultural Insurance Scheme replace
Comprehensive Crop Tnsurance Seheme was introduced
_in the year : §
(a) 1997 (b) 1998 ey 1999 (d) 2000

[UPSC 2001]
38. An objective of the National Food Security Mission is

to increase the production of certain crops through area

& o)
19, (d)

'.lé;;s
8
20. (2)
Q 32 (a 38 (d)

expansionand productivityenhancementinasustainable
manner in the identified districts of the country. What are
those crops ?
(a) Rice and wheat only
Ab) Rice, wheat and pulses only
(¢) Rice, wheat, pulses and oil seeds only
(d) Rice, wheat, pulses, oil seeds and vegetables
[UPSC 2010]
39. Consider the following statements :
1. TheUnionGovernment fixes the Statutory Minimum
Price of sugarcane for each sugar season.
2. Sugar and sugarcane are essential commodities
under the Essential Commodities Act.
Which these statements are correct ?
(a) 1only (b) 2 only
_(c) Both1and?2 (d) Neither 1 nor 2
[UPSC 2010]
40. In India, which of the following have the highest share
in the disbursement of credit to agriculture and allied
activities ?
&) Commercial Banks
(c) Regional Rural Banks
(d) Microfinance Institutions [UPSC 20117
41. Which of the following is the chief characteristic of ‘mixed
tarming’ ?
(a) Cultivation of both cash crops and food crops
(b) Cultivation of two or more crops in the same field
<) Rearing of animals and cultivation of crops together
(d) None of the above [UPSC 2012]

(b) Co-operative Banks

’ﬂ‘- Industry

1. Which country/countries started privatisation of State- —#& Correlate the following :

-owned enterprises as a major State policy ?
+a) U.K. under Mrs. Margret Thatcher
(b) Russia in the C.L.5.

(c) Mexico/Argentina/Brazil

(d) Italy/France/Malaysia

[85C Grad. 2003]

2. One of the objectives of Industrial Licensing: Policy in__

India was to ensure ;
" (a) Creation of adequate employment opportunities
(b) Free flow of foreign capital in Indian industries
(c) Use of modern technology
[d) Balanced industrial development across regions
[S5C Grad. 2004
3. Why did the Supreme Court, in their judgement of
September, 2003, hold that privatisation of HPCL and
BPCL was not permissible ?
“(a) Due process of law for disinvestment had not been
followed
(b) Itisagainst the interest of the capital assetin the form
of their employees ;
(c) It had not been recommended by the Disinvestment
Commission
() It is in conflict with the statutes that created HPCL
and BPCL [S5C Grad. 2004]

[ndustry Field
A. Basic industries 1. Fertilizer
B. Strategic industries 2. Petroleum
C. Critical industries 3. Automobile
D. Goods-based industries 4. Arms and Ammunition
Code: A B e D
(a) 4 2 3 1
(b) 4 1 2 3
() 1 4 2 3
) 2 4 3 1 [85C Grad. 2005]

5. Which of the following is NOT an immediate indicator
of industrial sickness ? -
(a) Drop in profitability
(b) Labour unrest
(c) Shrinking of market credit
4d) Decline in market share [SSC Grad. 2006]
6. Which of the following.is the classification of industries
on the basis of raw-materials ?
T et e Sl
Ab) Primary and Secondary
(c) Basic and Consumer
(d) Agro-based and Mineral

[S5C Sec. Of. (Aud.) 2006]
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7. Which of the following is a Navaratna PSE ?
(a) Mahanaéér Telephone ngama Ltdz-/ﬂ’/ 7 /P"Z.)
(b) Container Corporation of India Ltd :
(c) MMTC Ltd

(d) Engineers India Ltd [S5C Mat. 2008]
8. Token privatisation or deficit privatisation of _E_gbhc
sector units occur when the _ggvern t sells -
(a) 5% of shares (b) 10% of shares
(c) 15% of shares (d) 20% of shares
[S5C Sec. Off. (Aud.) 2008]

9. Disinvestment is:

(a) cading of shares of private companies to

government

Ab) Offloading of government shares to private companies

(c) Increase in investment

(d) Closing down of business concerns [55C CPO SI 2008]
10. Which of the following is a Navaratna PSE ?

(a) Bharat Petroleum Corporation Ltd (BPCL)

(b) MMTC Ltd

(¢) Engineers India Ltd

(d) Container Corporation of India Ltd [S5C DEO 2008]
11. Which is the biggest enterprise of the Government of

India ?.

(a) Postal and Telegraph (k) Railway

(c) Banking (d) Shipping

[SSC Tax Assit. 2009]

12. Omkar Goswami Committee was_set. up by the

Govcnlment for exa_t_r_g_t_'t__mg’_the issue of :

(a} Industrial relations @) Industrial sickness

(c) Growth of small scale industries

(d) Reforms in the Banking sector

[SCRA 2001]

(a) Hyundal ~(b) General Motors

(c) Maruti (d) Tata

(e) Tripex [Allahabad Bank FO 2007]
14. Which of the following car companies has launched a

smaJ] cheaper car ‘Na:no ?

(@) Maruti Suzuki [_deog Lid.

(b) Hyundai Motor India Litd.

(¢) Hindustan Motor Ltd.

[{d) Tata Motors Lid.

(e) None of these [Orienial Bank of Commerce PG 2008]

15. Which of the following is NOT a Public Sector Unit/
Underta_kmg Agency ?
{a) ECGC  (b) SEBI (c) SIDBI  (d) BHEL
(e) Axis Bank [Vijaya Bank PO Z008]
16. Maruti views Tata Motors as a prominent competitor
,bui. does not view Volvo as a competitor. This type of
‘competition in the market is known as :
da) Product Compehtlon
(b) Production flow competition
(¢) Cost control competition
(d) Service competition
(2) None of these [Indian Overseas Bank PO 2009]
17. Consider the following statements :
1. Thefirstmodernsteel producingunitwasestablished
at Kulti (W. Bengal) in 1874.
2. Bhilaisteel plant was established during second Five
Year Plan. -

Reurkela steel plant was established with the
collaboration of the West Germany.

4. Bokaro steel plant was established during the Third
Five Year Plan.

Which of the statements are correct ?

(a) 1,2and 3 (b) 2,3and 4

(c) 1,3and 4 ) 1,2,3and 4 [NDA 2000]

18. Which is NOT a source of Industrial Finance in India ?

(a) Industrial Finance Corporation of India

(b) State Finance Corporation

(¢) Unit Trust of India

«) NABARD [44th BPSC 2001]
19. What are the ‘Core Industsies’ in I_nd1a ?
_kay E‘.lectnaty ' ) Coal

_ley Petroleum Products {d) All of these
[46th BPSC 2004]
20. Urbanisation and Industrialisation are determmed to:
@) Sustainable devclopment o
(b) Environmental and Ecology
fg;,) Preservation of biodiversity

¢d) All of these

21. SIDBI has been established to :

(a) finance cottage industries

@) finance small scale industries

(c) finance large scale industries

(d) finance public sector undertakings

[UP PCS (Main) 2004]

22. Encouraging more multinational companies in India is

fo promote. the__p_g_l_}cgﬂgf SR AT

J;aj’ Globalisation

{e) Privatisation

[UP PCS (Main) 2004]

A1} Liberalisation
(&) All of these
[fUP PCS (Main) 2004]
23. Commercial paper is a source of credit for which one of
the following ?
R(?a\)“(:'t)fp(:11'a~te Industry
(¢) Commercial Banks

(b) Small Scale Industries
(d) Foreign Banks
[UP PCS (Main) 2004]

24. The Chairman of the National Commission for

Enterpnses in the Unqggamsed Sgctqr is: -

(@) Arjun Sengupta

(b) C.Chandra Shekhar Rao

(c) P R.Das Munshi

(d) K. Natwar Singh [UP PCS (Main) 2005]
25. Which one of the following committees recnmnlgp_c_i_(_z_d

the “lbohtmn of reservation of items for small scale sector

in industry.?

(@) Abid Hussain Committee

(b) Narasimhan Committee

(c) Nayak Committee

(d) Rakesh Mohan Committee [UP PCS (Pre) 2006]
26. A labour intensive industry is one that:

S —— e

(a) réquires hard manual labour

(b) pay adequate wages to the labour

{e) employs more hands

(d) provides facilities to labour [UP PC5 (Pre) 2006]
27. The hcensmg_gpl icy for the industries drew w

(a) Industrial Policy Resolution 1948

(b) Industrial Policy Resolution 1956

(c) Congress Party Resolution of establishing socialistic
pattern of society

’(,d*) Industrial Act, 1951 [UP PCS (Main) 2007]
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28. _é.tg_i_d__ﬁmgm_(;“qmmittee was ralated to :
(a) Export promotion
{b) Small and medium industries
(c) Agricultural development
(d) Energy sector reforms

JUP PCS (Main) 2008]
29. Bhilai Steel Plant is the collaborative project of Indian
Government and ......

4a) Soviet Union (b) Britain
() Germany (d) Poland

[UP PCS (Main) 2008; SSC CPO SI 2008]

.30. Since when disinvestment started in public enterprises ?
o riebls

(a) 1990=-91 ~b) 1991 -92
(c) 199293 (d) 1993 —94
[UP PCS Special (Pre) 2008]
~31. InIndia, liberal Industrial Policy was adopted in the year :
(a) 1948 (b) 1956 (c) 1985 () 1991
[UP PCS Special (Pre) 2008]
~22- Firstlndustrial-Palicy.of free India was announced in the
€ar .
(a) 1947  (b) 1948 (c) 1951 (d) 1956

[UP PCS Special (Pre) 2005]
33. National Renewal Fund was constituted for the purpose
of
(a) Providing Pension for retiring employees
(b) Sodial security
(c) Rural reconstruction
Ad) Restructuring and modernisation of industries

[UP ECS (Pre) 2010]
<3 Whlch one of the following pairs is NOT properly

matched ?

Industry Industrialists

(a) Reliance ... Mukesh Ambani

b} Wipro ... R. Krishnamurthy

(c) “Airtel . Bharati Mittal

(d) Nano Car ... Ratan Tata

[C F5C (Pre) 2008
35. Read the following statements carefully :
1. In public sector of India, there are basic and heavy
industries.

2. Allindustries of public sector are profit oriented.

3. Jobs are secured in the industries of public sector.

Answer on the basis of following codes :

(a) 1and 2 are true Ab) 1 and 3 are true

(c) 2and 3 are true (d) 1,2 and 3 are true
[CPSC(PI’L) 2008}

_{a) Maharashtra (b} Pun]ab
(c) Gujarat (d) Tamil Nadu
[WB PSC (Pre) 2007]
T G is also called "sunrise” industry :

(a) Copper
ey Automobile

[b) Plastic
(d) Jewellery
[WB PSC (Pre) 2007]
38. Industrial licensing was finally a abolished (w1th a few
exception) in the :
(a) Industrial Policy, 1970
(&) Industrial Policy, 1991

(b) I_ndpstrial Policy, 1980
(d) Industrial Policy, 1995
[WB PSC (Pre) 2008]

set up in the public sector in ]96(145 af:

(a) Bhopal Ab) Durgapur
(¢) Hyderabad

(d) Ranipur (near Hardwar)

39. Thefirstheavyelectrical ‘equipment man ufactu_rmg plant

[WEB F5C (Pre) 2008]
40. Consider the following statements :
#7T1. The expansion of public sector was based on
Industrial Policy Resolution, 1956.
2 Government has announced New Industrial Policy
in July, 1991.
3. Government has not a_nnounced any industrial
policy at all.
Of the statements :
(a) 1 alone is correct
A¢) 1and 2 are correct

(b} 2 alone is correct
(d) All are correct
ITNPSC‘ (Pre) 2009]

fm_y,‘,l; _____
(a) USSR
(¢) USA

(b) UK
(d) West Germany
[TN F5C (Pre) 2009]
42. Economig liberalisation inIndia.started with ;
{a) substantial changes in industrial licensing policy
(b) the convertibility of Indian rupee
(c) doing away with procedural formalities for foreign
direct investment

(d) significant reduction in tax rates [UPSC 2000]

43. Consider the following factors regarding an ind ustty :
T. Capital investment :
2. Business turnover
8. Labour force
4. Power consumption

Which _of these determine the nature and size of the

~industry ?
(&) 1,3and 4 (b) 1,2and 4
{c) 2,3and 4 (d) 2and3  [UPSC 2001]

44. Which of the following pairs are correctly matched ?

Enterprise Industrial Group
1. VBN e Bharati Group
-2~ MundraSEZ ...... Adani Group
&= ENIEERE"" ' Tata Group
4= TPCL. = s Reliance Group

Select the correct answer using the codes given below :

(a) 1,2and 3 (b)3 and 4

(c) 1,2and 4 )2, 3 and 4[UPSC 2005]
45. Match List-I (Aluminium Company) with List-II

(Location) and select the correct answer by using the code

given below the lists :

List-1 List-II

A. BALCO 1. Hirakud

B. HINDALCO 2. Korba

C. Indian Aluminium Company 3. Koraput

D. NALCO 4. Renukoat
Code: A B & D

(a) 3 1 1 2
Ab) 2 4 1 3

{c) 3 4 1 2

(d) 2 1 4 3 [UPSC 2007]
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46.

Objective General Knowledge

Consider the following pairs :

T R ) Group
1. Ashok Leyland Hinduja
2. Hindalco Industries A. V. Birla
3. Suzlon Energy Tulsi Tanti

Which of the palr(s) glven above IS;" are Lorrectly
matched ?

—

6. (b)

47.

Answers

(a) 1and?2 (b) 2 only
(c) 1and 3 €¢d) 1, 2and 3 [UPSC 2009]
In the context of India's Five Year Plans, a shift in the
pattern” of industrialisation with lower emphas;s on
“heavyifidustries and more on ‘infrastructure begins in :

slgy=Fourth Plan~ ) Gixth Plan
(c) Eighth Plan (d) Tenth Plan/UFP5C

2010]

6 7. (a)
19, (d) 20. (d) 2L (b
2. (b) 33 (@)
5. (b) 46. (d) 4
j’ﬂ Money
1. The major aim of devaluation is to : 10. New capital issue is placed in :
,(&5 Encourage exports (b) Encourage imports JLa) Primary market (b) Secondary market
(¢) Encourage both exports and imports (c) Grey market (d) ﬁBlack market
(d) Discourage both exports and imports [55C Sec. Off. (Aud.) 2006]
[58C Grad. 2000] — 11. Theprocessofcuringinflation by reducingmoney supply
2. Which amongst the following currencies is the costliest ? s called :
(a) French Franc (b) Swiss Franc - (a) Cost-push inflation (b) Down-pull inflation
(¢) Euro #d) Pound Sterling ~e) Disinflation (d) Reflation _
frl-.;‘g{* Grad. 20007 [S5C Sec. Off. (At id.) 20077
5 "~ Which of the following Mahatma Gandhi series of 12 %ﬂ&ww%ﬁ@t ca,n_lgg;r____alsed either
- currency notes issued by the RBI has “ecology” depicted by borrowing from certain institutions or through :
ERIEE ., = (a) issue of note
(a) T 500/- ) T 100/- (b) taking loan from Government
(c) T50/- (d) T5/— [SSC Grad. 2003] s e Of i
//4\ Which of the following Mahatma Gandhi sen‘es currency () ¢t R R S msrgg':ﬁtéi?sl)” (Aud,) 2007]
fiotes boued by £ the RBI has a drawing of the Parliament 13. What is the name given to the common currency of the
_House’ d_ep:cted onit? W =
(@) T500/- (b) %100/ 3 e - (b) Rouble
oc) T50/- (d) X 10/-/55C Grad. 2003] 8} Hap __
(¢) Franc ) Euro
5. Inflation is caused by : [SSC Tax Assit. 2008]
(a) Increase in supply of goods 14. Devaluatign of gurrency leads to :
(b) Increase in cash with the Government (@) expansion of export trade
(c) Decrease in money supply (b)Y contraction of import trade
«d) Increase in money supply JSSC Grad. 2004] (e) expansion of import substitution
6. DRevaluation usually causes the internal prices to : &) all of the above [S8C Sec. Off. (Aud.) 2008]
(a) Fall (b) Rise 15. The of dis:
Jc) Remain unchanged (d) None of these +4a) Bhat (b) Rupiah (c) Yuan (d) Yen
[SSC Grad. 2004) [SSC Sec. Off. (Aud.) 2008]
7. Currency notes of X 2 denomination and above are  16. Which one of the following statement is correct ?
liabilities of : : (a) Good money drives bad money out of circulation
(@) Government of India  ¢5) Reserve Bank of India @) Bad money drives good money out of circulation
(c) State Bank of India (d) All of the above (c) Good and bad money cannot circulate together
[SSC Grad. 2004] (d) Cannot say [SSC CPO ST 2008]
8. Under the minimum reserve system, th: thej_fs‘.g_nng_ank 17. Who has the sole right-to.issue paper currency.i ia ?
of India as the sole ‘authority of note issue is required fo (a) The Government of India
maintain assets worth not less than : (b) The Finance Commission
(a) 85 crore of rupees 4b) 115 crore of rupees (¢) The Central Bank of India
(¢) 200 crore of rupees (d) 210 crore of rupees ) The Reserve Bank of India [SSC DEO 2008]
[55C Crad. 2004] 18, Full convertibility of a rupee means :
9. _Iﬂmimmﬂpe&mmmmmiaubamw coins

(a) The Reserve Bank of India
@) The Central Government
(c¢) The State Bank of India
(d) The Unit Trust of India

[55C Sec. Off. (Aud.) 2006]

(a) purchase of foreign exchange for rupees freely

(b) payment for imports in terms of rupees

(c) repayment of loans in terms of rupees

(d) determination of rate of exchange between rupee
and foreign currencies freely by the market forces of
demand and supply [S5C Tax Assit. 2009]
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based on:
(a) Gold Reserve System
(b) Proportional Reserve System
(c) Convertible Currency System
4d) Minimum Reserve System [55C Tax Assit. 2009]
20. The term m stagflation refers to a situation ‘where :
(a) growth has no relation with the ¢h change in prlces
«k) rate of growth and prices both are decreasing
(c) rate of growth is faster than the rate of price increase
(d) rateof growth is slower than the rate of price increase
[SSC Tax 2009]
21. The RBlissues currency notes under the :
(a) Fixed Fiduciary System
(b) Maximum Fiduciary System
«€) Minimum Reserve System
(d) Proportional Reserve System

Assit.

[SSC DEO 2009]
22. During period of inflation, rates should :
&) increase - (b) decrease
(c) remain constant (d) fluctuate
[SSC Grad. 2010}
The existence of a parallel economy or Black Money, :

(a} makes the economy more Compehtlve
{b) makes the monetary polices less effective
(c) ensures a better distribution of income and wealth
(d) ensures increasing productive investment
[85C Sec. Off. 2010]
24. _Consider the following statements :
In order to increase the supply of the money,
~f.~ The amount of rupee coins and printed paper notes
increase in the same proportion.
1. The amount of rupee-coin can not increase
commensurate with the paper money.

AE Paper money is the best form of money.
Which of the statements given above is/are correct ?
(a) Tonly (®) Bil only
4c) Iand ITI (d) Wand TIT  [SCRA 2005]

25. In the paralance of economy/commerce, what is ‘Gitt-

-edged market’ ?
(a) Gold and silver market
(b) Industrial securities market
Le) Market of safe (such as Government) securities
(d) Market for software technology /service products
[SCRA 2005]

) FDI (c) SFI (d) SME

(e) MDI [Bank of India Clerk 2008]
27. Many a time we read a term in gnancml newspapers

GDR. What is the full form of the same ?

{(a) Global Depository Receipts

(b) Global Domestic Ratio

(c) Gross Domestic Revenue

(d) Gross Depository Revenue

(e) None of these [SBI Clerk 2008; Bank of India PO 2008]

28. The stock market index don Stock Market is
Jeferred Ae+
(b) NIFTY e) Footsic (FTSE)

(a) Sensex
(d) Bullish (e) None of these
[SBI Clerk 2008; Bank of India PO 2008]

(b) CII

29,

30.

[#3]
3

¥+
%1

37,

38.

39.

wast the News in some major newspapers. What s the full
,gom of ‘F&O'?

fer)” Future & Optlons
(c) Free & Operational (d) Fair & Optimum

(e) None of these [SBI Clerk 2008]
Many timesweread aterm ‘ECB in fmanmalnewspapers
What is the full form of ECB ?

fa) External Commercial Borrowing
(b) External Credit and Business

(c) Essential Commercial Borrowing
(d) Essential Credit and Business

(e) None of these

(b) Future & Operation

[SBI Clerk 2008]

. Which of the following is NOT the name of the sensitive

lnﬂ_c_i_g}___qf any global stock E);_:;ghgnge ?

(a) Nasdaq (b) Nikkei
(c) Kospi (d) Dow
&) Combix [SBI Clerk 2008]

Which of the followmg organizations is known as Market

(@) TBA  45) SEBI
(e} None of these

(c) AMFI  (d) NSDL

[SBI Clerk 2008]

£ Market 2

(a) Bill Markets (b) Call Money Market

(¢) Banks (d) Mutual Fund

4e) Indian Gold Council [SBI Associates Bank Clerk 2009]
Yen is the currency of ......

+4a) China (b) Taiwan

(c) North Korea
(e) None of these
[SBI Clerk 2009; Corporation Bank PO 2006]

(d) South Korea

. Which of the following is the currency of Dubai ?

(a) Taka (b) Dinar (c) Dollar {&) Dirham
(e) None of these [United Bank of India Clerk 2010]
Earlier it was thought safe to allow each financial
institution to carry out only one type of finance service.
Butnow Banksaresellingshares, Insurancecompaniescan
sell banking services. These new financial conglomerates
are colloquially referred to as :

(a) Multinationals ) Financial Supermarkets
(c) Market Regulators (d) Brand Promoters

(e) None of these [Corporation Bank PO 2006)
_Expand the term LIBOR :

(ar London Inter-Bank offered Rate

(b) London Inter-Bank Operational Rate

(c¢) London Inter-Bank Offsite Rate

(d) London Inter-Bank Onsite Rate

(e) None of these ;’(_'entrd Bank of India PO 2006]

m from the Indian capltalmarkets s

(a) RBI (b) TRDA

(c) Registrar of Companies 4d) SEBI

(e) None of these [Andhra Bank PO 2006]

Shegel is the currency of :
&) Israel (b) Kenya
(¢) Iran (d) Iraq

(e) None of these [fAndhra Bank PO 2006]
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40. Shilling is the currency,of :
(@) Kenya

(b) South Korea
(c) Israel (d) Ghana
(e) None of these [LIC ADO 2007
41. Asweallknow, I‘l:ld;‘i_.a_n Money Market is c}ivided in three,
sectors, namely organised sector, unorganised sector and
co-operative sectors. Cali"mﬁhéz“m'argé'f is the part of
which of the following ? b
a) Organised Sector
(c) Co-operative Sector (d) Only ‘a” & b’
(e) All“a’,’b’ and ¢’ [Bank of Maharashtra PO 2007]
42. At present Indian Rupee is :
Tﬂgpﬁﬁaﬂ'ﬁé—oﬁverﬂble orn current account
«b) fully convertible on current account
(c) partially convertible on capital account
(d) fully convertible on capital account
(e) fully convertible on current and capital account both
[Andhra Bank PO 2007]

43. Which of the following terms is NOT a financial term ?
(a) Investment (b) Core Banking Solution

{c) RTGS Ad) El Nino effect
(e) All are financial terms
[Oriental Bank of Commerce PO 2008]
44. Which of the following is NOT a mode of foreign capital
inflow to India ?
(a) FDI (b) FPI
(d) No-Frills Accounts
e) All these are valid foreign capital inflow
[Oriental Bank of Comunerce PO 2008]
45. Many a time we read a term PP in financial newspapers.
What is the full form of the PPP ?
{a) Purchasing Power Parity
(b) Public Per capita Power
(c) Per capita Potential Purchases
(d) Present Purchasing Power
(e) None of these [NABARD PO 2008]

46, Dinaris the currency of which of the following. countries?

(b) Unorganised Sector

(c) NRI Accounts

(a) Sudan (b) Myanmar
(c) Afghanistan (d) Pakistan
ey Traq [NABARD PO 2008]

47. Lot of discussion is going on these days on the issue of
‘Participatory Notes’ (P Notes) used in financial sector/
money market. What is a Participatory Note ?

() It is an offshore derivative instrument used
by overseas buyers/investors who shares of
Indian companies listed in Indian Stock Exchange
amonymously.

(b) It is nothing but another name of the banking
operation by which banks exchange Indian Rupees
into US Dollars without depositing a single rupee
in the account of the party who are NRIs. The entire
operation is carried out by the banks solely on the
basis of the credit and goodwill of the NRI party.

(c) Tt is nothing but a type of undertaking given to the
banks that they should continue investing money
in stock markets on behalf of NRIs and. in case the
market crashes NRIs will make the losses good
without delay.

(d) All“a’, ‘b’ and ‘¢

(e) None of these [NABARD FO 2008]

48. Which of the following is the correct definition of the
term ‘Commercial Papers’ ?
(a) Itisnothingbutthepopularnameofthejudicial stamp
papers used to register financial transactions.
efb) Itisoneof the instruments through which corporates
raise debt from the market.
(c) Itisthe name of the ‘Certificate of Deposits’ provided
by the Banks to its retail customers.
(d) Both ‘a’ and ‘b’
(e) All‘a’,’b’ and ‘¢ [Bank of Maharashtra PO 2008]
49, Many a time we read in the newspapers a term ‘Hot

Money’. Which of the following is the correct definition
~0f Hot Money.? e s

%a) This is the fund which is dumped into a country to
get the advantage of a favourable interest rate and
hence brings higher returns.

(b) This is the fund which is provided by a bank in US
Dollar at very short notice and at a very high rate of
interest and for a longer period of repayment.

(c) Thisisthe fund whichis pushed into market through
Hawala or some other such illegal method and is
sometimes referred to also as Black Money.

(d) Both‘a” and ‘b’

(e) Both’a’ and ‘¢’ [Bank of Maharashtra PO 2008/

50. The European Union has adopted which of the following
.as.acommon currency ?
(a) Dollar (b) Dinar (c) Yen (d) Peso
4e) EBEuro [Vijaya Bank PO 2008]
51. Which of the following is known as Plastic Money ?

1. Demand Draft 2. Credit Card

3. Debit Card

(a) Only 1

(c) Only3

¥¢) All1,2and3

52. Many a time we see a term in newspaper [
the full form of the.same ?
&) Initial Public Offer

(b) Indian Public Offer

(c) Institutional Purchase Offer

(d) Industrial Purchase Offer

(e) Indian Purchase Offer [Vijaya Bank PO 2008]

53. Federal Reserves is the financial organisation of :
1) USA (b) Britain (¢) France W]apan

(e) Germany [Bank of India PO 2008]

54. Which of the following organisations is known as the

‘market gegulator in India ?

{a) SEBI (b) IBA () AMFI  (d) NSDL

(e) None of these [Bank of India PO 2008]

55. Many times we read a term ‘“Hot Money’ in newspaper.

(b) Only 2
4e&t) Both 2 and 3

[Vijaya Bank PO 2008]
What is

1. The term is used for fresh currency notes issued by

the RBL.
/2 It is the fund which flows in the market to take

advantage of high interest rates.

3. [Itisthe fund which is thrown in the market to create
imbalance in the stock markets.

(a) Only1 by Only 2

(c) Only 3 (d) All1,2and 3

(e) None of these [Union Bank of India PO 2008]
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56. What is an Indian Depository Receipt (IDR) ?
(a) A dep051t ‘account with a public sector Bank.
() A depository account with any of the Depositories
in India.

&er"An instrument in the form of depository receipt
created by an Indian depository against underlying
equity shares of the issuing company.

(d) An instrument in the form of deposit receipt issued
by Indian depositories
(e) None of these [Bank of Baroda PO 2008]
57. In the Capital Market, the term arbitrage is used with
reference to :
(a) purchase of securities to cover the sale
(b) sale of securities to reduce the loss on purchase

(e} simultaneous purchase and sale of securities to make

profits from price
(d) variation in different markets
(e) Any of the above [Bank of Baroda PO 2008]

58. Currenqy S‘waE is ap instrument to manage :
@ currency risk ( ) interest rate risk
(¢) currency and interest rate risk
fd) cash flows in different currencies
(e) any of the above [Bank of Baroda PO 2008]
59. Money Laundering normally.invelyes :
<(a) placementof funds  —(b) layering of funds
~€) integaraticn of funds 4d) allofa, band ¢

(e) noneofa bandc [Bank of Baroda PO 2008]
60. Capital Market Regulator is :

(a) RBI (b) IRDA (¢) NSE (d) BSE

(e} SEBI [Bank of Baroda PO 2005]

61. FDI refers to :
“(a) "Fixed Deposit Interest
(b) Fixed Deposit Investment
{c) Foreign Direct Investment
(d) Future Derivative Investment
(e) None of these [Bank of Baroda PO 2008]

62. What is Call Money ?
_{;1) Money borrowed or lent for a day or overnight
(b) Money borrowed for more than one day but upto 3
days
(¢) Money borrowed for more than one day but upto 7
days
(d) Money borrowed for more than one day but upto 14
days
{e) None of these [Bank of Baroda PO 2008]
63. Which is the first Indlan Company to be listed on
NASDAQ?_ i
(a) Reliance (b) TCS
(e) None of these

e T HCL L&) Infosys
[Bank of Baroda PO 2008]

64. Which is the following is the regulator of the creditrating

-agencies.in India ?
(a) RBI (b) SBI (c) SIDBI (&) SFBI

(e) None of these [Bank of Baroda PO 2008]
65. Many times weread about Future Trading innewspapers.
What is ‘Future Trading’ ?
1. It is nothing but a trade between any two stock
exchange wherein itis decided to purchase the stocks
- of each other on a fixed price throughout the year.
ZZ’. Itis an agreement between two parties to buy or sell
an underlying asset in the future at a predetermined
price.

3. It is an agreement between stock exchanges that
they will not trade the stocks of each other under
any circumstances in future or for a given period of

time.
(a) Only1 ) Only 2
(c) Only 3 (dy All1,2and 3

(e) None of these [Bank of Baroda PO 2008]

66. Inflation in India is measured on which of the following

indexes/indicators ?

(a) Cost of Living Index (CLI)

(b) Consumer Price Index (CPI)

(c) Gross Domestic Product (GDP)
(d) Wholesale Price Index (WFPI)

(e) None of these [Bank of Baroda PO 2008]

67. Very often we read in newspapers/magazines about

‘Sovereign Wealth Funds”.  Whichof the f. following is the

“correct description of the s same 7

Aa) These are the funds or the reserves of a government
or central bank of a country which are invested
further to earn profitable returns.

(b) These are the funds which were accumulated by
some people over the years but were not putin active
circulation as they retain them as Black Money for
several years.

(c) The fundswhich are created to be used as relief funds
or bailout packages are known as sovereign funds.

(d) Both ‘b’ and ‘¢’

(e) None of these

[Canara Bank PO 2009]
68. In a company the use of price sensitive corporate
information by the.company-people to_make gains or
cover losses is known as :
[{a) inside trading
(¢) foreign trading
(e} none of I:hese

(b) future trading
(d) stock trading
[Indian Overseas Bank PO 2009]

as referred in financial transactions ?

{a) Certificate of Deposits (b) Bonds
{e) Stocks (d) Commercial Papers
(e) Loans [Indian Overseas Bank PO 2009]

70. The actual return of an investor is reduced sometimes as
the prices of the commodities go up all of a sudden. In
financial sector this type of phenomenon is known as :
(a) Probablhty risk Lb) Market risk
(c) Inflation risk (d) Creditrisk’

(e) None of these [Indian Overseas Bank PO 2009

71. When the prices of commodities, goods and services start
declining consistently, the phenomenon is known as :
(a) Discount yield fB) Deflation
(c) Negative growth (d) Market capitalism
(e) None of these [Indian Overseas Bank PO 2009]

72. Which of the following policies of the financial sectors is
basically designed to transfer local financial assets into
foreign financial assets freely and at market determined
exchange rates ? Policy of :

La) Capital Account Convertibility

(b) Financial Deficit Management

(c) Minimum Support Price

(d) Restrictive Trade Practices

(e) None of these [Indian Overseas Bank PO 2009]
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74

Objective General Knowledge

As we all know, the Wholesale Price Index is divided into

five main commodity groups. Which of the following is

NOT considered separately as a group whlle «calculating

Wholesale Price Index (WTT)?

(a) Services and/or Production by Public Sector Units

(b) Agriculture

(c) Mining

(d) Manufacturing [(e) Exports and Imports
[Bank of Maharashtra Agriculture Officer 2009]

The investments done by ‘those financial entities which

were launched or incorporated in a foreign country but

are investing in an Indian Venture in India” are generally

known as :

(a) Patent Money (b) Private Equity

(c) Foreign Institutional Investment

(d) Current Account Money

(e) None of these

[RBI Grade B Officer 2009]

A75.- When was decimal comaﬁmsy::tem introduced in India ?

e

-

il

(a) 1947 (b) 1950 @) 1957 (d) 1960

[CDS 2005]

What was the Saudi Arabian currency called ?
(a) Dirham (b) Peso
(c) Dinar {d) Riyal [CDS 2005]
]_.g_)__ghld1 of the fo]lmﬁmg years India switched over to
rencies ?
(a) 1955 (b) 1956  (c) 1957 (d) 1960
[CDS 2007]
Bolivar is monetary unit of :
TTVenezuela """"" (b) Brazil
(c) Bolivia (d) Belarus [CDS 2007]
79, In which year the Indian rupee was devalued two times
within L_th ?
(@) 1990 (b) 1991 (c) 1994 (d) 1999

80.

81.

fa

83.

84.

[44ih BFSC 2001]
_During which Five Year Plan the price level in Indian
_Economy should'a decline ?

(&) Planl
(c) Plan IV

(b) PlanII

(d) Annual Plans
[44th BPSC

In India currency-notes issue system is based on :

(a) Proportlonal Reserve'?:?ystem

) Minimum Reserve System

(c) Fixed Exchange Rate System

(d) Fully Convertibility System

[4dth HF’"-I(" 2001; SSC Grad. 2004; UP PES (Mam ) 2004, 2007]

2001]

ki (a) ]uly, 1991
(c) July, 1997

(b) ]uly, 1993
(d) July, 2001

[45th BP5C
The one rupee note bears the signature of the :
‘,(a] Secretary, Ministry of Finance
(b) Governor, RBI
(c) Finance Minister
(d) None of these - [48th-52nd BPSC 2008]
Word ‘Bull and Big’ are associated with w]*uch branch of
commermal actlvny 3
(a) Foreign Trade
4c) Share Market

2002]

(b) Banking
(d) Manufacturing
[UPPCS 2002]

85.

86.

88.

89.

90.

91.

Which one of the following statements about Foreign
exchange reserves of India, is NOT true ?
(a) Itincludes foreign currency assets and gold holdings
of Reserve Bank of India
(b) It is maintained with the Reserve Bank of India
#(c) Special Drawing Rights (SDRs) are not included in
it
(d) Presently foreign exchange situation is satisfactory
in India [UP PCS 2003]
Consider the following statements and select the correct
answer from the code given below :
Assertion (A) : Devaluation of a currency may promote
export.
Price of the country’s product in the
international market may fall due to
devaluation.

Reason (R)

Codes:
(a) Both Aand R are true and R is the correct explanation
of A
4b) BothAandRaretruebutRisnota correctexplanation
of A
(c) Ais true but R is false
(d) Ais false butR is true
JEuro’is the official currency of :
(a) all the States of Europe
(b) all the States of the European Union
(c) only 12 of the States of the European Union
(d) only 10 of the States of the European Union
[UP PC5 2003]
Which of the following statements is relation to Bombay
tock Exchange, is correct ?
(a 1t is the oldest stock exchange of India
«b) It is known by the name of Dalal Steet
{e) It's share index is known by the name of SENSEX
~Ad) All of the above [UP PCS (Pre) 2004]
JIn Indian currency,. the One Rupee Note is 1ssued ‘under
the : signature of :
(a) Governor of Reserve Bank of India
(b) President of India
Ac) Finance Secretary, Ministry of Finance, Government
of India
(d) Finance Minister, Government of India
[UP PCS Special (Pre) 2004/
Which of the following is is NOT a speculator in the Stock

_Exchange ?

(a) Bull (c) Broker ) Stag
JUP PCS (Main) 2004]

.ﬁu over a given P_enc’d of time both prices and money

Jincome have been doubled, the real income will be

(a) doubled (b) halved =4

(ey unchanged

(d) prices do not affect real income /P PCS (Main) 2004]

(b) Bear

. Convertibility of the Rupee as it exists at present

means :
(a) Rupee is convertible into foreign currencies for all
types of transactions
(b) Rupeeis convertible into fore1g11 currencies for trade
transactions only
Ac) Rupee is convertible into foreign currencies for all
current transactions only
(d) Rupee is convertible into foreign currencies for
capital transactions only [UP PCS (Main) 2004}
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93. Commercial paper is a SQu.rg‘,_nq_f_‘ credit for which one of
the following ?
4a) Corporate Industry
(¢) Commercial Banks

(b) Small Scale Industries
(d) Foreign Banks
JUP PCS (Main) 2004]

{,&:'\(Vhen decmlal method was_introduced in the Indian

(a) 1950 (b) 1954 (c) 1957 (d) 1960

JUP PCS (Main) 2005]
95. BSE Sensexis an index to measure ups and downs in the
share market. The number of comgames covered under
fh e index are
La) 30 (b) 50 (c) 100 (d) 150
[UP PCS (Main) 2005; MI P PSC (FPre) 2009]
96. Who formulates | the moneta_r__y policy in India ?
{a) SEBI ) RBI
(c) Finance Ministry (d) Planning Commission
[UP PCS (Main) 2006]
97. The question of full capital account convertibility of

ﬁﬁ In October 2009, a decision has been taken to shift the

—Wholesale Price Ir_ldex base year from 1993-94 to :
a) 2001-2002 (b) 2002-2003
(c) 2003-2004 by 20042005
[UP PCS (Pre) 2009]
107, Treasury bills are sold in India by :
. Reserve Bank of India  (b) State Governments
(c) Commercial Banks (d) SEBI
[UP PCS (Main) 2009
108. Money mulhpher in Incha is defined as :

~_ Broad ’\zioney ~Broad Money
(@) Base Money Reserve Money
. Reserve Money Base Money

(c) 4) Reserve QDney
[UP PCS (Main) 2009]
109, The headquarter of RBLis situated. at :
(a) Delhi (b) Kolkata
(c) Chennai (d) Mumbai
[UP PCS (Pre) 2010]

Base Money

Indian Money (Rupeez was examined by the committee .-£10. When did the ‘naya paisa’ introduced with h the decimal

(a) Vaghul Committee (b) Rangrajan Committee
(¢) Tarapore Committee Il (d) Hashim C()mmlttet,
[UP PCS (Pre) 2007]
98. Inside trading is related tq,:
(a) Share Market
(c) Taxation

(b) Horse racing

(d) International trade
[UP PCS {M’ rin) 2007 UP PCS {"H’ain ) 20091

(a) “The ( Compehtmn Act

(¢) The Monopolis Act

;;b) The FEMA
(d) The MRTP Act
[UP PCS (Main) 2007]
8. The base of Consumer Price Index (CPI) for industrial
workers has been shifted from 1982 to :
(a) 1998 (b) 2000 {e) 2001 (d) 2002
[UP PCS (Main) 2008]
101. The basis of determlrurlﬁ__ef@gss allowance (d.a.) to_
Govemment employees in India is :
(a) National Income .(.b)’ Consumer Price Index
(c) Standard for living (d) Per Capita Income
[UP PCS (Main) 2008]
102 Wndex of wholesale prices which one of
_the following sector is assigned maximum welghtage 7
) Food articles (b) Non-food articles™
(c) Fuel, power, light and lubricants
(d) Manufactured products [UP PCS (Main) 2005]
103, The most popular measure of inflation in India is :
(a) General price rise _(b) Wholesale price index
(c) Consumer price index
(d) Consumer price index for industrial workers
,J’UPPC“%' (Fv’!ain) 2008]

ear . .

(a) 1949 (by 1966 () 1972 (d) 1990

[UP PCS Special (Fre) 2008]

105. Base year for estimation of Gross Domestxc Product at
constant prices in India, at er-.b

‘(a} 1999-2000 ~ () 2000—2001

(c) 2002-2003 (d) 2006-2007
[UP PCS (Pre) 2009]

system of coinage, become “paise’ ?
(a) April 1, 1957 (b) October 2, 1961

(c) Junel, 1964 L) April 1, 1965
: [Utt. PSC (Fre) 2005]
;111 From which year was the FEMA promulgated ?
fa) 1999  (b) 2000 (c) 2002 (d) 2003
[MP PSC (Pre) 2004]
112. Tick mark which is incorrect about inflation :
(a) Inflation indicates the rise in the price of a basket of
commeodities on a point-to-point basis.
.(b) The inflation rate in India is calculated on the basis
of the wholesale price index.
(¢) For some commodities retail prices are also
considered for measurement of inflation.
(d) Inflation rate going down does not mean prices are
declining. [RAS/RTS 2008]
113. A rise in SENSEX means :
“(a) arise in prices of shares of all companies registered
with Bombay Stock Exchange.
(b) arise in prices of shares of all compames registered
with National Stock Exchange.
(c¢) anoverallriseinpricesofsharesofgroupupcompanies
registered with Bombay Stock Exchange.
_(d) arisein prices of sharesof all companies belonging to
a group of companies registered with Bombay Stock
Exchange. [UPSC 2000}
114. Consider the following statements ;
Mpee is fully convertible :

1. in respect of Current “Accounts of Balance of

Payment
2. in respect of Capital Accounts of Balance of Payment
3. into Gold '
Which of these statement(s) is/are correct ?
(a) 1alone (b) 3 alone
(c) land 2 (d) 1,2and 3 [UFPSC 20007

115, Guilt-edged market means.:
(a) bullion market
£b) market of Government securities
(c) market of guns
(d) market of pure metals

[UPSC 2000; UP PC5 2002; UP PCS (Main) 2004]
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116. The new series of Wholesale Price Index (WPI) released
by the Govern.ment of Incha is with reference to the base

WL

anes s of :
“(a) 1981-82 (b) 1990-91
fe) 1993-94 (d) 199495 [UPSC 2001]

117. Consider the following :
1. Market borrowings 2. Treasury bills
3. Special securities issued to RBI
Which of these is/ are component(s) of internal debt ?
(a) 1only (b) 1and 2
(c) 2only &) 1,2and 3 [fUPSC 2001]
118. Consider the following :
~+- Currency with the public
~2. Demand deposits with banks
-3. Time deposits with banks
Which of these are included in Broad Money (M) in

_India ?,
“(a) 1and?2 (b) 1and 3
(c) 2and 3 () 1,2and 3

[UPSC 2002; UP PCS (Main) 2008]
119. Consider the following statements :
Full convertibility of the rupee may mean :
~1.  Its free float with other international currencies.
—~2. Its direct exchange with any other international
currency at any prescribed place inside and outside
the country.
3. Tt acts just like any other international currency.
Which of these statements are correct ?
4e) 1and?2 (b) 1and3
(c) 2and 3 (d) 1,2and 3 frPsc zoozj
120. Debenture holderg of a company are its :
(a) shareholders &) creditors
(c) debators (d) directors [UPSC 2003]
121. What is Indo Next which was launched in January,
2005 Z
(a) A new scheme to promote Indian tourism.
(b) A new scheme to promote export of Indian handicrafts.
(c) An association of the Non-Resident Indians to
Organise Bharatiya Diwas every year in India.

A&} An alternative trading platform being promoted by
the Mumbai Stock Exchange and Regional Stock
Exchange. JUPSC 2006]

122, Tarapore Committee was associated with which one of
the following ?
“(a) Special Economic Zone
AB) Fully Capital Account Convertibility
(c) Effect of oil-prices on the Indian Economy.
(d) Foreign Exchange Reserve [UFSC 2007]
123, Which one of the following pairs is NOT, correctly...
matched ?

~" Country Share Market

(a) Japan ... Nikkei

) Singapore  ...... Shcomp

© U . ises FTSE

d)y TIsA. e Nasdaq [UPSC 2009]

124, Which one of the following statements is an appropriate
description of deflation ?
(a) Itis a sudden fall in the value of a cumency against
other currencies.
(b) It is a persistent recession in both‘the financial and
real sectors of economy.

Objective General Knowledge

¢} Itisa persistentfall in the general price level of goods
and services.
(d) Itisafallin the rate of inflation over a period of time.
[UFPSC 20107
125.In the parlance of financial investments, the term ‘bear’
denotes :
{a) An investor who feels that the price of a particular
security is going to fall.
(b) Aninvestorwhoexpects the price of particularshares
to rise
(c¢) A shareholder or a bondholder who has an interest
in a company, financial or otherwise.
(d) Any lender whether by making a loan or buying a
bond [UPSC 20107
126. Which of the following is/are treated as artificial currency ?
(a) ADR (b) GDR
{c) SDR (d) Both ADR and SDR
[UFPSC 20107
127, Consider the following statements :
In India, taxes on transactions in Stock Exchange and
Futmﬂe Markets are :
1. levied by the Union 2. collected by the States
Which of the statements given above is/are correct ?
(@) lonly (b) 2 only
(c) Bothland?2 (d) Neither 1 nor 2
[UPSC 2010]
128. _Ml_cmﬁnance is_the provision of financial services to_
people ‘of low-income groups. This mc[uded bﬁe

- Credit fa.CllltIEb
‘,3. Insurance facilities
Fund Transfer facilities
Select the correct answer using the codes given below the
lists :
(a) 1only (b) 1 and 4 only
(c) 2Zand 3 only <kd) 1,2, 3and 4 [/IIPSC 2011]
129, Economic growth is usually coupled with :
(a) Deflation &b) Inflation
(¢) Hyper inflation (d) Stagflationjupsc 2011)
130.A rapid increase in the rate of inflation is sometimes
attributed to the ‘Base Effect’. What is Base Effect ?
(a) Itis the impact of drastic deficiency in supply due to
failure of crops
(b) It is the impact of the surge in demand due to rapid
economic growth
&) Itis the impact of the price levels of previous year on
the calculation of inflation rate
(d) None of these
131.Which of the following measures would =
.increase in the _money bupply in the e onomv ?

,(?Jf Purchase of governement $écurifies from the public
by the Central Bank

2. Deposit of currency in commercial banks by the

public
P
4,

=y Savmg facilities

[UP‘QCQ(}I}]

Borrowing by the goverment from the Central Bank
Sale of government securities to the public by the
Central Bank

Select the correct answer using the codes given below :
(a) 1only (b) 2and 4 only-

ke) 1and 3 (d) 2,3and 4 [UPSC2012]



Indian Economy 167

132.Consider the following statements :
The > price of any currency in international mar ket is
decxded by the
1. World Bank
_2- demand for goods/ services provided by the country
concerned

1.

" _{&) Return on capital increases

3. stability of the government of the concerned country

4. economic potential of the country in question
Which of the statements given above are correct ?

(a) 1,2, 3and 4 Ab) 2 and 3 only

(c) 3and4 only (d) 1and 4 only [UPSC 2012]

AF Banking

What are ‘Open Market Operations’ ?

(a) Activities of SEBI- registered brokers

(b) Selling of currency by the RBI

) Selling of gilt-edged securities by the Government
(d) Sale of shares by Flls [SSC Grad. 2003]
Which from the following is NOT true when the interest
rate in the economy goes up ?

(a) Saving increases (b) Lending decreases

(c) Cost of production increases

[S5C Grad. 2003]

Rate of interest is determined by :

(a) The rate of return on the capital invested

(b) Central Government (c¢) Liquidity Preference
Commercial Banks [SSC Grad. 2003]

’Interest is the reward for abstinence’. Who says ﬂ:‘lIS 2
(a) Keynes ' by Marshall T8
(c) Malthus (d) David Ricardo
[55C Grad. 2006]
Which _bank was earlier called the ‘Imperial Bank of
Andial? -
_{b) SBI

(a) RBI

The abbreviation NABARD stands for :

_{(a) National Bank for Agricultural and Ruzral Development

“(b) National Bank for Agricultural Refinance and
Development

(c) National Board of Agricultural Research and
Development

(d) National Academy of Banking on Agricultural
Research and Development [S5C Grad. 2006]

It is said that ‘good banker is one who knows the
distinction between M ortgageanda ...... ’
Ta) Hundi (b) “Bill of Exchange
€y Liquid Assets (d) Bond [SSC Grad. 2006]
India’s largest Commercial Bank is :
(a) Central Bank of India @) State Bank of India
(¢) Indian Overseas Bank (d) Bank of India

[SSC Grad. 2006]
Bank deposits that can be withdrawn without notice are.
called :
(@) Account pa}ee deposits (b) Fixed deposits

(c) Variable deposits {d) Demand deposits
[65C Sec. Off. (Aud.) 2006]

(c) UBI (d) PNB

[55C Grad. 2006]

10. Which bank in India performs duties of Central Bank ?

(a) Central Bank of India
(c) both’a” and &’

(b) State Bank of India

td) Reserve Bank of India
[SSC Mat. 2008]

gl—’;'Resewe Bank of India was nationalised in :

Q-C}' 1949 (d) 1951
[85C Sec. Off. (Aud.) 2008}

(a) 1947 (by 1948

12, __Q?En marketoperations of RBl refer tobuying and selling

(a) Commercial bills
(c) Gold

(b) Foreign exchange

fd) Government bonds
[85C Sec. Off. (Aud.) 2008]

13. The Narasimhan Committee (1991) on financial reforms

roposed for establishment of a :

Aa) Four tier hierarchy of the Banking structure
(b) Three tier hierarchy of the Banking structure
(c) Two tier hierarchy of the Banking structure
(d) United control by the apex institutions

[85C Sec. Off. (Aud.) 2008]

14, Green Banking means :

(a) Development of forestry by banks

«b) Financing of environmental friendly projects by banks
() Financing of irrigation projects by banks

(d] None of the above [55C CPO 51 2008]

. Which one of the following is NOT a quantitative credit
Control technique ?

@) Bank Rate

(b) Cash Reserve Ratio (CRR)
(c) Increase of interest rate on saving deposit
£d) Statutory Liquidity Ratio (SLR) [S5C CPO SI 2008]

16. An instrument of qualitative credit control in India is :

(a) open market operations {b) credit rationing

(c) change in reserve ratio (d) bank rate Tpohc
[S85C Tax Assit. 2009]

- The Bank Rate is the rate of interest at which the Reserve
‘Bank of India _provides loans to the : '

) Scheduled Commercial Banks
(b) Public Sector (¢) Corporate Sector
(d) Foreign Institutional Investors [SCRA 2001]

18. The Monetary Policy of India is announced by the :

{(a) Prime Minister of India /# Governor of the RBI

(c) Union Finance Minister (d) Union Commerce Minister
[SCRA 2001]
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19. Wh_lch of the fo]lowmg rates is NOT decided by the
“Reserve Bank of India 7

27. The Reserve Bank of India keeps on changing various
r'iho,*’ rates frequently Why this is done ?
“(a) Bank Rate (b) Repo Rate __1.- To keep inflation under control
(c) Reverse Repo Rate () Income Tax Rates ‘_Zf To ensure that Indian rupee does not loose its market
() All of these [SBI Clerk 2007, SBI Clerk 2009] = value
20, India has different categories of commercial banks which /3(’ To ensure that banks do not earn huge profits at the
of ﬂquo]l{)Wlng is NOT one ';m_h category ? cost of public money
(a) Nationalised Banks (b) Co-operative Banks (a) Only 1
(c) Private Banks (d) Foreign Banks (c) Only3 4d) Alll,2and3
£) Commodity Banks [SBI Associate Bank Clerk 2008] (e) None of these [5B1 Clerk 2008: Bank of India PO 2008]
21. Which among the following activities can NOT be 28. Which of the following is NOT a foreign bank opering

considered a common activity of a general bank AnT ﬁldla"
customer? (a) ABNAmro (b) NSBC

(a) Use of tele-banking (c) Standard Charted Bank {%) Yes Bank
(c) Start of EFT facility (e) All these are foreign banks [SBI Clerk 2008]
(d) Use of Banker’s cheque 29. Which of the following is NOT a_banking related or
(e) Increase or decrease in PLR and announcement of fmam:lal term,’ 17
credit policy [5BI Clerk 2008} (a) Credit worthiness
22. Which of following States achieved 100% financial (c) Payment gateway
Thclusion ? LEach and every family in the State has atleast (e) All are banking terms
,Qne bank account )
(a) Delhi

(b) Only 2

(b) Use of ATMs

(b) Margin Money
tt) Polymerization
[5BI Clerk 2008]

300 High rates of interest in a low inflation regime ......

(a) attract people to make an investment

{b) discourage people to make an investment

(c) create atomosphere for capital formation

(d) are not favourable for credit expansion
[5B1 Clerk 2008]

(b) Maharashtra
(c) Kerala () Karnataka
(e) West Bengal [SBI Clerk 2008]

23. The head office of the State Bank of India (SBI) is located
in: ' : (e) None of these

“(a) Kolkata (b) New Delhi 31. Which among the following terms is NOT related_to
(c) Pune (d) Ahmedabad Banking 7.
ey Mumbai [SBI Clerk 2008] (a) Cash Reserve Ratio (b) Currency Exchange

(c) Bank Rate
e} Zero Hour

32. Which of the the following types of accounts are known as

(d) Repo Rate
[SBI Clerk 2008]

24. Beforeopeninga anew branch of abank, banks are required
“totake mandatory permission ,’hcense from ......
"fa) Reserve Bank of India the followin
(b) Indian Bank Association Demat Accounts?,
(c) Securities and Exchange Board of India (a) Accounts which are Zero Balance Accounts
(d) State Government (b) Accounts which are opened to facilitate repayment
(e} None of these [SBI Clerk 2008] of a loan taken from the bank. No other business can

25. Many a time we hear about NPA inbanking terminology. be conducted from there.

What is the full form of NPA ? z

{a) Non-Performing Assets

(b) Negotiable and Preferential Asset
(¢) New Performing Avenues

{d) Net Performing Average

(e) Not Presentable Applications

[SBI Clerk 2008]

:‘;6 Banks in India are categorized as Public Sector and
Private Sector Banks. Which of the following types of

banks are called TPublic Sector Banks ?

(@) Thoseinwhich Government of Indiahasa controlling
stake.

(b) Those which are giving services to poor sections of
society like those living below poverty line, in remote
areas or in different areas.

(c) Those who are governed and regulated by the
Reserve Bank of India only. Finance Ministry does
not have any control over them.

(d) Only those banks are called public séctor whose
shares are traded in Stock Markets. Others are private
banks.

(e) -None of these [SBI Clerk 2008]

4c) Accounts inwhich shares of various companies are
traded in electronic form

(d) Accounts which are operated through internet
banking facility

(¢) None of these

{Bank of India Clerk 2008; Bank of India PO 2008]

33. Which of the following I banks is a nationalized bank ?

(a) ICICI Bank (b) Yes Bank
(c) Saraswat Co-operative Bank
Ld) Reserve Bank of India

(e) None of these [Bank of India Clerk 2008]

34. If you visit the bank of a bank you will normally not see

a department/section/counter names as .......

(a) cash “(b) credit

(¢) customer care (d) retail banking

fey housekeeping [Bank of India Clerk 2608]

35. Which of the following is NOT a banking related

system ?,

(a) Portfolio Management
(c) Treasury Operations
{e) Proclamation

(b) Overdraft
(d) Merchant Banking
{5BI Clerk 2008]
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36. The Banking system in India has mainly two types of
Credit Control System— Quantitative and Qualitative.
Which of the following is/are NOT Quantitative Credit
Control(s) ?

1. Bank Rate 2. CRR

3. Margin Requirement

(a) Only1 (b) Only 2

qc) Only 3 (d) Both 1and 2

(e) None of these [SBI Clerk 2008]

Commercm_l Bank at gresent T
(a) 1IDBI Bank (b) ICICI Bank

(¢) AXIS Bank {d) SBI

(e) None of these [SBI Clerk 2008}
58. The head of the State Bank of India (SBI) is designated

as:

(a) Executive Director

(c) Deputy Governor
(e) Chairman

(b) Governor
(d) Director Incharge
mar Clerk 2008]

Banl( of India ?

«a) Provide Credit facility to the general public

(b) Keep Government money in various account heads

(¢) Keep Foreign Exchange Reserve of the country in
safe custody

(d) Frame Monetary and Credit Policy

(e) All are RBI's functions {Bank of Baroda Clerk 2008]

40. Which of the following policies/agreements/accords
is closely associated with the reform in Banking
Industry ?

(a) Doha Accord
(c) Look East Policy (d) Geneva Fremework
(e) All of these [Bank of Baroda Clerk 2008]

41. Which of the following organisations has the privilege of
issuing Bank Notes (Currency) in India ?

(a) State Bank of India ® Reserve Bank of India
(c) All Nationalised Banks

(d) New Note Printing Press in India

(e) N one of these [Bank of Baroda Clerk 2008]

() Basel Accord

Reserve Bank of Indla _(BB[) 0 ease the llqu1d1ty crunch
in the ‘country ?
Cut in Cash Reserve Ratio (CRR) and Statutory
Liquidity Ratio (SLR)
2. Increase the flow of Foreign Direct Investment

(FDI)
3. Supply of additional currency notes in the market
(a) Only1 (b) Only 2
(c}) Only3 (d) All1,2and 3

(e) None of these [SBI Associates Bank Clerk 2009]

43. Micro Credit means :
~t> Loans of small amount to people in unorganised
sector
~27 Loans to Self-Help Groups
3. Loans amounting T 50 lakhs to T 5 crores to Medium
and Small Industrial Units.
(a) Only1 (b) Only 2
(e) Only1and?2 (d) All1,2and 3
(e) None of these [SBI Clerk 2009}

44. As we all know in Indian currency market is ~_1'§‘tg',11\le1ted

by the Reserve Bank of India g__wI_),_j_thIIe ‘currency
futures” are jointly regulated by the RBI and which of

_the following other banks 2

(a) NABARD (b) SIDBI

(c) SBI (d) ICICI Bank

{e) SEBI [SBI Clerk 2009]

45. Which of the following is NOT a banking related
&y Sl\:IE Finance
(c) Drawing power
ey Equinox

46. Bad loans in banking terminology are generally known

_as:

(a) Prime Loans
(c) BPOs

‘_Le) NPAs

(b) Overdraft
(d) Sanctioning

[SBI Clerk 20097

(b) Prime Asset
(d) CBs

ISP Clerk - 2003)

(a) NABARD ) BSE
A{c) ISRO (d) ECGC
(e) SEBI [United Bank of India Clerk 2010]

48. Which of the following terms is NOT NOT used in the field of
Banking and Finance ?
(a) Overdraft

(b) Base Line

(c¢) RTGS Ad) GBC
(e} Retail [United Bank of India Clerk 2010]
49. Who amongst the following appoints Banking

rC_.‘fr'_x:n_bud';.rnan in each State ?

(a) Ministry of Social Welfare, Government of India
(b) Registrar of Companies .
(c) The President of India

&) The Reserve Bank of India

(e) Nomne of these

[Bank of Maharashtra Specialist Officer, 2006]

e AR S

nclusmn as animportant oh;mmﬁmghgnkm&ggi‘l
What do they mean by ‘Financial Inclusion’ ?

A Reachmg banking services of all sections of the
society in all parts of the country.

2. Providing all sorts of financial aids/grants to the
people living below poverty line as a social welfare
measure without earning any profit.

3. This means that banks henceforth should open their
branchesin rural areas only.

(@) Only 1 (b) Only 2

(c) Only1and?2 (d) Only 2 and 3

(e) None of these

a’.’.i’a;nt of Maharashtra Specialist Officer 2006;

nominee dlrec{;grs from the boards of the pnval:e sector
_banks ?

(a) Registrar of Comparues

() Reserve Bank of India

(c) State Governments

(d) Registrar of Co-operative Societies

(e) None of these {Central Bank of India PO 2006/
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52. Banks have sta@)}ﬁrf_mg ‘No Frill” accounts recently.
m&g are to help which of the following s section
of customers ?
(a) Weaker section of society
(b) High value customer
Students
(d) Loan-seekers who were not able to repay their loans
taken earlier
(e) None of these

[Central Bank of India PO 2006]
53. Which of the following organisations / agencies recently
decided to provide grades to the merchant bankers so
that they can track the market and ensure that only good
issues arrive in the market 7
(a) RBI
(c) AMFI
(d) Registrar of Companies [IOB PO 2006]
&?W hich of the following is the name of thebank founded by
the \fvm.ner ofthe Nobel Peace Prize 2006 Mr. Muhammad
Yunus?
“(a) Bank for the poor
(c) Rashtriya Bank Jd) Grameen Bank
(e) None of these [Andhra Bank IT Officer 2007]

55. As per RBI directives, which of the following functions
can not be outsourced by the Banks ?
-fa) Opening and ciof;mb of accounts
(b) Cash collections from the parties
(¢) Recovery of bad loans
(d) Credit cards and Debit cards
(e) Internet audit [Bank of Baroda PO 2007]
56. Many a time we come across a term in banking sector
‘Retail Banking’. What does it really mean ? In simple
words Retail Banking is to provide banking services :
(@) only to individual customers in an integrated
manner
(b) entirely to agriculture sector only
(c) only to Self-Help Group for their survival
(d) only to big corporates and business houses
(e) None of these [Bank of Maharashtra PO 2007]
57. Many a time we read in newspaper about the benefits of
National Electronic Funds Transfer (NEET), a delivery
service launched by the bank. Why do banks advocate
for such delivery channels ?

b) SEBI

(b) Swadeshi Bank

1. It is a system inwhich no physical transfer takes
place, hence risk is very low.

2. Inthis system banks are not required to transfer any
money actually to the account of the customer. Only
book adjustment is done. Hence actual fund is not
needed.

. 3. This facility is available to anybody at any place.
Even having a bank account is not at all necessary.

(a) Only 1 is correct (b) Only 2 is correct

(¢} Omly 3 is correct

{d) Both 1 and 2 are correct

(e) All1, 2 and 3 are correct

[Oriental Bank of Commerce PO 2008]

A /’Ma:ny_ times we see banks advertise— Anywhere
: Ba_nkmg___ A’nvhme Banking’. Whi¢h of the following
_products/ facﬂ_ltles iaunched by banks mako it possible
_for the matnmerq to avail _banking services 24 hours all
_seven days ?

= ATM —2: Internet Banking
3. Universal cheque facility
(a) Only1 (b) Only 2
_(c) Both1land2 (d) Only 3

(e) All1,2and 3 [Orienial Bank of Commerce PO 2008]
59. As reported in some major financial newspapers, many

times it is said that ‘Other Income’ boasts the profit of a

bank to a substantial level. What is this 'Other Income’

for a bank ?

1. - Commission for selling insurance policies

2. Fee for providing various services (like ATM /Extra

Cheque etc.)
3. Interest on advances and loans
(a) Only 1 (b) Only 2
Ac) Bothland?2 (d) Only 3
(e) All1,2and3  [Oriental Bank of Commerce PO 2008]

60. The Foreign Exchange Reserves of India are kept in the
custody of :
mBank
A4c) Reserve Bank of India
(d) Prime Minister Rahat Kosh
(e) None of these
{Vijaya Bank PO 2008; WB PSC (Pre) 2008]
61. Various banks in the country have installed machines
thCh dll;burqe money to general pubhc The machines

(b) IMF

are called :

(@) Coin Dispensing Machines

(b) ATMs (c) Debit Card Machines
(d) Ledger — Machines (e} None of these

[Vijaya Bank PO 2008]

jf' Which of the following organisations/banks has done

"2 commendable work in the field of micro-finance was

“awarded Nobel Prize also in the past ? i

Aa) Grameen Bank of Bangladesh

(b) CRY (¢) ASHA

(d) NABARD (e) None of these

[Vijaya Bank PO 2008]

63. Which of the following is considered an informal method

(_)_jx_ettmg credit/ finance ?

(@) Internet Banking

(c) Telebanking d) Going to Moneylenders

(e) All of these [Vijaya Bank PO 2008]
64. Your friend gets ¥ 10,000 from his grand parent. He/she

wants to invest in a bank in such a way he/she need not

withdraw the amount partly or wholly for two years.

What kind of account should he/she open in a bank ?

(a) Small Saving Account (b) Current Account

(e} Term Deposit Account (d) Demat Account

(e) None of these [Vijaya Bank PO 2008]

65. Asweallknow Cash ReserveRatio(CRR)isthepercentage

(b) Branch Visits

of ‘the deposit banks keep in reserve w1ﬂ1 them. This ratio
1is also known as :

(&) RépoRate (b) Reverse Repo Rate

(c) SLR 4d) Liquidity Ratio

(e) None of these [SBI PO 2008; Canara Bank PO 2009]
66. _@%ﬁ’&mﬂempﬁwgmﬂﬂnwacmm
with a view to regulate
,{a’)’ Liquidity in the economy
b} Prices of essential commodities
() Inflation

/(;1)— Borrowing power of the banks
All the above [Bank of Barada PO 2008]
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67. When more than one bank is allowing credit facilities to

one party in coordination with each other under a formal
arrangement, the arrangement is generally known as :
(a) Participation ) Consortium

(c) Syndication (d) Multiple Banking

(e) None of these [Bank of Baroda PO 2008]

68. Open market operations, one of the measures taken by

RBLin order to control credlt expansion in the economy,
means :

(a) Sale or purchase of Government Securities

(b) lssuance of different types of bonds

(c) Auction of gold

(d) To make available direct finance to borrowers

(e) None of these [Bank of Baroda PO 2005]

69. _The bank rate means :

(a) Rate of interest « charged by commercial banks from
borrowers

(b) Rateofinterestatwhichcommercialbanksdiscounted
bills of their borrowers

(c) Rate of interest allowed by commercial banks on
their deposits

{d) Rate at which RBI purchases or rediscounts bill of
exchange of commercial banks

(e) None of these [Bank of Baroda PO 2008]

70. Reverse Repo Rate means :

(a) Injecting liquidity by the Central Bank of a country
through purchase of Government Securities

<b) Absorption of liquidity from the market by sale of
Government Securities

(c) Balancingliquidity with a view to enhance economic
growth rate

(d) Improvingthe positionofavailability of the securities
in the market

(e) Any of the above [Bank of Baroda PO 2008]

71. The stance of RBI's monetary policy is :

(a)
(b)
(©)
(d)
A=)

inflation control with adequate llquldlty for growth
improving credit quality of Banks

strengthening credit delivery mechanism
supporting investment demand in the economy
Any of the above [Bank of Baroda 2008]

72. Alotof Banks in India these days are offering M-Banking

faCIhty to their customers. What is the full form of "M’ in
‘M-banking ?

@) Money

(c) Message

«e) Mobile Phone

(b) Marginal
(d) Mutual Fund
[Bank of Baroda PO 2008]

73. Which of the following is NOT the part of the scheduled

bankzng structure in India ?

(a) Moneylenders (b) Public Sector Banks
(c) Private Sector Banks (d) Regional Rural Banks
(e) State Co-operative Banks [Bank of Baroda PO 2008]

74. The availability of cash and other cash-like marketable

.are commonly known as :
ﬂ)) Liquidity

(a) Cash Crunch
' (d) Marketability

(c) Credit
(e) None of these [Canara Bank PO 2009}

75. Whenever RBI does some Open Market Operation

transactions, actually it w:she@ to regulate ‘which of the
Tollomng ?

76.

77.

78.

79

.

80.

81.

82.
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(a) Inflation only 4b) Liquidity in economy
(c) Borrowing powers of the banks

(d) Flow of Foreign Direct Investment

(e) None of these [Indian Overseas Bank PO 2009]

In economics it is generally believed that the main
ob}ectwc of a pub]_lc sector financial company like Bank
isto:
"(a) Employ more and more people
(b) Maximize total profits
(c) Maximize total production
(d) Provide financial service to the people of the nation
of its origin across the country
(e) Sell the goods at subsidized cost
[Indian Overseas Bank PO 2009]
Whatis RepoRate ?
(a) Itis a rate at which RBI sells Government securities
to banks
by~ Itis a rate at which RBI buys Government securities
from banks
(c) It is a rate at which RBI allows small loans in the
market
(d) It is a rate which is offered by banks to their most
valued customers or prime customers
(e) None of these [Indian Overseas Bank PO 2009}
Which of the followxng comumittees. has given its
(a) Rakesh Mohan Committee
Ab) Rangrajan Committee (¢) Sinha Committee
(d) Kelkar Committee (d) None of these
[Indian Overseas Bank PO 2009]
Which of the following correctly descrlbes what sub-
prime lending is ?
(a) Lending to the people who can not return the loan
(b) Lendingtothepeoplewhoarehigh-valued customers
of the banks
-c) Landing to those who are not a regular customer of
(d) Bothband ¢

a bank
(e) None of these [Indian Overseas Bank PO 2009]
A customer wishes to purchase some 1IS dollars in India.
He/she should go to :
(a) Public Debt Division of the RBI only
(b) American Express Bank only
{e) RBI or any branch of a bank which is authorized for
such business
(d) Ministry of Foreign Affairs
(e) None of these [Indian Overseas Bank PQ 2009]
Which of the following products of a bank is specifically
designed to provide financial help to children in theu-
l‘IThE.I' studies i inIndiaorina forelgn nation?
; (b) Corporate Loan
ey Educa’clonal Loan (d) Mortage Loan
(e) None of these [Indian Overseas Bank PO 2009]

A Bank/Financial Organisation these days relies heavily
on e-commerce for its transaction. As a part of system
security, it has introduced the organisation’s security
awareness manual. This step of the organisation can be
classified under which one of the following categories of
measures for a business ?
fa) Preventive

(c) Corrective

(e) Nome of these

(b) Compliance
(d) Detective
[Indian Overseas Bank PO 2009]
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83. Which of the following is. the limitation of the ATMs
_owing to wh_lch people are required to yisit branches of
the banl_g__'-"

. Tt does not accept deposits
_2< Ithas alimited cash disbursement capacity
_37 Lack of human interface
(a) Only1 (b) Only 2
(c) Only3 {d) All1l,2and 3
(e) None of these are limitations
[Indian Overseas Bank PO 2009]

84. Which amongst the following organisations make major
credlt poilctes for the Regional Rural Banks (RRBs) ?
_(a) NABARD
(b) Asian Development Bank
(c) World Bank (d) State Bank of India

(e) None of these [NABARD Bank Of#ficer 20091

85. Micro credit or Micro finance is a novel approach to
T:Erdcmg with the poor. In this’ approach bank credit is
_extended tcl the poor. through :

“(a) S¢ SelfHelp Groups (b) Anganwadi
(c) Co-operative Credit Societies
(d) Reserve Bank of India
(e) Small Industries Development Bank
[NABARD Bank Officer 2009]

86. The head office of the National Bank for Agriculture and

Rural Deveélopment (1 (NABARD) is located in :

“(a) New Dalhi (b) Hyderabad

{€) Mumbai (d) Lucknow

(e) None of these [NABARD Bank Officer 2{)001

3o the farmer c Commumty B
"(a) Kisan Credit Card (b) Indira Vikas Patra
(c) National Saving Certificates
(d) Loan against gold () None of these
[NABARD Bank Officer 2009]
any times we read in newspapers that the RBI has
ILVISE‘d certain rates /ratios under LAF. What is the full
form of LAF?
@y quuld1ty Ad}us’rment Facility
(b) Legal Adjustment Facility
(c) Long-term Achievement Facility
(d) Legal Adjustment Formality
(e) None of these [Andhra Bank PO 2009]

89. Wthh of the following is an i mternahona] fomm to

-

(.a,)r ‘Basel Comrmttee
(b) UN Charter on Commercial Laws

(c) World Trade Organisation

(d) International Board of Banks and Finance

(e) None of these [Andhra Bank PO 2009]

90. An agreement, which in fact is a contract, between the

RBIand Banks for the sale and repurchase o of Government
securitiesand short term treasury bills ata future dateand
for wh1ch the RBI mdlcate ‘th___;ltg:es.t.mte is generally
_known as : - .

(a) Repo Rate

(c) Reverse Repo Rate
(e) None of these

(b) Banlk Rate
(d) Prime Lending Rate
[RBI Grade B Qfficer 2009]

91. As per the news published in various financial
newspapers, the RBlis reworking the roadmap on Capital
Account Convertibility. If this is done, who amongst the
following would be able to invest in foreign projects or
acquire assets outside India without any restrictions ?

1. Public Sector Banks

2. Companies which are registered in India

3. Government of India
4.  Any Individual
Ja) Only 1

(c) Only 3

(d) None of these

(b) Only2
(d) All1,2and 3
[SBI PO 2010]

/-QZ;/What is the full form of NBFC as used in the financial

_sector 2.
') New Banking Finance Company
(b) National Banking and Finance Corporation
(c) New Business Finance and Credit
(d) New Business Fund Company
(e) None of these [SBI PO 2010]

93. Which of the following is NOT a banking related-term ?
a) « Outstanding amount
(b) Benchmark Prime Lending Rate
(c) Explicit Guarantee (d) Creditor
[fe) Radiation [Central Bank of India PO 2010]
94. Insurance service provided by various bank is commonly
known as:
“{a) Investment Banking
(c) Merchant Banking
(e) Micro Finance

(b) Portfolio Management
() Bancassurance
[Central Bank of India PO 2010}
95. Which of the following is/are considered a policy rate(s)
in the hands of RBI ?

-7 Repo Rate 2. SIR
3. Inflation
(a) Only1 (b) Only 2
(c) Only3 () Only 1 and 2

(e) All1,2and 3 [Corporation Bank PO 2010]
96. Which of the following is NOT a bank or finance
_company ? : i
(a) Barclays (b) BNP Paribas
(¢) HSBC (d) Lufthansa
(e) All are bank/ finance companies
{Corporation Bank PO ’nmr
97. Which of the following is NOT a function of a Bank ?
(a) Providing Project Finance
(b) Selling Mutual Funds
(c) Settlement of payments on behalf of the customers
(d) Deciding policy rates like CRR, Repo Rate/SLR Rate
etc
(e) All of these [Syndicate Bank Specialist Officer 2010]
98. Which of the following rates/ratios is NOT covered
under the } \Jf[onetary and Credit Policy of RBI ?
(@) Bank Rate (b) Repo Rate’
(c) Cash Reserve Ratio (d) Reverse Repo Rate
(¢) Exchange Rate of Foreign Currencies
[Syndicate Bank PO 20107
99, The Tarapore Comrmttee was appointed by the RBI to
_examine the issue of+
Ad) Capital Account Converﬁbility of the rupee
(b) Current Account Convertibility of the rupee
(c) Bothaandb

(d) Trade Sector Reforms [NDA 2000]
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100.In India,the bank NABARD does not provide rlzfman::e
to: :
" (a) Scheduled Commercial Banks
(b) Regional Rural Banks
(c) State Land Development Banks
_Ad) Export-Import Bank [CDS 2002)
101.Consider the following financial transactions :
1. Purchase of banker cheques for ¥ 50,000 and above
in one day
2. Cash payment of more than T 25,000 for foreign
travel at one time
3. Securities transaction of more than % 1,00,000
4. Cash deposit of more than % 30,000 in any bank
atcount in one day
During which of these transactions is it compulsory to
quote Income Tax PAN (Permanent Account Number) ?
(a) 1Tand?2 ) 1,2and 4
) 2,3and 4 (d) 1, 2,3 and 4 f[CDS 2003]
102. “Repo Rate’ is the rate at which :
“(a) The ~Reserve Bank of India lends
Governments
(b) The international aid agencies to Reserve Bank of
India
(¢) The Reserve Bank of India lends to banks
) The banks lend to Reserve Bank of India [CDS 2004]

103.Consider _the following, statements with regard to
'Etatutory qumd}_y_Rahy (SLR):

1. To meet SLR, commercial banks can use cash only
#Z. SLR is maintained by the banks with themselves
~3. SLR restricts the banks leverage in pumping more

money into the economy

Which "of the statements given above is/are correct ?

(a) 1,2and3 (b) 1and 3 only
<€) 2and 3 only (d) 2 only J[CDs 2010]

5164 Which one of.the following Public Segtor Bank’s emblem
figures a dog and the words fa]thf-ul frlendly init?

(a) PLL["L]'lb National Bank b) State Bank of India

(c) Oriental Bank of Commerce
ey Syndicate Bank [CDs 2010]

105.Which is the highest bank in the banking structure of

India ?

(a) State Bank of India (b) Central Bank of India

(¢) Industrial Development Bank of India
{d) Reserve Bank of India [44th BFSC 2001]

106.Which of the following payment instrument introduced
bv the banks is known as Plastic Money ?
(a) ‘Bearer Cheques L) Credit Cards
(¢) Demand Drafts (d) Gift cheques
[45th BPSC 2002}
107.If the Cash Reserve Ratio (CRR) is lowered by the RBI,
its lmpact on credit creation will be
(&) increase ~(b) decrease
(¢) noimpact (d) none of the other
[48th-52nd BPSC 2008]
108, Which one of the following is a private bank ?
(a) Allahabad Bank (b) Punjab and Sind Bank
(c) Punjab National Bank (é) Punjab Bank
[UP PCS 2003]
109.5tudy the following statements with regard to Reserve
Bank of India and select your answer from the code given
below :

to  State

A Itis the apex bank
#2. Tt regulates the money supply
3. It gives loan to the business houses
- It supervises the operations of NABARD
P P

Codes:
(a) 1and 2 (b) 2and 4
(c) 1,2and3 k) 1, 2 and 4 [UP PCS 2003]
110.Which of the followmg _pairs_is NOT correctly
“matched 7 .
_"T‘)-SEBI Security market regulatory body
(b) RBI Banking regulatory authority
(c) SBI Commercial bank
4d) IDBI World bank [UP PCS (Pre) 2004]

111. The functions of the Lead, Bank are performed by :
“(a) State Bank of India
(b) Reserve Bank of India
(c) Any Bank
{d) Abank designed for this purpose/UFP PCS (Pre) 2004]
477, Central Co-opegative Banks work at :
(a) District level (b) State level
(c) National level (d) Block level
[UIP PCS (Main) 2004]
113.The largest publicsector commermal BankofIndiaisthe :
“(a) Bank of India " (b) Reserve Bank of India
Lo State Bank of India (d) Union Bank of India
' [UP PCS (Main) 2004]
114. Which oneofthefollowingstatementsis correctregarding
mcrease in the Cash Reserve Ratio (CRR) in India ?
“(a) Itincreases credit creation
~b) It reduces credit creation
(c) It does not affect credit
(d) It denotes liberal monetary policy
[UP PCS (‘\rf?m 2004]
115.Which among the following sectors contributes most to
f&?‘?,a%ﬁ“g in India ?
(a) Banking and financial sector
(b) Private Corporate sector
(c) Export sector [{d) Household sector
[UP PCS (Main) 2004]
-;1‘16/’1' he EXIM Bank of India was established in :
(a) 1964 (b) 1976  (c) 1980 (d) 1982
[UIP PCS (Main) 2004]
117.Consider the following :
1. Regional Rural Bank 2. Lead Bank Plan
3. NABARD 4. State Bank of India
The correct chronological sequence of establishing of
these banks is :
(a) 4-3-2-1 (p) 4-2-1-3 (c) 2-34-1 (d) 2-14-3
[UP PCS (Main) 2005]
118.Consider the following statements for ‘India Millennium
_Deposits” Scheme :
17 The scheme was launched by the State Bank of
India
~2Z7 It was intended for Resident Indians only
3. The maturity period of the scheme was six years
only
Which of the statements given above is/ are correct ?
}a) 1 and 2 only (b) 1and 3 only
(c) 1,2and 3 (d) 1 only
[UP PCS (Main) 2005]
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(a) Ba_nk d.[‘”l.ft made of p]astlc coated paper
(b) Currency notes impregnated with plastic thread
(c) Currency notes printed on plastic coated paper
~d) Credit cards mainly issued by the banks
[UP PCS (Main) 2006]
/J;jﬁ"covemment of India, for the first tlme nationalised 14
-~ _large Commercial Banks in the year:
(@) 1956  (b) 1959 -r) 1969 (d) 1971
[UP PCS (Pre) 2007]
121.PAN card issued by the Income Tax Department cannot
be used for which of the fo]_lowmg purposes ?
(a) Proof of 1denty
~Ab) Proof of a registered tax payer
(c) Proof of address
(d) Proof of date of birth [UP PCS (Pre) 2007]
;1‘2‘/ Mohammad Yunus, who has been awarded Nobel Peace
Pnze in 2006, is a. citizen of :
-(a) Bzmgaladesh
(c) Malaysia

(b) Iran
(d) Pakistan
[UP PCS (Pre) 2007]

123. Which bank became the, first bank to open its branch in

_China? .
(a IDBI Bank
_(c) State Bank of India

(b) HDFC Bank
(d) Punjab National Bank
[UP PCS (Main) 2007]
124. Whmh among the following is an asset for a Commercial
Bank ?
(a) Credit to farmers
_{e) Borrowings from RBI
(d) Demand deposits of Industries [UF PCS (Main) 2007]
125. The Banksarerequired tomaintainacertainratiobetween
their cash il hand and total assets. Tl-ns is called :
(a) SLR “(b) SBR © "CBR {d) CRR
JUP PCS (Main)} 2007]
126. The interest rate at which the Reserve Bank of India
lends to commercial banks in the short term to maintain
liquidity is known as ;
(a) Interest rate
(c) Bank rate

(b) Deposit of public

) Repo rate
(d) Reverse repo rate
[UP PCS (Main) 2008]
127. Which one of the following banks give long tecm loans
_to agriculture 7
(a) State Co-operative Bank (b) Commercial Bank
(c) Primary Credit Society

(d) Land Development Bank [UIP PCS (Main) 2008]

128. Which of the following is the most important ‘component

of the halzl_ltue___s_gﬁpmmeraal banks in India ?

(a) Demand deposits  (b) Time c

(b) Time deposits
(c) Imter-bank liablities (d) Other borrowings

[UP PCS (Main) 2008]
129. Which one of the following is NOT anapexinstitution ?
(a) State Bank of India (b) NABARD
(c) SIDBI

(d) State Co-operative Bank [UP PCS (Main) 2008]
130. Which one of the following is NOT a function of Reserve

Banlk of India ?

(a) Credit control
(b) As apex body of scheduled commercial banks
(¢) Formation of monetary policy

(d) Credit creation [UIP PCS (Main) 2008]
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131.Non-Performing Assets (NPA) in commercial banks
mean :
(a) Banlk deposits which are not invested
(b) Capital assets not in use
£e) Loans inwhich interest or principal amount is not
recovered
(d) Loan interest rate loans

132.The Bank rate is the rate at which :
(a) Abank lends to the public
(b) The REBI lends to the public
[Lc) The RBI gives credit to the commercial banks
(d) The Government of India lends to other countries
[UP PCS (Pre) 2009]
133. Which of the following is the most important component
of the liablities of Commercial Bank in India ?
fa) Time deposits (b) Demand deposits
(c) Inter-bank liablities (d) Other borrowings
[UP PCS (Main) 2009)
134. Open Market Operations of Reserve Bank of India refer
to : i
) Trading in securities
(b) Auctioning of Foreign Exchange
() Transaction in Gold
(d) None of these [UP PCS (Pre) 2010]
135. An increase in CRR by the Reserve Bank of India results

[UP PCS (Main) 2009]

(a) Decrease in debt of the government
) Reduction in liquidity in the economy
(c) Attracting more FDI in the country

(d) More flow of credit to desired sectors
;‘m-" PCS (Pre) 2010]

(a) Delhi |
(¢) Chennai

(b) I(olkata
4d) Mumbai
[UP PCS (Pre) 2010]
-JIS:‘? Narasimhan Committee is related to :
~(a) Bank Sector Reform
(b) Heavy Industry Development
(c) Insurance Sector Reform
(d) a and c are correct JUP PSC (Pre) 2005]
138 When was the first Regional Rural Bank formed ?
- (a) 1974 .-(b} 1975 (c) 1976 (d) 1977
[MP PSC (Pre) 204}
135  When was the NABARD formed ?
“ () 1952 (b) 1962 (c) 1982 (d) 1992
[MP FSC (Pre) 2004; WB PSC (Pre) 2007: NABARD Bank O#. 2009]
140. A proportion of the total deposits and reserves of the
Comrnerc:a] Banks with the Reserve Bank of India is
alled:
(@) Balance of Payment
(c) Caution Money

(b) Bank Guarantee

[d) Cash Reserve Ratio
[C PSC (Pre} 2008]

f-/l-‘}j- In which yearwas the Reserve Bank of India established ?

@) 1935 (b) 1940 (c) 1947 (d) 1949
[WB PSC (Pre) 2009]

142.Bank Rate is the rate :
"(a) At which banks lend money to the depositors
[b) At which Reserve Bank of India lends money to
commercial Banks
(¢) The rate at which banks lend to the Industrial
Financial Institutions
(d)

None of the above [ WB PSC (Pre) 2008]
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143 Whlch one of the fo]lowmg rates is NOT determined by

(b) SLR
&d) Prime Lending Rate
[WB P5C (Pre) 2008]
%Matc;h List-I (Organisation) with List-II (Year of
Foundation) correctly and select your answer using the
codes given below :

. (©) Repo Rate

List-I List-II
A. IFCI 1. 1948
B.. IEK 2 1ibh
C. IDBI 3. 1964
D. EXIM Bank 4, 1982
Code: A B (@ D
ge) 1 2 3 4
(B) - 1 3 4
(<) 1 2 4 3
(d) 2 1 4 3 [TN PSC (Pre) 2009]

145.Consider the following statements regarding Reserve
Bank of India :
1. Itis a banker of the Central Government.
2. It formulates and administers monetary policy.
3. It acts as an agent of the Government in respect of

India.

4. Ithandlestheborrowing programme of Government
of India.

Which of the statements are correct ?

#a) land?2 (b) 3and 4

(¢) 2,3and 4 (d) 1,2,3and4 [UPSC 2001]

146.In India, the first bank of limited llabllltlES managed by
Indians and’ founded in 1881 was ;
“ay Hindustan Commercial Bank
~(b) Oudh Commercial Bank

(c) Punjab National Bank

(d) Punjab and Sind Bank

147.Consider the following statements :

1. The National Housing Bank (NHB), the apex
institution of housing finance in India, was set up
as a wholly-owned subsidiary of the Reserve Bank
of India (RBI).

2. The small Industries Development Bank of India
(SIDBI) was  established as a wholly-owned
subsidiary of the Industrial Development Bank of
India (IDBI).

Which of the statement given above is/are correct ?

(a) 1only (b) 2 only

e} Both1and?2 (d) Neither 1 nor 2
[UPSC 2004]

[UPSC 2003]

148.Consider the following statements :

1. Reserve Bank of India was nationalized on 1 January,
1949.

2. The borrowing programme of the Government of
India is handled by the Department of Expenditure,
Ministry of Finance.

Which of the statements given above is/are correct ?

+a) 1only (b) 2 only

(c) Both1land?2 (d) Neither I nor 2

[UPSC 2004]
149.Which one of the following Indian banks is NOT-a
11at10nahbcd [ bank | =
‘\\
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(a) Corporation Bank (b) Dena Bank
{c) Federal Bank (d) Vijaya Bank [UPsC 2004]
150.The National Housing Bank (NHB) was set up in India

as a wholly-owned subsidiary of which one of the.
fo 0w1;1 ?

a) State Bank of India
(¢) ICICI Bank
(d) Life Insurance Corporation of India

{b) Reserve Bank of India

[UPSC 2006]
151.Consider the following pairs :

Large Bank Country of Origin
1. ABN Amro Bank Netherlands
2. Barclays Bank UK
3. Kookmin Bank South Korea

Which of the above pair(s) is/ are correctly matched ?
(a) 1only (b) 2 only
(¢) 1and 2 «d) 1, 2 and 3 fUPSC 2009]
152.Which of the following terms indicates a mechanism
use'a Ey corn_memal banks for pr ovu:lmg crecht to the
“government 2,
“(a) Cash Credit Ratio (b) Debt Service Obligation
(¢) Liquidity Adjustment Facility
{d) Statutory Liquidity Ratio [UPSC 20107
153.In India, the interest rate on saving accounts in all
nationalised commercial banks is fixed by :
(a) Union Ministry of Finance
(b) Union Finance Commission
(¢) Indian Banker's Association
Ad) None of the above [UPSC 2010]
154.When the Reserve Bank of India announces an increase
of the Cash . Reserve Ratio (CRR), what does it mean ?
};rj ) The Commercial banks will has less money to lend
(k) The Reserve Bank of India will have less money to lend
(¢) The Union Government will have less money to lend
(d) Thecommercial bankswill have move money tolend
[UPSC 2010
155.With reference to the institution of Banking Ombudsman
in India, which one of the statements is NOT correct ?
(a) The Banking Ombudsman is appointed by the
Reserve Bank of India
(b) The Banking Ombudsman can consider complaints
from Non-Resident Indians having accounts in India
(c) The service provided by the Banking Ombudsman
is free of any fee
(d) The orders passed by the Banking Ombudsman are
" final and binding on the parties concerned
[UPSC 2010}
156. With reference to India, consider the following :
—~177 Nationalization of Banks
~27 Formation of Regional Rural Banks
x Adopticm of village by Bank Branches

(@) Tand 2 only (b} 2and 3 011ly

(c) 3only A4y 1, 2and 3 JUPSC 2010]

157.Why is the offering to Teaser Loans by commercial banks

a cause of economic concern ?

1. The teaser loans are considered to be an aspect of
sub-prime lending and banks may be exposed to the
risk of defaulters in futures.

2. InIndia, the teaser loans are mostly given toinexperienced
enterpreneurs to set up manufacturing of export units.
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Which of the statements given above is/are correct ?
_(a) 1lonly (b) 2 only
(¢) Both1and?2 (d) Neither 1 nor2
[UPSC 2011]
- 158.In India, which of the following have the highest share
m the dlsbursement of credit to agncu]tune and allied
aCthltlE.‘S 7
,Ea‘)' Commercial Banks
(c) Regional Rural Banks
(d) Micro finance Institution [UPSC 2011]
159.The 10weri@g of Bank Rate by the Reserve Bank of India
leads to:

e

(b) Co-operative Banks

Objective General Knowledge

«a) More liquidity in the market
(b) Less liquidity in the market
(c) No change in the liquidity in the market
(d) Mobilization of more deposits by commercial banks
[UPSC 2011]
160.The basic aim of Lead Bank Scheme is that
(a) big banks should try to open offices in each district
(b) there should be stiff competition among the various
nationalized banks
Aey individual banks should adopt particular districts
for internsive development
(d) all the banks should make intensive efforts to
mobilize deposits

JUFSC 2012]

A2. Public Finance
(Indian Fiscal System, Indian Tax Structure, Centre-State Financial Relation, Black Money etc.)

1. Whichoneofthe following is NOT an example of Indirect
tax 53
(a) Sales tax
(¢) Custom duty

(b) Excise duty
&) Expenditure tax
[88C Grad. 2000]
2. _ Interest on public debt is a part of :
“(a) Transfer payments by the enterprises
#b) Transfer payments by the Government
{c) National Income
(d) Interest payment by house-holds  [S5C Grad. 2000]
3, Whlch authority recommends the principles s governing
the grants-in-aid of f the revenues of the States out of the
_Consolidated Fund of India ?
(a) Public Accounts Committee
(b) Union Ministry of Finance
4¢) Finance Commission
(d) Inter-State Council [8SC Grad. 2003]
4.  Which amidst the following taxes collected by the Union
is not mandated to be assigned to the States ?
(a) Terminal taxes on good or passengers carried by
railway, sea or air
(b) Taxes on railway fares and freights
(¢) Taxes on consignment of goods
Aeh) Service tax

5. The ‘break-even point’ is where :
/fa) Ma.rgmaf revenue equals marginal cost
(b) Average revenue equals average cost
(c) Total revenue equals total cost )

(d) None of these

[S5C Grad. 2004]

[55C Grad. 2005]

6. Which of the following taxes is exclusively and totally
assigned to the Central Government by the Constitution ?
(a) Estate Duty (b) Sales Tax
(c) Taxes on Railway Fares and Freights
-fd) Corporation Tax

[S5C Grad. 2005]

(a) Money supply in the economy
(b) Regulation of the banking system
(c) Planning for economic development
fd) Government’s Revenue and Expenditure
[SSC Grad. 2006]
i shall be called : __
(a) Proportlona] tax
{c) Lump sum tax

_Ab) Progressive tax
(d) Regressive tax
[SSC Sec. Off. (Aud.) 2006]
2. Finance Commission is constituted. :
(a) every year (b) once in two years
(c) once in four years Ay oncein five years
185C Tax Assit. 2008)

10. The Report of Vijay Kelkar Committee relates to :
(a) Trade Reforms e

(b) Centre-5tate Financial Relations
(c) Disinvestment in Public Sector Enterprises
{d) Tax Reforms [SSC CPO SI 2008]
11. Which one of the following is NOT the source o e
_of Central Government ?
(a) Income Tax (b) Corporate Tax
A¢) Agriculture Income Tax (d) Excise Duty
[55C DEO 2008]
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Which one of the following is NOT asource of tax revenue

in Incha;LStateq ?

(a) Land Revenue
(c) Entertainment Tax

(b) Motor Vehicle Tax
{d) Corporate Tax

[85C Tax Assit. 2009]
Which of the following taxes are levied and collected by
the Centre but their net proceeds are who_llx_ganaferred
_toStates 7_
(a) Expenditure Tax and Gift Tax
(b) Additional Duties of Excise in lieu of Sales Tax
(¢) Stamps and Registration

L)~ Taxes on Advertisements

[55C Sec. O 2010]

The budgetary deficit in_the Union Budget of India is
—equal to;

(a) Revenue deficit plus capital deficit

(b) Revenue deficit minus capital deficit

(c) Revenue deficit plus capital deficit

[SCRA 2001}
As we all know Ministry of Finance every year prepared
Union Budget and present it to the Parliament. Which
of the following is/are the elements of the Union
Budget ?

1. Estimates of revenue and capital receipts

2. Ways and means to raise the revenue

3. Estimates of expenditure

(a) Only1 (b) Only 2

(c) Only 3 A All1, 2and 3

(e) None of these [SBI Clerk 2008]
Which of the following is NOT a tax/duty levied by the
Government of India ?

(a) Income Tax (b) Education Cess

(c) Service Tax (d) Custom Duty
&) Toll Tax [5BI Clerk 2008; Bank of India PO 2008]

Which _of the he following taxes is collected by the

Govemment on sal T goods and seryices i the

(b) GET
(e) N one of these
[INABARD PO 2008; Vijaya Bank PO 2008]

(c) SAT (d) VAT

Fiscal deficit is :

(a) total income less Government borrowing

(b) total payments less total receipts

(c) total payments less capital receipts

{d) total expenditure less total receipts excluding
borrowing

(e) none of these [Bank of India PO 2008]

Which of the following is NOT the part of the structure

-of the Financial Systern in India ?

(a) Industrial Finance”  (b) Agriculture Finance
() Government Finance (d) Development Finance

,(.e} Personal Finance [Bank of India PO 2008]

- Asweall know Government of India collects tax revenue
onvariousactivitiesin the country. Whichof the follomng

is a part of the tax revenue of the Govemmgnt

A7 Tax on Income

277 Tax on Expenditure

3 Tax on Property or Capital Assets

4 Tax on Goods and Services

(a) Only 1and3
(¢) Only2,3and 4
(e) None of these

(b) Only 2 and 4
4eb) All1,2,3 and 4
[Bank of Baroda PO 2008]

22. Which

21. Which of the following is NOT a source of tax revenue

collected by the Government of India.?
(a) Custom Duty (b) Excise Duty
(c) Service Duty (d) Income Tax
ey Dividends and Profits [OBC PO 2008]

of the following is/are some of the
recommendations of the Raghurajan Committee on
financial sector reforms 7

—E~ Targetinflation control rather than controllingmoney

supply

<27 Open Corporate and Government Bond markets
-3~ Provide liberal regulations for mergers and
acquisitions
(a) Only1 (b) Only 2
(c) Only3 Ad) All1, 2 and 3

(e) None of these [OBC PO 2008]

23. The amount of which of the following reflects the overall

budgetary _PDSlllOﬂ of the Guvernment ot lndla atagiven
time.
(a) Revenue Deficit
(b) Total Amount of income tax collected
(c) Capital Deficit L&) Fiscal Deficit
(e) None of these [Indian Overseas Bank 2009]
4. Which of the following taxes is NOT levied by the Union
Govern ment 7
(a) Customs (b) Corporate Tax
() Land Revenue (d) Tncome Tax
{(e) Surcharge on Income Tax
{United Bank of India PO 2009]

25, Servme Tax was Lntroduced in India for the fi irst time in

the year :
(a) 1980-81 (b) 1990-91 (c) 1991-92
L) 1994-95 (e) 2000-01 /United Bank of India PO 2009]

26. Whichof thefollo“nng commissionsetupby thePresident

‘of India decides the dlstnbuﬂon of tax incomes between
the Central and State Governments ?
Ta) Central Law Commission
(b) Pays Commission for Government Employees
(c) Administrative Reform Commission
(d) Planning Commission
Finance Commission [United Bank of India PO 2009]

7. Which of the following is/are.the components of the_
_Fiscal Deficit ?

s Budgetary Deficit Market Borrowings
_-37 Expenditure made from Pradhan Mantri Rahat
Kosh
{a) Only 1 (b) Only2
(c) Only 3 L) Alll,2and 3

{e) None of these [United Bank of India PO 2009]

28. Which of the following is true about Value Added Tax

-Lw-rT)‘ ¢

—1= It is a consumption tax levied on value added to the
product on every stage of its production.

2. VAT is levied by the Union Government and only a
small part goes to State Governments.

3. The income tax on retailers is now decided on the
basis of their VAT collection in a year.

Aa) Only 1 (b) Only 2
(c) Only3 (d) All1,2and 3
(e) None of these [Andhra Bank PO 2009]
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29. Manyatimeweread infinancialnewspapersaboutPublic
Debt. Which of the following is/are the components of
Publ:c Debt ?

_1:~ Market Loans
_2- External Loans
3. Outstanding against saving schemes/provident

funds
(a) Only1 (b) Only 2
Ly Both1and 2 (d) Only 3

(e) Alll, 2 and 3 [Andhra Bank Marketing Associate 2009]

30. Which of the following is/are the Non-Tax Revenue
_components of the Union Budge’c of India ?
1. Custom Duties _2— Interest Receipts
__ 37 Dividends and Profits
(a) Only1 (b) Only 2
(c) Only 3 4dY Only 2 and 3
(e) All1l,2and3 [RBI Grade B Officer 2009]
31. As we all know, Government of India pays special
emphasis on the management of Fiscal Deficit. What is
Fiscal Deficit ?
(a) The gap between projected or estimated GDP and
- Actual GDP
(b) The gap between the total number and value of the
currency notes issued by the RBI uptill now over
the number and value of those which are in actual
circulation
(c) The gap between the actual borrowings of the
Government of India and the expected expenditure
for which provision is made in the budget
{d) Excess of Government's disbursement comprising
current and capital expenditures over its current
receipts (Tax /Non-tax receipts)
(e) None of these [RBI Grade B Officer 2009]

32. Which of the following is/are the function/functions of
of the Finance Commission of India ?

1. Distribution of the net proceeds of the taxes which
are divisible between the Union and the States.

2. They recommend the principles which should
govern the grant-in-aid of the revenues of the States
out of the Consolidated Fund of India.

Select the correct answer using the code given below :

(a) 1only (b) 2 only

&) Both1and2 (d) Neither 1 nor 2
[NDA 2009]

. Which among the following is the exclusive jurisdiction

“of the State Government ?

(a) Corporation Tax

fer Sales Tax

(b) Custom Duty
(d) Income Tax
[NDA 2009]
34. The Indian Income Taxis:
“(a) Direct and Proportional
(b) Indirect and proportional
kY Direct and progressive
(d) Indirect and progressive [CDS 2003]
35. Which one of the following is the most important item
_of expenditure of the Government of India on revenue
_ account.?
(a) Defence
(c) Pensions

(b) Subsidies
Ad) Interest Payments
[CDS 2003]

36,,_Wl1.1€h_1§theta§‘thatlslmpnsedby theCentraLGoveI:mnent

States ?
(a) “Custom Duty
(c) Corporation Tax

() Central Excise Duty
(d) None of these
[44th BPSC 2001]
37. Which two of the following taxes are indirect taxes ?
(a) Sales tax and Income tax
(b) Income tax and Wealth tax
k) Sales tax and Excise tax
(d) Income tax and Excise tax [45th BPSC 2002]
38. Recommendationsto the PresidentofIndiaonthe specific
Union-State fiscal relahons are made by the :
(a) Finance Minister (b) Reserve Bank of India
(c) Planning Commission (d) Finance Commission
[46th BPSC 2004]
39. Who is the Chairman of the 12th Finance Commission ?
(a) Prof D.T. Lakarawala b) Dr. C. Rangrajan
(c) Shri Digvijay Sinha (d) Shri K. C. Pant
[46th BPSC 2004]
40. Economic Planning isin ;.
(a) Union List
,Ge)' Concurrent List

(b) State List
(d) not any specific list
[47th BPSC 2005]
41, From the following which one is NOT a _tool of Eiscal.
Policy 2~
ﬁatlon

Ley Interest Rate

(b) Public Expenditure
(d) Public Debt
[47th BPSC 2005]
42 Fiscal Deficit is :
(a) Total expenditure — Total receipts
(b) Revenue expenditure — Revenue receipts
(c) Capital expenditure — Capital receipt — Borrowings
L&)y Sum of budget deficit and Government’s market
borrowings and Liabilities  j48th — 52nd BPSC 2008 )]
43. MODVAT is related to :
(a) Sales Tax_ —
(¢) Income Tax

(b) Wealth Tax
()’ Excise Duty
[48th-52nd BFSC 2008]
44. Which one of the following forms the largest share of
_deficit in Govermncnt of India budget :
(@) Primary deficit (b) Revenue deficit
(¢) Budgetary deficit +d) " Fiscal deficit
[UP PCS 2002; UP PCS5(Main) 2004]
45. Which one of the followmg taxes is levied and collected
() Corporatlon Tax
) Tax on income other than on agricultural income
(c) Tax on railway fares and freights
(d) Customs [UP PCS(Pre) 2004]
46. The largest item of expenditure in the current account of
the Central Government budget is :
(a) Defence Expenditure  (b) Subsidies
Aey Interest Payments
(d) Expenditure on social services
[UP PCS Special (Pre) 2004]
47, 13thFinance Commission has been constituted under the
Chamnanqh:p OE: - 10106 = L=
“{a) Y.S.P. Thorat
(b) Montek Singh Ahluwalia
(c) C.Rangrajan 4d) Vijay L. Kelkar
[UP PCS Special (Pre) 2004; 2008]
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[a) Dlstnbutlon of Revenue

(b) Powers and functions of the President of India

(c) Membership of Parliament

Ld)y Centre-State relations [UP PCS (Main) 2004]

49. Which one of the following group of taxes collected d by

the Central Government. gg.ngl‘shamd«whuh_the States ?
(a) Income Tax, Corporate Tax, Custom Duty
~b) Income Tax, Corporate Tax, Excise Duty
(c) Excise Duty, Cess on Income, Corporate Tax
(d) Excise Duty, Cess on Income, Custom Duty
[UFP PCS (Main) 2004]
50. The latest committee to submit its report on tax reforms
_is known as :
4a) Kelkar Committee (®) Chellia Committee
(¢) Narsimhan Committee (d) Vaghul Committee
[UP PCS (Main)} 2004]
51. The recommendations of the Kelkar Task Forcerelateto :
(a) Trade (b) Banking i
(c) Foreign Investment () Taxes [UP PCS 2004]
52. Under which of the following taxes the total amount
Ml_)le by an individual islimited by theﬂ@@nsmﬁn,n ?
(a) Corporation Tax Ab) Estate Tax
(c) Tax on profession, trade and callings
(d) Succession Duty [UP PCS (Main) 2004]
53. Which of the following statements are true for the e
Tax in India ? )
1 Itisa progressive tax. -2 Itis a direct tax.
3. Itis collected by the State Governments.
4. TItisa proportional tax.

Codes :
(a) Only 1 ) Only 1and?2
(c) 1,2and 3 (d) 2,3and 4

JUP PCS5 (Main) 2004]
54. Which one of the following is NOT a function of Finance
Comumission in India ?
(a) Devolufion of Income Tax
(b) Devolution of Excise Duty
(c) Award of grants-in-aid
{d) Devolution of Trade Tax [UP PCS (Main) 2004}
55. Which one of the following sets of source_s of revenue
belongs to the Union Governrnem;@l.ﬂp, SHE
(a) Gift tax, Holding tax (b) Sales tax, Income tax
(c) Wealth tax, Land revenue
«d)” Custom duties, Corporation tax /1/P PCS (an ) 2005]
56. Whlchmg_of the following is NOT related with i income
*fmrpmggrporate secto_r in India 7
a) (b} Tax on company profit

(a) Fringe benefit tax
(¢} Minimum alternative tax

-d)-Capital gains tax [UP PCS (Main) 2005]
57. A larger part of the fiscal deficit in the Union Budget is
filled by :

(a) Taxrevenue

(c) Foreign borrowing

(d) Printing paper currency [UP PCS (Main) 2005]
58. Which one of the following is NOT an objective of fiscal

policy of Indian Government ?

(a) Full employment (b) Price stability

(c) Equitable distribution of wealth and income

4d) Regulation of inter-State trade  [IJP PCS (Pre) 2005]

£) Domestic borrowing
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59. The tax on n import and export is known as :
“(a) Income tax (EJ) Trade tax
ey Custom duty (d} Excise duty
JUP PCS (Main) 2006]
60,_VAT is imgosed
(b) On ﬁna] stage of the production
(c) On first stage of the production
Ad) On all stages between production and final sale
[UP PCS (Main) 2006}
61. The extent of money transfer to the States out of sharable
pool of tax collection according to the 12th Finance
Commission has been fixed at :
(a) 29.0% (b) 29.5% L&) 30.5% (d) 32.5%
[UP PCS (Main) 2007]
62. With what_subject_is. Raghuram Rajan Committee
conne;_g,ted-?
(a) Austerity in Government Expenditure
() Financial Sector Reforms (c) Export-Import Balance
(d) Rising Prices [P PCS (Main) 2007]
63. If interest est payments_are subtracted from Gross Fiscal
“Deficit, the residuary will be :
“ ) Gross anary Deficit
“(c) Monetized Deficit

(b) Budgetary Deficit
(d) Revenue Deficit
[fUP PCS (Main) 2008]

64. Ascompared to revenue deficit, fiscal deficit will always

Jemain. .
ay Higher (b) Lower
(c) Same (d) All of three 7P PCS 2008]

%55— Who had suggested an imposition of expenditure tax in

India tor first time.?
(a) Kalechi
(c) R.]. Chelliah

b)Y Kaldor
(d) Gautam Mathur
[UP PCS (Pre) 2010]
66. If interest payment is added to primary deficit, it is
equivalent to :
(a) Budget deficit
(c) Revenue deficit

Ab) Fiscal deficit
(d) Deficit financing
[LUIP PCS (FPre) 2010}
/6’/7'.]%1‘.1!;1& was the Wealth tax first introduced in India ?
(a) 1948 {by 1957 (c)y 1976 @y 1991
[MP P5C (Pre) 2004]
68. The recommendations of Kelkar Task Force is associated

(a) Banking (b) Taxes
(c) Foreign Investments (d) -Business

[MP PSC (Pre) 2004: WB PSC (Pre) 2004]
Which of the followmg deficit gives major contribution

69.

{a) Revenue Deficit
{e) Fiscal Deficit

(b) Budgctary Deficit
(d) Primary Deficit

[MP PSC (Pre) 2004]
70. Which of the follomng taxes/duties is NOT under the.

fa) Land Revenue
(¢) Corporate Income Tax

{b} Personal Income Tax
(d) Custom Duties
[WB PSC (Pre) 2008]
71. Match List-I with List-IT and select the correct answer
using the codes given below the lists :
List-I (Term) List-II (Explanation)
A. Fiscal Deficit 1. Excess of Total Expenditure over
Total Receipts less Borrowings
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B. Budget Deficit 2. Excess of Total Expenditure over
Total Receipts (d) Neither 1 nor2

C. Revenue Deficit 3. Excess of Revenue Expenditure [UPSC 2003]
over Revenue Receipts %’ Fiscal Responsibility and Budget Management Act

D. Primary Deficit 4. Excessof Total Expenditure over (FRBMA) concerns :
Total Receipts less Borrowings “(a) Fiscal deficit only (b) Revenue deficit only
and Interest Payments @) Both fiscal deficit and revenue deficit

(a) Only 1
(c) Both1and?2

@y Only 2

~3

w

Code: A B C D (d) Neither fiscal deficit nor revenue deficit//PSC 2006]
_a) 1 2 3 4 {j"f’:‘ Consider the following :

(b) 1 2 4 5 —1." Fringe Benefit Tax =~ —2: Interest Tax

() 4 3 2 1 3 Securities Transaction Tax

(d) 4 3 1 2 [UPSC 2001] Which of the above mentioned is/are Direct Tax/ Taxes ?

72. Consider the following taxes :

1. Corporation tax
3. Wealth tax

—277 Custom duty

,ﬂ-r’ Excise duty

(a) 1 only -ﬁ:r) 2 and E

(c) 1land 3 (d) 2and 3 jUuPSC 2001]

: W}uci; of the following committees examined and

Suggested Fmanmal Sector Reforms ? ?

{a) Abid Hussain Committee

(b) Bhagwati Committee

() Chelliah Committee

(d) Narsimhan Committee [UPSC 2001]

1. The Kelkar proposals which were in the news recently

were were the : b

(a} recommendations for reforms in the power sector

(B recommendations for tax reforms

(c) guidelines for the privatization of public sector
undertakings

(d) guidelines for reducing vehicular pollution and the
promoting of CNG use [UESC 2003]

Consider the following statements :

In India, stamp duties on financial transactions are :
1. leavied and collected by the State Government
2. appropriated by the Union Government

Which of these statements is/are correct ?

(a 1 cmly
(c) 2and 3

(b) 1and 3
(&) 1,2and 3 [UPSC 2009]

78. Which one of the followmg is NOT a feature of “Value

"‘Added Tax’ (VAD)?

“(@) Itisa a multi- pomt destination-based system of taxation
(b) It is a tax levied on value addition at each stage of
transaction in the production-distribution chain
(c) Itisataxonthefinal consumptionof goodsorservices
and must ultimately be borne by the consumer
(d) It is basically a subject of the Central Government

and the State Government are only a facilitator for
© its successful implementation. JUPSC 2009]

79. Which of the following is/are among the noticeable

features of the recommendations of the Thirteenth

Finance Commission ?

1. A design for the Goods and Services Tax, and a
compensation package linked to adherence to the
proposed design

2. A design for the creation of lakhs of jobs in the next
ten years in consonance with India's demographic
dividend

3. Devolution of a specified share of central taxes to
local bodies as grants

Select the correct answer using the codes given below :

_a) 1 only (b) 2 and 3 only
(c) 1and 3 only (d) 1,2and 3 [UPSC 2012]

What is the e purpose ¢ of the India Brand Equity Fund ?

(a} To promote in bound tourism

5) To make ‘Made in India’ a lebel of quality

(c) To organise trade fairs

(d) To provide venture capital to IT sector

[SSC Grad. 2003]

Foreign exchange rate means the rate at which the

currency of one country can be traded for :

{=) The currency of any other country in the foreign
exchange market

(b) US Dollar, which is the strongest currency in any
foreign exchange market

(c) A fixed basket of currencies cons:stmg of Dollar, Yen
and Pound

F()I‘EIUI‘I Trade

(d) The currency of any other country as determined by
the International Monetary Fund  [S5C Grad. 2006]

T}le_Practice of selling goods in a foreign country at a
price below their domestic selling price is called :
(a) Diplomacy (b) Discrimination
fey” Dumping (d) Double pricing
[85C Sec. Off. (Aud.) 2006]

4. A Trade Policy consists of :

() Export-Import Policy  (b) Licencing Policy

(c) Foreign Exchange Policy

(d) Balance of Payment Policy [88C Mat. 2008]

" The World Trade Organisation (WTO) was formed in :

(@) 1991 (b) 1995 (c) 1997 (d) 1999
[55C Mat. 2008; WB PSC (Pre) 2008; TN PSC (Pre) 2009]
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6. FERA in India has been replaced by :
(a) FEPA AT FEMA (c) FENA (d) FETA
[55C Tax Assit. 2008; 55C DEO 2009]

"//‘?:’ The National Institute for Agriculture Marketing (NIAM) :

£ay Jaipur (b) New Delhi
(c) Nagpur (d) Hyderabad [SSC zoos]
8. TRIPS and TRIMS are the term assaciated with :
(a) IMF by WTO (¢) IBRD (d) IDA
[55C Grad. 2010]
9. The exchange of co commodmes ‘between two countries is

f;) Balance of trade
(c) Volume of trade

() Bilateral trade
(d) Multilateral trade
[55C Grad. 2010]
10. Many atime we hear about SEZ in newspaper/ magzines.
Whatisthe full form of SEZ 7
4a) Special Economic Zone (b) Small Economic Zone
(c) Special Enforcement Zone
(d) Service and Economic Zone
(e) None of these
[S5C Gr. 2006; SBI Clerk 2008; Vijaya Bank PO 2008; BOI FO 2008]

11. Ma.ny atimewecome acrq&mtﬂm 1n£mn cialnewspaper

{a)y Itis the Statement of receipt from fous:lgn cou.ntries

and payments made to foreign countries

(b) Itisthe statement of the total value of GDP and share
of imports in it in terms of the percentage of GDP

(c) Itisthestatement of total receipts of the Government
and its share in total GDP in terms of percentage

(d) Only aandb

(e) Alla, bandc [Bank of Maharashtra PO 2007]

12. We very frequently read about Special Economic Zones
(SEZs) innewspapers. These SEZs were et estabhshed w1th
which of the following objectives ?

A To attract foreign investment directly
2. To protect domestic market from direct competition
from multinationals
3. To provide more capital to agricultural and allied

activities
() Only1 (b) Only 2
(c) Only3 () Alll, 2 and 3

(e) None of these

13. Trade Gap’ means :
&) Gap between total imports and total exports

(b) Gap between total GDP and total consumption

(c) Gap between available liquidity and expected
demand

(d) Gapbetweenbudgeted revenue collection and actual
collection of the same

(e) None of these [Canara Bank PO 2009]

14. Specially develc_)ped economic zones _in India_where

{Bank of Baroda PO 2008]

are relaxed with the puprse of glvmg 1ﬁcent1ves to

&) Special Economic Zone (b) Preferenhal Zones
(¢) Industrial Parks (d) Economic corridors
(e) None of these [RBI Grade B Officer 2009]

15. "MEN Clause’ is one of the main pillars on which :

fa) WTO is based (b) IMF is based
(¢) IBRD is based

(d) IDA is based [NDA 2000]

16. Which one of the following sequences is in correct
chronological order that ultimately led to the setting up
of World Trade Organisation (WTQ) ?

Aa) GATT, Uruguay Rounds, Dunkel Draft, Marrakesh

Treaty
(b) GATT, Dunkel Draft, Uruguay Rounds, Marrakesh
~ Treaty
(c) Uruguay Rounds, GATT, Dunkel Draft, Marrakesh
Treaty
(d) GATT, Uruguay Rounds, Marrakah Treaty, Dunkel
Draft [CDS 2003]

=27 In ‘which one of the followmg places was Asia’s first

(a)y Kandla "~ (b) Cochm
(c) Surat (d) Santa Cruz [CDS 2009)

18. In which of the followin g years was General Agreement

on Tarriffs and Trade (GATT) absorbed into the World

Trade Organization (WTO) ?
(@) 1991 (b 1995

19. Wl'm_h is known as the t tlmrd 1 pilla
economm relatmnb ?
(a) IME
_Ley WTO

(d) 2005
[CDS 2009)

(c) 2000

(b) World Bank
(d) GATTdsthe BPSC 2004]
(a} Export prornotlon
Ab) Export financing and insurance
(c) Export quality certification
(d) Export statistics publication [UP PCS 2003]
21. Which one of the following institution is related to export.

finan ancing a and msurance_f_
“{» ECGC (b) GAIL
(c) CBDT (d) IDBI [UPPCS (M) 2005]
22. Iree Trade Policy refers to a policy where there is :
_{a) absent of tariff
(b) restriction on the movement of goods
(c) existence of anti-dumping policy
(d) encouragement for balances growth [P PCS (M) 2005]
23. The tax on import and export is known as :
(a) Income tax ' (b) Trade tax
A¢c) Custom tax (d) None of these
[UP PCS (Pre) 2006]
24. Invisible export means export of :
fa) Services - (b) Prohibited goods
(c) Unrecorded goods
(d) Goods through smuggling [I/P PCS (P) 2006; (M) 2007]
25. The headquarter of World Trade Organisation (WTO) are

at:
(a) New York 4By Geneva
(c) Rome (d) Doha [UPPCS (M) 2007]

26. Free trade zone is one :
fa)" where trade is done without restriction
(b) where any enterpreneur is free to start industries
(c) where infrastructural facilities were provided free to
enterpreneurs by the Government
(d) where industries are free from excise duties and
produce for exports [UP PCS (Main) 2007}
27. Which among the following is the largest trading
Government company of India ?
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(a) Food Corporation of India
() Mineral and Metal Trading Corporation
(c) Khadi and Village Industries Corporation
(d) Trade Fair Authority of India  [I7F PCS (Main) 2008]
_,,g& SEZ act was passed by the Parliament in the year.:
“ (a) 2004 M) 2005
(c) 2006 (d) None of these
[LIP PCS (Pre) 2009]
= 2¢ Balance of payment includes :
g(él’) Visible Trade (b Invisible Trade
ey Debts Ad) All of these
[LIP PCS (Pre) 2009]
30. A ‘Letter of Credit’ is produced by :
(a) Anexporter (b) An importer
ey Both by exporter and importer
(d) Shipping company JUP PCS (Pre) 2009]
31. Which of the following organisations is_involved in
Prowdmg the insurance against various risks to the
_exporters | ?
(a) Reserve Bank of India (RBI)
(b) State Trading Corporation of India (STCI)
(c) EXIM Bank
AdY Export Credit and Guarantee Corporation (ECGC)
[UP PC5 (Main) 2009]
_/3{ Special Economic Zone (SEZ) Act became effective in :
(a) 2004 (b) 2005 ey 2006 (d) 2007
[LIP PCS (Pre) 2010]
ﬂ presentas per governmentrulings, the maximum area
allowed for. a_Spemal_Econmruc Zone (SEZ) is :
(a) 2000 hectares (b) 3000 hectares
(c) 4000 hectares (Y 5000 hectares
[WB PSC (Pre) 2008]
The rate of growth of India’s exports
has shown an appreciable increase after
1991.

: The Government of India has resorted
to devaluation.

34, Assertion (A) :

Heason (R)

Codes :
(a)” Both A and R are true and R is the correct explanation
of A
(b) Both AandRaretruebutRisnotacorrectexplanation
of A
() Ais true but R is false
(d) Ais false but R is true

’“The earlier name of the WTO are :

[UESC 2000]

[UPSC 2001]
36. Which one of the following statements is correct with
reference to FEMA in India ?

(a) The Foreign Exchange Regulating Act (FERA) was
replaced by Foreign Exchange Management Act
(FEMA) in the year 2001

) FERA was given a sunset clause of one year till 31st
May, 2002 to enable Enforcement Directorate to
complete the investigation of pending issues

(¢) UnderFEMA, violation of foreign exchange ruleshas
ceased to be a criminal offence

(d) As per the new dispensation, Enforcement
Directorate can arrest and prosecute the people for
the violation of foreign exchange rule [UPSC 2003/

27. Asser (A) : Balance of payment represents better picture
of a country economic transactions with the
rest of the world than balance of Trade.

Reas () : Balance of payment takes into account the
exchange of both visible and invisible items
whereas balance of trade does not.

Codes:

_{ay Both Aand R are true and Ris the correct explanation
of A

(b) BothAandR aretruebutRisnotacorrectexplanation
of A

(c) Ais true but R is false
(d) A is false but R is true JUPSC 2006]
. NAMA-11 group of countries frequently appears in the

“hews m the context of the af.feurs of wluch one of the

e Nuclear Supplier Group (b) World Bank
(¢) World Economic Forum
() World Trade Organisation [UPSC 2009]
39. The SEZ Act 2005, which came into effect in February,
2006 has certain objectives. | [n this context, COT'!I‘Hdém_ly
_following ;
A7 Development of infrastructure facilities
27 Promotion of investment from foreign sources
_-3~ Promotion of exports of services only
Which of the above are objectives of this Act ?
(a) 1and 2 only (b) 3 only
(c) 2and 3 only S 1,2and 3 [UPSC 2010]
40. Which of the following would include Foreign Direct
Investement in India ?
1. Subsidiaries of foreign companies in India
2.  Majority foreign equity holding in Indian companies
3. Companies exclusively financed by foreign companies
4, Portfolio investment
Select the correct answer using the codes given below :
(a) 1,23 and 4 (b) 2 and 4 only
(c) 1and 3 only £y 1, 2 and 3 only
[UPSC 2012]

2 Answers ¢

= p

;}4 International Organisations
(IMF, IBRD/World Bank etc. )

e

Special Drawing Rights (SDR) facility is available at :
(@) International Monetary Fund (IMF)
(b) International Bank for Reconstruction and
Development (IBRD)/World Bank

(c) International Development Association (IDA)
(d) Organisation of Economic Co-operation and
Development (OECD)
[S5C Grad, 2003; SBI PO 2010]
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JIMF was,_established ta, meet which of the following

TP

v Promoting international monetary co-operation
2. Expanding international trade

3: Lessening the disequilibrium in balance of trade
4. Avoiding competitive exchange depreciations
Codes:

(a) 1,2and 3
(c) 2and 4

(b) 1,3 and 4
(d) 1,2,3and 4
[55C Grad. 2005]
"World Bank’ is also known as :
“(a) International Bank for Reconstruction and
Development
(b) International Bank for Rehabiliation and
Development
(¢) International Bank for Refinance and Development
(d) International Bank for Research and Development
[85C Sec. Off. (Aud.) 2007]
The capital of IMF is made up by contribution of the :
(a) credit (b) deficit financing
[€) member nations (d) borrowings
[SSC Grad. 2008]
World Bank helps countries with loans for the purpose

(b) stimulating prwate investment
(c) tackling foreign exchange crises
(d) meeting deficits in government budget
[SSC Sec. Off. (Aud.) 2008]
. 5.D.R. stands for :
“{&) Special Drawing Rights (b) State Drawing Rights

(c) Special Dollar Rights  (d) Specific Dollar Rights
[S5C CPO 51 2008]

‘The Doing Business Report’ is prepared by which of the |

followmg organisations every year ?
~fay World Bank

(b) Asian Development Bank (ADB)

(c) International Monetary Fund (IMF)

(d) World Trade Organisation (WTQ)

(e) None of these [SBI Clerk 2009]
The head office of the Asian Development Bank (ADB)
isin :

(ay Manila (b) Jakarta (c) Honululu

(d) Nairobi (e) Tokyo [Central Bank of India PO 2006]

’T@ﬁ?ﬁ%ﬂ%&&m@ﬁrmt@:lal_gthi\ca\tion
is published every year by which of the following
orgamsatnon (s)?
1. World Bank
A{a) Only1

(c) Only3

(e) Alll,2and3

2. WTO 3. RBI

(b) Only 2

(d) Both 1 and 2
[NABARD PO 2008]

10. The IMF and the World Bank were conceived- as

institutions to :
(a) strengthen international economic co-operation and
to help create a more stable and prosperous global

economy

(b) IMF promotes international monetary operation

(¢) The World Bank promotes long term economic
development and poverty reduction

fd) Alla,bandc

(e) None of these [Bank of Baroda PO 2008]

. \Nhere is the headquarter of International Bank for

Reconstruct:on amd Development (IBRD} Iocated 2

(a) @) Geneva b) Washington D.C.
(d) Paris

(c) London
[NDA 2008; UP PCS (Main) 2007]

. The term ‘Paper Gold’ means :

(@) Special Drawing Rights (SDR) of the IMF

(b) Special accomodation facility of the World Bank

(c) Currencies still on Gold standard

(d) Deficit Financing [UP PCS (Main) 2004]

. In which year was the World Bank formed ?
(@) 1945 (b) 1956

(c) 1960 (d) 1988

14, Consider the following organisations :
17 International Bank for Reconstruction and

Development (IBRD)

<2. International Finance Corporation (IFC)
3. International Fund for Agricultural Development

(IFAD)
47 International Monetary Fund (IMF)
Which of these are agencies of the United Nations ?
Ta) 1 and 2 (b) 2and 3
(c) 3and 4 & 1,2, 3and 4
[UPSC 2001}

15. ‘“World Development Report’ is annual publication of :

(& International Bank of Reconstruction and
Development (IBRD)/World Bank

(b) United Nations Development Programme (UNDP)
(¢) World Trade Organisation (WTQO)
(d) International Monetary Fund (IMF)

[UPSC 2002; Canara Bank PO 2009;

Indian Overseas Bank PO 2009]

How is the United Nation Monetary and Financial
Conference where in the agreements were signed. to set
up IBRD, GATT and IMEF, cormmonly known ?
(a) Bandug Conference
(b) Bretton Woods Conference
Ley Versailles Conference :
(d) Yalta Conference [UFPSC 2008]

. RegardingtheInternational Monetary Fund (IMF), which

one of the following statements is correct ?

(a) It can grant loans to any country

(b) It can grant loans to only development countries

Le)" It grants loans to only member countries

(d) It can grant loans to the Central Bank of a country
[UPSC 2011]




184 Objective General Knowledge

’,_I;SL ‘Miscellaneous

1. _Production is at socially ideal level under :
(a) Monopolistic Competition
(b) Monopoly
(c) Oligopolistic Competition
. {d) Perfect Competition [SSC Grad. 2006]
2. Which gne of the following is a resn:iual | earning ?
(a) Rent -(’o) Profit™ ~ (¢) “d) Interest
[S8C Grad. 2006]
3. New firms are barred from entering the market in :
“{a) Perfect Competition  (b) Oligopoly
(c) Monopolistic Competition

4d) Maonopoly [55C Grad. 2006f
“ Who says : ‘The e propensity to consume is stable in the
_ shortrun’ 2™ "

&) Keynes (b) Hicks (c) Arrow  (d) Stiglitz

[55C Grad. 2006
5. _The supp _X of a commodlty does NOT depend directly

“(a) Cost of production
(b) Price of the commodity
(¢) Technology of production
(d) Demand for the commodity [S5C Grad. 2006]
6. _Capital information in an economy depends on :
(a) Total income (b) Total demand
Ac) Total savings (d) Total production
[S5C Sec. Off. (Aud.) 2006]
7. Price costisequalto:
,(ra) Variable cost plus administrative cost
(b) Variable cost plus fixed cost
(c) Variable cost only

(d) Fixed cost only [S5C Sec. Off. (Aud.) 2006]

8. An e)gRendthIe tha’t_ has begn macle and cannot be

“recovered is calle
“{a) “Variable cost

(b) Opportunity cost

48} Sunk cost (d) Operational cost
[SSC Sec. Off. (Aud.) 2006]
97 _Wh Who propounded the markel: law’ ?

(@) Adam Smith
(c) T.R.Malthus

“U7IB) T.B. Say

(d) David Ricardo
[55C Sec. Off. (Aud.) 2006]

10. Who among  the following is NOT a classical

econormst’? —
(a) David Ricardo
(¢) Thomas Malthus

(b) John Stuart Mill

4el) John Maynard Keynes
[S5C Sec. Off (Aud ) 2007]
contnbutlagg to the field of - . T
“(a) Food and famines
(c) Indian economy

) Welfare economics
(d) Poverty
[SSC Sec, Off. (Aud.) 2007]

12. E_{)_!g_gl_{;’rme, in_which field is NOT paid out of the
"""""" (b)' Medlcme
Ad) Economics

[55C Mat. 2008]

(c) Chemistry

13. What is needed for creating demand ?
(a) Production &) Price
(c) Income (d) Import [SSC Mat. 2008]

_A4~Who said, ‘Econopmics is the Science of Wealth’ 2.

oz .,-»(ﬁ) ~ Adam Smith (b) Robbin

(c) J.5.Mill (d) Keynes [55C Mat. 2008]

15._Production function expresses :.

(a} te(fmologlcal nelahonsﬁtp between physical inputs
and output
financial relationship between physical inputs and
output '
(c) relationship between finance and technology
relationship between factors of production

[55C Tax. Assit. 2008]

_A6. ‘Interestis areward for parting with liquidity fora raspecific

~ _period’ is according to :
[{a) Keynes
(c) Haberler

(b) Marshall
(d) Ohlin
[S5C Tax. Assit. 2008]

17. Extension or contraction of quantity demanded of a

commodity is a result of change in the :

Ad) unit price of the commodity

(b) income of the consumer

(c) tastes of the consumer

(d) climate of the region [SSC Tax Assit. 2008]

18. For price discriminatioh to be successful, the elasticity of
Egpand for the product in the two markets should be :
_b) different

(d) zero
[55C Tax Assit. 2008]

(c) constant

19.,_The ‘law of demand’ expresses :

(a) effect of change in price of a commodity on its
demand
_() effect of change in demand of a commodity on its
price

(c) effect of change in demand of a commodity over the
supply of its substitute

(d) None of the above [SSC Tax Assit. 2008]
20. When average cost of productxon falls, marginal cost of
~production must be.;
(a) rising (b) falling

(c) greater than the average cost

_(d) less than the average cost [85C CPO SI 2008]

21. Afalli in demand or rise in supply of a commodity :
" (a) increases the price of that commodity
[b) decreases the price of that commodity
(c) neutralises the changes in the price

(d) determines the price elasticity {S5C DEO 2008]

22. An exceptional demand curve is one that moves :
o) ‘upward to the right (b) downward to the right
(c) horizontally

(d) vertically {ssc Tax Assit. 2009]

r,{,af) “initial mputs and ultimate t}utput

(b) inputs and ultimate consumption

(c) output and consumption

(d) output and exports [SSC Tax Assit. 2009]

24. Revealed Preference Theory was propounded by :
(a) Adam Smith (b) Marshall
P.A. Samuelson (d) J.5. Mill
[55C Tax Assit. 2009]
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25. In Economics the terms "Utility” and “Usefulness’ have
(@) same meaning ) different meaning
(c) opposite meaning (d) none of these
[SSC Tax Assit.. 2009]
26 Laissez-faire is a feature of ;
“@) Sodialism

A4¢Y Capitalism

(b) Communism

(d) Mixed economy
[S5C Tax Assit. 2009]

27. In which_type of competition does Marginal Revenue

Curve coincide with Average Revenue Lurve ?
“(a) Monopoly
(b) Imperfect Competition
~4ey Perfect Competition
(d) Monopolistic Competition [S5C Tax Assit. 2009]
28. Accordingto J.A. Schumpeter, entrepreneurs are entitled
to enjoy the profit for their ...... activities.
_ta) innovative (b) risk taking
(c) risk averting (d) hard work
[55C Tax Assit. 2009]
29. Demonstration Effect means :
“(a) effect of advertisement
By imitating effect of consumption
(c) effect of entertainment
(d) effect of an experiment [85C Tax Assit. 2009]
50. Homogeneous product is a feature of :
“(a) Tmperfect market “*(b) Monopoly
(c) Oligopoly ) Perfect competition
-t J8S8C Tax Assit. 2009]
31. The relationship between the value of money and the
prlce level in an economy is :
“(a) Direct ) Inverse
(¢) Proportional (d) Stable [SSC DEO 2009]

3z. Nobel PI]ZE.' Winrung Inkdlaﬂ Amariya Sen i is known for

(a) Phymcs

(b) Environmental Protection

(¢) Chemistry

Aeb Economics [85C CPO SI 2009]

33. If two commodities are cUm_plements, then their cross-
prlce elastmty 15
(a) Zero

j{e) Negative

(b) Positive
(d) Imaginary number
[SSC CPO SI 2009]
34. Opportunity cost of production of a commodity is :
(a) The cost that the firm could have incurred when a
different technique was adopted
(b) The cost that the firm could have incurred under a
different method of production
(c) The actual cost incurred

(dy The next best alternative output sacrificed
[55C CPOSI 2009]

35._Surplus earned by a factor other than land in the short

_period i is referred to as :
(a) Ticonomic rent

(¢} Quasi-rent

(b) Net rent
(d) Super-normal rent
[88C CPO SI 2009]
36. Which from the following is NOT true when the interest
rate in the economy goes up ?
(a) Saving increases (b) Lending decreases
(c) Cost of production increases

‘}d—) Return on capital increases [85C CPO ST 2009]
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7..Labour Intensive Technique would get choosen in a :
...-Ee:)’ Labour Surplus Economy
(b) Capital Surplus Economy
(c) Developed Economy
(d) Developing Economy [55C CPO ST 2009]
38. Which one of the follomng would NOT constitute an
_economic act.wx;y
"(a) A teacher teaching students in his class
(b) A teacher teaching students under Sarva Shiksha
Abhiyan
(c) A teacher providing cunsultancy services from his
residence
A" A teacher teaching his own daughter at home
[SSC CPO SI 2009]
39._A 'want’ becomes a “"demand’ only when it is backed by
the
/(.a')" Abl]lty to purchase
(c) Desire to buy

(b) Necessity to buy
(d) Utility of the product
[SSC Grad. 2010]
49’ The terms ‘Micro Economics’ and ‘Macro Economics’
“were comed by,
@) Alfred Marshall
(&) Ragner Frisch

(b) Ragner Nurkse
(d) J. M. Keynes
[55C Grad. 2010]
,;%iﬁ Economics is what it ought to be’. This statement refer
to:
..(—ﬁ‘) Normative Economics
(c) Monetary Economics

(b) Positive Economics
(d) Fiscal Economics
[S5C Grad. 2010]
42, The excess of price—a person is to pay rather than forego
the - consumption of the commodity is called :
(a) Price (b) Profit
ey Producer’s surplus (d) Consumer’s surplus
[SSC Grad, 2010]
43. When the price of a cormnod.ﬂ:y falls, we can expect :
(a) the supply of it to increase
(b) the demand for it to fall
(¢) the demand for it to stay constant
fd) the demand for it to increase [S5C Sec. Off.
44. Utility in economics means the caBaatx‘ to :
(@) providecomforts ~~ (b) earninincome
Ley satisfy human wants  (d) satisfy human motives
[RRE Mahendru (Patna) TC 2006]
45. Many times we read in financial newspaper,FI1L. What is
_ the fu_ll form Qf PH ?
(a) Final Investment in India
(b) Foreign Investment in India
(c) Formal Investment in India
(d) Fair Institutional Investment
4oy Foreign Institutional Investment
[5BI Associate Bank Clerk 2008]
© 46. Many times we read a term ‘Free Market’ in newspapers.
What does it mean ? [Pick up the correct statement(s).]
1. Itis a market where pricing is driven by the laws of
supply and demand.
2. Infree market things are available without restraints
of the government.
3. In such market goods are free from extraneous
influences such as buffer or quotas.

2010}

(a) Only 1 (b) Only 2
(c) Only 3 ) Both 1 and 2
(e) All1,2and3 [Cerporation Bank PO 2006]
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47, What happens when an economy goes | m the grip of .

" recession 2.
“¥1. GDP erowth slows down
2. People lose their jobs
3. Foreign exchange reserve goes up substantially as
lot of loans / grants start pouring in.
(a) Only 1 (b) Only 2
(c) Only3 4dy Only 1 and 2
(e) None of these [Bank of Maharashtra PO 2008]
48, Which of the following committees recommended the
revival of Co-operative Credit Institution in States ?
Ja)y’ Vaidyanathan Committee
(b) Rangrajan Committee (c) Sachchar Committee
(d) Rakesh Mohan Committee
(e) None of these [Bank of Maharashira PO 2008]
49. When the growth of GDP in a_country slows down
'audd en]y, people start losmg their | ]obs and the situation
‘continues for several wu.ks, what name is given to thls
“state of economy ? '
(a) Inflation

L

4} Recession

(c) Deflation (d) Economic Boom

{e) None of these [State Bank of India PO 2008]
50" Who amongst the following economists gave the concept
- of ‘economics of sale’ which says, man_y goods and

serwces can be produced more cheaply in 1 long series” 7

"(a) Edward C. Prescott (b) Amartya Sen
(¢) Gary S. Bekher (d) Edmund S. Phelps
LeT Paul Krugman [Canara Bank PO 2009]
51. In the present context of socio-economic development
the concept of ‘meeting the needs of the present without
compromising the ability of future generations to meet
their needs’ is popularly known as the concept of :
£4) Sustainable Development
(b) Uniform Growth (c) Target-driven Growth
(d) No risk-No gain (e} Social Viability
[NABARD Bank Officers 2009; RBI Grade B Officer 2009]
52. Which of the followmg terms is NOT used in Econumlcs ?
(a) Balance of Trade ) Break Even
(c) Fiscal Deficit (d) Capital Account
(e) Centrifugal Force [Corparation Bank PO 2010]

53. Which of the following terms is NOT used in the world
le economics/ finance ?
“(a) Sinking Fund (b) Open Door Policy
(¢) Devaluation A} Privilege Motion
(e) Third World [NABARD Bank Officers 2010]

54. Muhammad Yunug of Bangladesh who was awarded
Nobel Prize a few years back is a famous :

"~ (a) Author (b) Scientist
(c) Social Worker Ad) Economist
(e) None of these [NABARD Bank Officers 2010]

55. Who among the following was the chairman of the high
levcl commission on compet;hon goh(;y and law 2
“(a) Bimal Jalan (b) C. Rangach'irl
{c) Y.V.Reddy L) 5.V.S. Raghavan

[NDA 2009]

56. A community’s stock of wealth is accounted.for by the :

Ad) Aggregate of capital and consumer goods
(b) Gross investment minus depreciation
(c) Standard of living of the people
(d) Net increase in invisible and intangible goods
[CDS 2000]

57. Which one of the following situations makes a firm most
—efficient ? - P e
(a) Falling average cost (b) Raising average cost
(c) Constant average cost 4d) Lowest average cost
[CDS 20007
58. C. Rangachari Comlmttee is associated with which one
Df the following 2,
Pricing and taxation of Petroleum Products
(b) Estimation of National Income
(c¢) Tax Structure
(d) Estimation of Money Supply [CDS 2008}

59. Who got.the 1998 Nobel Prize.in Economics ?
(a) Solow (b) Marshall
ey Amartya Sen (d) Paul Samuelson
[45th BPSC 200'?]

60. The view that ’Plamm1g in India should, in future

glven by :
‘(a-) Amartya Sen
(c) Atal Behari Vajpayee

{b) Yashwant Sinha
(d) Man Mohan Singh
[UP PCS Special (Pre) 2004]
61. ].]. Irani Committee has been set up to suggest changes
in: : =
“(a) Indian Telegraph Act
e Companies Act

(b) Cable Act
(d) Patent Act
[UP PCS (Main) 2005]
62. 'Golden Hand Shake Scheme’ in India is related with :
,&-} Voluntarv Retirement ~(b) Indian Gold Dealers *
(c) Foreign Gold Dealers in India
(d) Promoting Trade in Gold [UP PCS (Main) 2007}
63. Given below are a few abbreviations and the areas with
which they are associated. Match them properly using
the given codes :

List-1 List-11
(Abbreviations) (Areas)
A. OCGL, FOB 1. Employment
B. SJRY, TRYSEM 2. External Trade
C. ‘WP, CPI 3. Banking
D. CRR, SLR 4. Index Numbers
Code: A B & D
far 2 1 4 3
(b) 2 4 3 1
(c) 4 3 2 1
(d) 3 2 1 4

[UP PCS (Main) 2007}
64, Who was the author of the book ‘India’s Economic
Po]lcy The G.;md}uan Blue Print’ ?
,(a) Chaudhary Charan Smgh (b) Jai Prakash Narayan
(c) Man Mohan Singh
(d) Acharya Vinoba Bhave [UP PCS (Main) 2008]
65. Under Gadgil-Mukertjee formula the higher wetthage is
glven to: "
“(a) Performance
A€y Population

(b) Per Capita Income
(d) Special Problems
[UP PCS (Main) 2008]
66. Which of the following is NOT a measure of reducing
inequalities ?
(a) Minimum Needs Programme
Ab) Liberalisation of economy

(c) Taxation (d) Land reforms
[UP PCS (Main) 2008; UP PCS (Pre) 2009]
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67. Which of the following is NOT a part of the ‘Second-
generation of Economic Reforms’ identified by the
(a) Oil-sector Reforms (b) Public-sector Reforms
(c) Reform of Government and Public Institutions
+d) Legal System Reforms [UP PCS (Main) 2009]
68, Motivations given to Mulfinational companies in India
means encouragement of. :
—(a) Privatization Policy *b) Globalization Policy
ey Liberalization Policy ~ {d) All of these
[MP P5C (Pre) 2004]

69. Who is called the pioneer of liberalization of Indian

“economy. ? -
~@) Dr. Man Mohan Singh (b) P.V. Narsimha Rao
(c) Dr. Bimal Jalan (d) P. Chidambaram
[MP PSC (Pre) 2004]
70._Public Distribution System (PDS) is aimed at :
—{a) Providing food security to the poor .
~(bY To prevent hoarding and black-marketing
e}y To prevent overcharging by traders
@Al of these [MP PSC (Pre) 2008]
71. Who among the following released ‘Citizens guide to
__fight corruption’ ? %
(a) Ministry of Family Welfare
(b) Consumer Co-operative Societies
(c) Central Vigilence Commission _
- Ad) Transparency International [MP PSC (Pre) 2008]
=72 Who is called the ‘Father of Modern Economics’ ?
T e A |
(c) Keynes (d) Robbins s
X [MP PSC (Pre) 2010]
73. Read the following statements carefully :
1. In1991policy of Economicliberalizationwasadopted
in India. '
2. Poreign currency market and Foreign Investment
sectors were promoted.
3. Import of foreign
prohibition.
Select the answer on the basis of following codes :
(a) 1 and 2 are correct (b) 1 and 3 are correct
{c) 2 and 3 are correct &b 1, 2 and 3 are correct
[CFPS5C (Pre) 2008]
/74, The book “The Argumentative Indian’ is written by :
(a) Mulk Raj Atand (b) Dan Brown
(¢) Bimal Jalan L&) Amartya Sen
[WB P5C (Pre) 2007}
75. Match List-1 with List-IT and select the correct answer
. using the codes given below the lists :
List-I List-TI
A. Boom 1. Business activity at high level with
increasing income, output and
employment at macro level
Gradual fall of income, output and
employment with business activity
in a low gear
C. Depression 3. Unprecedentated level of under
employment and unemployment,
drastic fall in income, output and
employment
Steady rise in the general level
of pricess, income, output and
employment

7

goods was. freed from

B. Recession 2.

D. Recovery 4.

Code: A B (i D
S 1 2 3 4
(b) 1 2 4 &
(c) 2 1 4 3
(d) 2 1 3 4 [UPSC 2000

76. Match List-I with List-II and select the correct answer
using the codes given below the lists :

List-T List-II
A. United Nations Develop- 1. Human Development
ment Programme (UNDP) Report

2. India Human
Development Report

B. National Council of
Applied Economic
Research

C. World Bank/IBRD 3. World Development

! Report

D. Indira Gandhi Institute 4. India Development
of Development Research ~ Report

Code: A B = D
dar 1 2 3 4
(b) 1 2 4 3
(c) 2 1 4 3
(d) 2 1 3 4 [UPSC 2000]

77. Consider the following financial institution of India :
" Industrial Finance Corporation of India (IFCI)~
~2 Industrial Credit and Investment Corporation of
India (ICICI)
“%" Industrial Development Bank of India (IDBI)
A7 National Bank for Agriculture and Rural
Development (NABARD) :
The correct chronological sequence of the establishment
of these institution is :
A4ar 1,2,3,4 (b) 2,3,4,1
() 3.4,1.2 (d) 4,1,2,3 [UPSC 2002]
78. A country is said to be a debt trap if :
(a) it has to borrow to make interest payments on
outstanding loans
A)7it has to borrow to make interest payments on to
standing loans
(c) it has been refused loans or aid by creditors abroad
(d) the World Bank charges a very high rate of interest
on outstanding as well as new loans  JUPSC 2002]
79. Which one of the following committegs recommended
“the ablition of reservation of items for the small scale
Ssector inindustiy 7
Lar Abid Hussain Committee
(b) Narsimhan Committee
(c) Nayak Committee
(d) Rakesh Mohan Commitiee
80. Consider the following statements :
A The first telegraph line in India was laid between
Kolkata (formerly Calcutta) and Dimond Harbour.
=27 The first Export Processing Zone in India was set up

[UFSC 2002]

in Kandla.
Which of the statement(s) given above is/are correct ?
(a) 1only (b) 2 only
e} Both1and 2 (d) Neither 1 nor 2

[UPSC 2009]
81. In the context of independent India’s economy, which

‘one of the following was the earliest event to take
ip]ace ? - savi i " . i
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(a) Nationalization of Insurance companies
(b) Nationalization of State Bank of India
_te¥ Enactment of Banking Regulation Act
(d) Introduction of First Five Year Plan [UPSC 2009]
82. A gr_(_zla*t_‘glﬂea] of Foreign Direct Invegt—me;.}_t (FDI) to India
_comes from Mauritius than from many major and mature
_.economies like UK and France. Why ?
(a) Indiahas preference for certain countries as regards
receiving FDI
by India has double taxation avoidance agreement with
Mauritius
(¢) Most citizens of Mauritius have ethnic identity with
India and so they feel secure to invest in India
(d) Impendingdangersofglobal climatic change prompt
Mauritius to make huge investments in India
JUPSC 2010
83. Consider the following countries :
1+ Brazil —2: Mexico «3. South Africa

JLsomding o LEICTAD, S of dhe above S5/are
_ categorized as ‘Emerging Economics’ ? -
“(a)y Tonly “(b) Tand 3 only

(¢) 2and 3 only D 1,2and 3 [UPSC 2010]

84. In the context of Indian economy, consider the following

pairs :
Term Most appropriate description
1. Melt down Fall in stock prices

2. Recession Fall in growth rate

3. Slow down Fall in GDP

Which of the pairs given above is/are correctly
matched ?
(a) 1only (b) 2and 3 only
(¢) 1and 3 only ¢ 1,2 and 3 [UPSC 2010]
85. In India, which of the following is regulated by the
Forward Markets Commission ?
(a) Currency Futures Trading
) Commodities Futures Trading
(c) Equity Futures Trading

(d) Both Commaodities Futures Trading and Financial
Futures Trading JUPSC 2010]

86, A ‘closed economy’ is an economy in which :
(@) the money supply is fully Controlled
(b) deficit financing takes place
(c) only exports take place

L] neither exports nor imports take place [UPSC 2011]

87. Karl Marx explained the process of class struggle with

_the help of which one of the following theories ?
(a) Empirical liberalism S
(b) Extentialism
(c) Darwin’s theory of evolution
¥ Dialectical materialism [UPSC 2011}

88. In terms of economy, the visit by foreign nationals
to witness the XIX Commonwealth Cames in India
amounted to :
e Export

(c) Production

(b) Import
(d) Consumption
[UPSC 2011]
89. [Fiscal Policy in India is formulated by—
(a) The Reserve Bank of India
(b) The Planning Commission
(e¥ The Finance Ministry
(d) The Securities and Exchange Board of India
[CD5 2012]
90. Which of the following occupations are included under
secondary sector as per the national income accounts ?
1. Manufacturing
2. Construction
3. Gas and water supply
4. Mining and quarrying
Select the correct answer using the codes given
below—
(a) 1,2,3and 4 (b) 1,2 and 4 only
A&y 1,2 and 3 only (d) 3 and 4 only [CDS 2013]
91. The Reserve Bank of India regulates the commercial
_banks in matters of : . )
—1. Liquidity of assets = —-2." Branch expansion
3. Merger of banks ~4-" Winding of banks
Select the correct answer using the codes given
below—
L7 1,2,3and 4
(c) 1,2 and 3 only

(b) 2, 3 and 4 only
(d) 1and 4 only
[UPSC 2013}
92. An increase in the Bank Rate generally indicates that
; (a) _ﬁ;rket rate of interest is likely to fail
(b) Central Bankisnolongermakingloanstocommercial
banks
(c) Central Bank is following an easy money policy
Ay Central Bank is following a tight money policy
JUPSC 2013]
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